L

EEDOTSVR CATALOG

IKMT

CORPORATION &

It is a KMT corporation that we send to you.

HZEKMT REIKMT
#at KMT HE LRSI E R RRAR

KERFFRARHMEREHRDS-2-24 PEHHIEEET L2 X R E R TR X
TEL 06-6746-3123 FAX 06-6746-8691 TEL 0086-575-82937510 FAX 0086-575-82937310
URL https://www.e-kmt.com URL https://www.e-kmt.com

AHEOVICRHNDEE. BE. T SOEMEGHE, B8 &HEEZCET,
Copy of the photoes and articles in this catalog is forbidden.

CATNO.1
KMT 23.01.2000

—




mEER:JSVRZEAR

Quality control and Brand are from Japan

RELCREEEOT. RS ENHIIERE DR ZSEIILET

We offer products with shorter delivery term, lower price, but higher quality
to our customers through our quality control system.

EBHOTIS VR

KM

CORPORATION @

EEADIRERRR oo 3—4
Action To Quality

/\“7!} >7“ ...................................... 5—-12
Bearings

ATFIVLDARNTYSE i 13—-18
Stainless Bearings

t5§‘77&7') ~/7“ ...................... 19—-22
Ceramic Bearings

’\7')771:7'\ ........................ 23—26
Bearing Units

AT VLA XRTY 2y 27-30
Stainless Bearing Units

ﬁiﬁg/\*‘yu*/ﬁ_—l_:‘yb ............... 31—-34
Light Bearing Units

BEBAT VA ATYJ1=yh -35—-38
Light Stainless Bearing Units

,f St — I“iﬂ& ..................................... 39
Insert Bearings

AFVLAATY 1=y MRBHIN— 40
Stainless Bearing Units Cover

4‘/1,-_ him& (Eiﬂ) ................. 41_42
Insert Bearings (Light)

:‘/l\°7 |~/\7I}“/7“1:‘y|~ .................. 43
Compact Bearing Units

thhbﬁé/\?') yq“ .......................... 44
Ball Bearings Set Screw Type

;jufu,l,zz\*’yu yg" ..................... 45—46
Oilless Bearings

;iﬁ‘j?ﬂ ...................................... 47_54

Technical Data




mE A DY) A& ACTION TO QUALITY

KMTTIE APUVT ARPUIG L=y MEED
WREKMTISYRELTIRFELTHEDET

We have our own KMT Brand bearings, bearing units for sell.

HEZRBN WRNICEEV BN ERE | ZHREITITHIEHIC,
HARBEEE=FKEICLDIRBEZTOTCHBDHET,

KMTDSVR&EBIE MBS EBE - BEGBEEEDICIISICERLTHD.
HARBEAZFOREZEKLTHEDET,

We inspect our products ourselves and also have an examination run by a third party that make sure our produce process
economically and effectively. So that we can control the quality of our products.

From Material, Dimensions, to Rotating accuracy, KMT products are all made according to the JIS standards.
Because we pursue the same guality as Japanese products.

JISEBHELZ G ITMEDEIR Realization of the Quality Under JIS Standard

&8 5 ERMHE I JISICEU I HAEREBE
THEERE JISHZH REER# JU—RZEHA

Optimal reliable JIS standerd JIS compliant Enclosed Japan-made
factory selection compliant material accuracy standard lubricating grease

KMTZ SV R&mldE MRS AREERE S BICJISICERMLTHD,
HARREAFOREZEKLTHEDHET,

From Material composition to Dimensions / Rotation accuracy, KMT products are all made according
to the JIS standards, We pursute the same excellent quality as Japan manifactured products.

:ﬁg%iﬂﬁkﬁu Quality Control System

F—SRE

| Data collation 1

HEKMT BAKMT
(®E) (RE)

B=EHREHE
(RE)

KMT CHINA KMT JAPAN

(inspections) (inspections)

Third-party Organizations
(inspections)

I F=IT4—RIN\vIREG I F—HT4—RI\vIREG
Data feedback matching Data feedback matching

REKMTERAKMT, ES5[CE=EREHB CIREREN ST ERGRERE. ARBEZHEL TITOTHDET,

KMT CHINA and JAPAN, as well as third-party organizations, thoroughly carry out
vibration inspections, dimensional rotation accuracy inspections, and visual inspections.

b 4
HARDOBEHKIEITTHELBADSBEZRICORIUME CTTRMH

We can provide the same high guality products for the customers in both Japan and overseas.

DS RE ] ZBEITITBDTcIC TO DELIVER RELIABLE QUALITY

FEKMTEBARKMT, E5ICE=EREHKETHREZITOTHD.
BEDOSERICH.BNDBEHRICEAUMBETTRHELET,

Our products are tested by KMT JAPAN, KMT CHINA, and a third party.
So that we can provide the same quality products for customers in Japan or overseas.

ST A | EESRE B EEELELTL.
KMT CHINA B B fE KMT JAPAN THE THIRD PARTY

mE =R - fm B E IR L REEEEH
HASZRE RS (UB)ICT. ZHRNIREZ XN
SRBRBERRE (AT EEED)

A EERAEEIFJIISZ9015- 1 [CEUIIREURE. HARRE(CHEUTIRIRE Z R

REN- SR (G2 ER B Z R FEKMTORET —57=Z8RE
Quality Control System Quality Control System Quality Control System
Sampling inspection is performed for dimensions and Conducted sampling inspection in accordance with We perform objective inspections appropriately,

rotation accuracy according to JIS Z9015-1 standard. company regulations. conducted by JBI(Japan Bearing Inspection), for all bearing
Also, 100% inspection for vibration and appearances. Collate inspection data of China KMT. model numbers.(some items cannot be supported.)

*i W*ﬁﬁ INTERNAL INSPECTION

IR 8 12 B GYNIVRE. 7Y FOVRE)

NPV DEERICECDRB 2R TSI ET . BERE. A
WEEEOEMEE. MR- REFEORELEYEADRBIEE,
HBENLREHMZTOTHEDERT . (RNFUIT D)

Vibration Examination
An examination to get vibration data when bearings are rotating.
We analysis the data to find the problems on [Roundness], [Roughness], [cages].then make a judgment about the quality.

JTERERE-ODEGEHFERE
JISICEDONIEHET. EBTEDREZTOCHBDERT &
fo NI EENORBZDEIT T D fiFtNREE
BFEFZAVTC. @BDON\SYFDRI7Z{ToCHDFT,
Dimension & Rotation Examination

We check the dimension according to the JIS Standard.
To deliver products following the tolerance, we have our own guality control system to control the unevenness among the products.

NewmE

RIEBDE ERDBESDRBIRHZERU. [FXITHEOT A
O BEDREZITOCHDET APV I Tl BELUANLE
HEZREICHELL REUNILOE—tZRKScth . BESE
REXEZEALTHDET,

Appearance Inspection
Product Appearance is also considered as an important subject. We inspect the products with [Scratch], [Rustiness],
[Dent] and so on. We use Automatic Appearance Inspection Equipment to make sure the Appearance Inspection standard can be controlled.

FLSMRE exTernAL INsPECTION
F=EBRERETCORE

BAMZRERS N7 UV I DOWNERE DEEEREZ KR
B#5o./0Y— - # B SO0 E-EE RS EZ KA
PENTPYVIBEOERER - #8007 OB 12T GRS S 72 R

Examination run by Third Party

JBI : Examination on Dimension & Rotation of the bearings

Nittetsu technology : Examination on Micro Observation, Heat Treatment, Hardness.

State Organization Of Chinese KMT Association : Examination on Micro Observation, Heat Treatment, Hardness.

MAEKMTIZRERTUIBEDEETT . %CBIA : Examination on Micro Observation, Heat Treatment, Hardness.

Xt (M 5% (FEEHF)
BEHBOSHEASNTVDA—H—EKMTEAEBRE CHmIER
[CHhMF . HEREI R DTARBE DB E LIRS EO LA EZTV
FF o ABREBICHBRL. PLEEDERIRERERGH TR Z
TWVET,

Comparing Test (requested only)

We do a comparing test between the bearing that customer's using and a KMT bearing. We will compare the data from the test on [Dimension], [Rotation
Examination], [Vibration] and so on. After the test, we disassemble the test object to check the abrasion and make a judgement on the bearing.




NT7VT

BEARINGS

e ? 17 / J \ﬁiﬁmn F=P5E(mm) B E s | ROERTEMm)SEE
iy > Main Dimensions (mm) Bearing Number Basic Load Rating Installation Dimenslon(mm) | loy, e imm Speed(min-1) P
Reference Level Grease Lubricant rpm W iﬁ )
eignt(g.
MINIATURE/SMALL BALL BEARINGS Y—IURF | EBMY—IVR | JEEmY— VR Reference
i Shields Contact Rubber Seal | Non-Contact Rubber Seal (max) | (max)
WiEEEL R 8 |25|0.10| MR85zz — — 310| 120| 74 | 58 | 0.10 | 53000 — 0.34
Standard Specification
B A S | SUJE@E%) 9| 3 |0.15| MR95zz — — 430| 168 8.2 6.0 | 0.15 50000 = 0.568
inner and Outer Aings (equivalent 10/ 4 |0.15| MR105zZ — — 430| 168 84 | 60 | 020 | 50000 — 1.29
] S |V SUJ2 (HH%)
E L, —7\gr Ball (equivalent) 111 4 |0.15| MR11522 — — 715| 276 9.8 6.3 | 0.15 48000 — 1.49
K}ﬁ T M REH SPCC/8US302 (A=) 5(11] 5 |015| €852z — — 715| 281| 99| 62| 015 | 45000 | — 1.96
age (equivalent)
. B 2l [V SPCC/SUS304 (18%) 13| 4 |0.20| 6952z 2RS 2RZ 1080 | 430 11.2 6.6 | 0.20 | 43000 | 40000 2.50
i N h——R Shields (equivalent)
» § Y - ) —RJJLT A 14 5 | 0.20| 6052z 2RS 2RZ 1330| BO5| 122 6.9 | 0.20 | 40000 | 38000 3.48
ao 4+-—-—f = SRR N A, Seals Nitrile Rabber
S T . 16/ 5 |0.30| 6252z 2RS 2RZ 1730 670 | 138 75 | 0.30 36000 | 32000 4.86
GE: =B UFOLRIUV—2R
— P Lubricant Lithium Greases 19/ 6 |0.30| 6352z 2RS 2RZ 2340| 885 165 85 | 0.30 32000 | 30000 8.34
H m a 1= %= 1 JIS Ot 10| 3 |0.15| MR1062Z — — 495| 218| 93 | 70 | 0.15 | 45000 — 0.68
Accuracy Class JIS O Class . : : : .
- g T F MC3 12| 4 |020| MR12622 — — 715| 292|109 | 72 | 020 | 43000 — 1.74
NN N RN N Clearance MC3 Clearance
i 28 = Z Z | 110C(sEmE) 13| 5 |0.20| 68622 2RS 2RZ 1080 | 440 | 11.7 7.4 | 020 | 40000 | 38000 2.69
Heat-Resistant Temperature o
2RS | 100TC(&E1E) 6|15 5 |0.30| 6962z 2RS 2RZ 1730 670 | 13.3 79 | 0.30 | 40000 | 38000 3.72
T(EE R
2RZ | 110C(==M@) 17| 6 |0.30| 6062z 2RS 2RZ 2260 | 835 14.8 8.2 | 0.30 38000 | 34000 6.08
m 19/ 6 |0.30| 62622 2RS 2RZ 2340| 885 165 85 | 0.30 32000 | 30000 7.94
FEE (mm) B E PO T E (mm) B E(E g{grﬁ@;;;%%nin_g . 22| 7 |0.30| 6362z 2RS 2RZ 3300| 1370 | 190 | 105 | 0.30 30000 | 28000 | 14.00
- M- - —RiEE rom 2(g
Main Dimensions (mm) Bearing Number Basic Load Rating e Allowable Maximum Speed (min-1) BE 113 010 MR117Z2 - - 455| 2011105 8.0 | 0.10 43000 B 0.72
Reference Level Grease Lubricant rpm =
— - - Weight(g) 13| 4 |0.15| MR13722 — — 540| 276|116 90 | 0.15 40000 — 2.02
I—IURHZ | EBEY—IVR | FEEmY—IUR Reference
Shields Contact Rubber Seal | Non-Contact Rubber Seal (max) | (max) S 14 5 | 0.15| 68722 2RS 2RZ 1170 510 | 12.7 85 | 0.15 40000 | 34000 297
6 25]0.10 | MR632z — — 208 74 54 3.7 0.10 | 71000 — 0.27 17/ 5 |0.30| 6972z 2RS 2RZ 1610 710| 148 | 102 | 0.30 36000 | 28000 512
71 3 |0.10| 6832z — — 310 | 110 6.4 4.0 0.10 | 83000 — 0.45 19/ 6 |0.30| 6072z 2RS 2RZ 2340| 885 165 9.1 0.30 36000 | 32000 7.51
8| 4 |0.15| 6932z — — 560 | 179 7.3 4.3 0.15 | 60000 — 0.83 22| 7 |0.30| 6272z 2RS 2RZ 3300| 1370 | 190 | 105 | 0.30 30000 | 28000 | 12.90
3
9| 4 |0.15 | MR93zz — — 570 | 187 7.9 4.3 0.15 | 56000 = 1.18 12/35]0.10| MR1282z — — 545 | 274 11.3 90 | 0.15 40000 — 0.97
9| 5 |0.15| 6032z — — 570 | 187 7.9 4.3 0.15 | 56000 — 1.45 14 4 1 0.20| MR1482z — — 820 | 385 128 92 | 0.20 38000 — 2.16
10/ 4 | 0.15| 62322 — — 630 | 218 8.0 4.3 0.15 | 50000 — 1.66 16| 5 |0.20| 6882z 2RS 2RZ 1610 710| 142 | 102 | 0.20 36000 | 28000 4.02
7125]10.10 | MR742z — — 255 | 107 6.3 48 0.10 | 60000 — 0.29 8|19 6 |0.30| 6982z 2RS 2RZ 2240| 910| 165 | 10.0 | 0.30 36000 | 28000 7.18
8| 3 |0.15 | MR84zz — — 395 | 139 7.4 5.0 0.10 | 56000 — 0.56 22| 7 |0.30| 608zz 2RS 2RZ 3300| 1370 | 190 | 105 | 0.30 34000 | 28000 | 12.20
9| 4 |0.15| 6842Zz — — 640 | 225 8.1 52 0.10 | 53000 — 1.01 24| 8 |0.30| 6282z 2RS 2RZ 3350 | 1430 | 205 | 12.0 | 0.30 28000 | 24000 | 17.40
10| 4 | 0.20 | MR1042z — — 710 | 270 8.8 5.9 0.20 | 50000 = 1.42 28| 9 |0.30| 6382z 2RS 2RZ 4550|1970 | 228 | 128 | 0.30 28000 | 22000 | 28.60
4
111 4 | 0.20 | 6942Zz — — 960 | 345 9.9 5.6 0.20 | 48000 — 1.75 17 5 | 0.20| 68922 2RS 2RZ 1330 665|152 | 11.5 | 0.20 36000 | 24000 443
12| 4 | 0.20 | 6042zz — — 960 | 345 9.9 5.6 0.20 | 48000 — 2.29 20| 6 |0.30| 699zz 2RS 2RZ 1720 840 | 172 | 120 | 0.30 34000 | 24000 8.33
9
13| 5 | 0.20 | 6242z — — 1300 | 485 | 11.3 6.0 0.20 | 40000 — 3.04 24| 7 | 0.30| 609zz 2RS 2RZ 3350 | 1430 | 205 | 120 | 0.30 32000 | 24000 | 14.70
16| 5 | 0.30 | 6342z — — 1730 | 670 | 13.8 75 0.30 | 36000 — 521 26| 8 | 0.30| 6292z 2RS 2RZ 4550|1970 | 228 | 128 | 0.30 28000 | 22000 | 19.30
Cr=EAEERETE Cor=BEArHTEEE Cr=EABEIEEE Cor=EAEERETE S — )V (2RS) DEMEEF B HELTDFT .
Cr=Basic dynamic rated load Cor=Basic static rated load Cr=Basic dynamic rated load Cor=Basic static rated load % Different companies have differences on the quantity of contact seal (2RS).
% _FEERIBLSNEREREETT . BRBICBELEDELEEL, ¥ FERRIEDNNDEIEAIRE T T . BSREBICBEVEHELEEL,

% We can also produce bearings not in the list. Please contact us. % We can also produce bearings not in the list. Please contact us.




NT7VT

BEARINGS

R=FaT7/MEEME (77011 E)

MINIATURE/SMALL BALL BEARINGS (WITH FLANGED OUTER RING)

s

&
)

EZEE(mm)

Main Dimensions(mm)

25|06 ]0.10

o

D1

U—IURRZ | R —)URZ | FERAS 7
Shields Contact Rubber Seal | Non-Contact Rubber Seal

@da

-
ol

MR

Standard Specification

A 5 &

Inner and Outer Rings

R — b
Ball

R ¥ &=
Cage
Y= R
Shields
¥ =
Seals
i B W

Lubricant

REER

Accuracy Class

¥ E X

Clearance

if i@ B

Z Z

Heat-Resistant Temperature SRS

2RZ

S BREBEE | RSFTAmn)S2E

Bearing Number

Basic Load
Rating

Installation Dimension(mm)
Reference Level

Cr Cor da R
(N) (N) | (max) | (max)
208 74 3.7

SuUJ2(18=)

(equivalent)

SUJ2(18=)

(equivalent)

SPCC/SUS302 (1#84)

(equivalent)

SPCC/SUS304 (18%)
(equivalent)

“RULOA

Nitrile Rabber

UFILRITI—R

Lithium Greases

JIS Ofk
JIS O Class

MC3
MC3 Clearance

110C(sE1B)
100C(3E1B)
110C(s&1E)

SrEEERE (min-1)

SU—28:8 rom | EE(8)

Allowable Maximum Speed (min-1)

Grease Lubricant rpm

EARTEAGHEE | RTEEEmm) 52 | FFE@ERE (min-1)

6| 72 MF63ZZ 0.10 | 71000 — 0.33
7| 81| 3 |08|0.10| F6832Z = = 310 | 110 | 40 0.10 | 683000 — 0.53
8| 95| 4 |09/|0.15| F6932Z — — 560 | 179 | 43 0.15 | 60000 — 0.97
° 9106| 4 |08|0.15| MF932z = = 570 | 187 | 43 0.15 | 56000 = 1.34
9/105| 5 |1.0/0.15| F603ZZ - - 570 | 187 | 4.3 0.15 | 56000 — 1.63
10115 4 |1.0|0.15| F623ZZ = = 630 | 218 | 4.3 0.15 | 50000 — 1.86
7| 822506 |0.10| MF742Z — - 255 | 107 | 48 0.10 | 60000 — 0.35
8| 92| 3 |06/|0.10| MF84ZZ = = 395 | 139 | 50 0.10 | 56000 — 0.63
9/103| 4 |1.0/0.10| F6842ZZ - — 640 | 225 | 52 0.10 | 53000 — 1.14
4110|116 4 |0.8|0.20| MF1042z = = 710 | 270 | 59 0.20 | 50000 = 1.59
111125 4 | 1.0|0.20| F694ZZ - - 960 | 345 | 56 0.20 | 48000 — 1.96
12/135| 4 | 1.0|0.20| F604Zz = = 960 | 345 | b6 0.20 | 48000 — 2.53
13/ 15.0| 5 | 1.0|0.20| F624ZZ — - 1300 | 485 | 6.0 0.20 | 40000 — 3.53

3 ]
Mair?E Ifn?eifz?(znm) Beari%:g N%mber 2555 LT Instalion Dimensin(rm) Allogwlanle_Ma;xfrrﬁlﬁee?()rnrlnnl) Ef%g)
Rating Reference Level ez ez Weijght(g)
V=V | &Y —IUR | FREmS—IVR Reference
Shields Contact Rubber Seal | Non-Contact Rubber Seal
8| 92|25|06/|0.10| MF85zZz - - 310 | 120 | 58 | 0.10 | 53000 — 0.41
9]102| 3 |06|0.15| MF95Zz = = 430 | 168 | 6.0 | 0.15 | 50000 — 0.66
10/116| 4 |08]0.15| MF1052z - - 430 | 168 | 6.0 | 0.20 | 50000 — 1.46
5(111126| 4 |08|0.15| MF1152Z = = 715 | 276 | 6.3 | 0.15 | 48000 — 1.67 o

117125 5 | 1.0]0.15| F6852z - - 715 | 281 | 6.2 | 0.15 | 45000 — 2.18
13/150| 4 | 1.0]0.20| F69522 2RS 2Rz 1080 | 430 | 6.6 | 0.20 | 43000 | 40000 | 2.84
141160 5 | 1.0]0.20| F605Zz 2RS 2Rz 1330 | 505 | 6.9 | 0.20 | 40000 | 38000 | 3.85
10/11.2| 3 |06]0.15| MF1062Z = = 495 | 218 | 7.0 | 0.15 | 45000 — 0.77
12/136| 4 |08]0.20| MF1262Z - - 715 | 292 | 72 | 0.20 | 43000 — 1.94
6(13/15.0) 5 | 1.1]0.15| F686ZZ 2RS 2Rz 1080 | 440 | 74 | 0.20 | 40000 | 38000 | 3.04
15170 5 | 1.2|0.30| F696ZZ 2RS 2Rz 1730 | 670 7.9 | 0.30 | 40000 | 38000 | 4.26
171190 6 | 1.2]0.30| F606ZZ 2RS 2Rz 2260 | 835 | 8.2 | 0.30 | 38000 | 34000 | 6.61
141160 5 | 1.1]0.15| F687ZzZ 2RS 2Rz 1170 | 510 85 | 0.15 | 40000 | 34000 | 3.37

7 117/19.0] 5 | 1.2|0.30| F6972Z 2RS 2Rz 1610 | 710102 | 0.30 | 36000 | 28000 | 5.65
19/220| 6 | 1.5]0.30| F607ZZ 2RS 2Rz 2340 | 885 | 9.1 0.30 | 36000 | 32000 | 8.66
12/136|35|08|0.15| MF1282z = = 545 | 274 | 9.0 | 0.15 | 40000 — 1.15
141156 4 |08]0.20| MF1482z — — 820 | 385 | 9.2 | 0.20 | 38000 — 2.39
816|180 5 |1.1|0.20| F6882Z 2RS 2Rz 1610 | 710|102 | 0.20 | 36000 | 28000 | 4.47
19/220| 6 | 1.5]0.30| F69822 2RS 2Rz 2240 | 910|10.0 | 0.30 | 36000 | 28000 | 8.30
22|25.0| 7 |1.5|0.30| F6082z 2RS 2Rz 3300 |1370 |10.5 | 0.30 | 34000 | 28000 | 13.50
171190 5 | 1.1]0.20| F689ZZ 2RS 2Rz 1330 | 665 |11.5 | 0.20 | 36000 | 24000 | 4.91

9 |20|23.0| 6 |1.5|0.30| F699Z2Z 2RS 2Rz 1720 | 840 |12.0 | 0.30 | 34000 | 24000 | 951
24|/270| 7 |1.5|0.30| F6092Z 2RS 2Rz 3350 |1430 |12.0 | 0.30 | 32000 | 24000 | 16.00

Cr=EAXETEREE Cor=BEAFHTEEE
Cr=Basic dynamic rated load Cor=Basic static rated load

¥ _FEERIBLSNOREREET T . BRBICBELEDELEEL,
#\We can also produce bearings not in the list. Please contact us.

Cr=EAFERETE Cor=EAfHTERETE

Cr=Basic dynamic rated load Cor=Basic static rated load

¥ _FEERIBLSNEOREREET T . BRBICBELEDELEEL,
#\We can also produce bearings not in the list. Please contact us.

MY —)URZ (2RS) DEMEEF B HELDFT .
% Different companies have differences on the quantity of contact seal (2RS).



NT7VT

BEARINGS

WEELRR
« Standard Specification
e s " SUJ2(824)
' ' Inner and Outer Rings (equivalent)
R = b SUJ2 (HH)
DEEP GROOVE BALL BEARINGS .a Ball (equivalent)
® ¥ & SPCC/SUS302(tH%)
s 8 ﬂf Cage (equivalent)
— A— — Y — LR SPCC (184)
w . I Shields (equivalent)
@EBﬁ @{E@ Y = ZRUJLTA
rs — R B Seals Nitrile Rabber
] E B M UFDOLFRIU—2R
alo R — | S s Lubricant Lithium Greases
E I I © BEER JIS O#k
1 Accuracy Class JIS O Class
— r g EF F CN(C3)
I Clearance CN Clearance
H m 1 @QE@ M#EE 2z Z|110CEZE)
\ J ﬂ_/ Heat-Resistant Temperature SRS 100C (BE(B)
J—JURF Bt — )R IesEms—)URY - LEpEfiE :
v e e ot 2RZ | 110T (&%)

EFE+E(mm)

B & LESER %

FrEEERER (min-1)

BEXERHEE

BYRS% T (mm) 2E(E

Installation Dimension(mm)

Main
Dimensions (mm)

Bearing Number Dimensions with the snap ring JVU—2RiE8 rom EE(g)

Basic Load Allowable Maximum Speed (min-1) =&

DRSO o TPy
(min) Shields Contact Rubber Seal | Non-Contact Rubber Seal | With snap ring | (EEfE) | (£EB) | (BE(E) o
15 4 0.15 670022 2RS 2Rz - — — —
19 5 03 680022 2RS 2RZ — _ — — 855 435 13.9 11.5 11.5 0.15 15000 9990 2
22 6 0.3 690022 2RS 2Rz ZZNR 1.05 24.8 0.70 1590 760 17.0 120 120 0.30 34000 24000 5
19 26 8 0.3 |6000ZZ(CN-C3) 2RS 2Rz ZZNR 1.35 28.1 0.84 2690 1270 200 125 120 0.30 32000 22000 9
30 9 0.6 |6200ZZ(CN-C3) 2RS 2Rz ZZNR 2.06 34.7 112 4750 1960 24.0 130 120 0.30 30000 22000 18
35 11 0.6 630022 2RS 2Rz ZZNR 2.06 39.7 1.12 5100 2390 26.0 160 14.0 0.60 24000 18000 32
18 4 02 670122 RS 2RZ — — _ _ 8200 3500 31.0 16.5 14.0 0.60 22000 17000 52
21 5 03 680122 2RS 2RZ — — — — 926 530 16.8 13.8 13.8 0.20 13000 8660 3
24 6 0.3 690122 2RS 2Rz ZZNR 1.05 26.8 0.70 1910 1040 19.0 140 140 0.30 32000 20000 6
12 728 8 0.3 |6001ZZ(CN-C3) 2RS 2Rz ZZNR 1.35 30.8 0.85 2890 1450 220 145 140 0.30 30000 20000 10
32 10 0.6 |6201ZZ(CN-C3) 2RS 2Rz ZZNR 2.06 36.7 112 5100 2390 26.0 155 140 0.30 28000 18000 23
37 12 1.0 630122 2RS 2Rz ZZNR 2.06 413 1.12 6800 3050 28.0 170 16.0 0.60 22000 17000 37
o1 4 02 670222 RS 2RZ — _ _ _ 9700 4200 32.0 18.0 17.0 1.00 20000 16000 60
24 5 03 680222 2RS 2RZ — — — — 937 582 19.7 16.8 16.8 0.20 11000 7330 4
28 7 0.3 690227 2RS 2Rz ZZNR 1.30 308 0.85 2060 1260 220 170 170 0.30 28000 17000 7
S 730 9 0.3 |6002ZZ(CN-C3) 2RS 2RZ ZZNR 2.06 36.7 1.12 4320 2260 26.0 170 170 0.30 26000 17000 15
35 11 0.6 |62022Z(CN-C3) 2RS 2RZ ZZNR 2.06 39.7 112 5600 2840 300 190 170 0.30 24000 15000 32
42 13 1.0 630222 2RS 2Rz ZZNR 2.06 46.3 112 7750 3600 31.0 20.5 190 0.60 20000 14000 45
o3 4 02 670322 RS 2RZ — _ _ _ 11400 5450 37.0 225 20.0 1.00 17000 13000 82
26 5 03 680322 2RS 2RZ — —_ — — 1000 658 21.6 18.8 18.8 0.20 9500 6330 4
30 7 0.3 690322 2RS 2Rz ZZNR 1.30 32.8 0.85 2130 1360 24.0 190 190 0.30 26000 15000 7
7 35 10 0.3 |6003ZZ(CN-C3) 2RS 2RZ ZZNR 2.06 39.7 1.12 4310 2310 28.0 19.5 19.0 0.30 24000 15000 17
40 12 0.6 |6203ZZ(CN-C3) 2RS 2Rz ZZNR 2.06 44.6 112 6800 3350 330 21.5 190 0.30 22000 13000 39
47 14 1.0 630322 2RS 2Rz ZZNR 2.46 52.7 1.12 9600 4600 36.0 235 210 0.60 17000 12000 65
o7 4 02 670422 RS 2RZ — — — — 13500 6550 420 255 22.0 1.00 15000 11000 115
32 7 0.3 680422 2RS 2RZ ZZNR 1.30 34.8 0.85 1038 725 253 22.3 22.3 0.20 8500 5660 6
37 9 0.3 690427 2RS 2RZ ZZNR 1.70 398 0.85 3470 2240 30.0 22.0 22.0 0.30 22000 13000 17
20 T4 12 0.6 600422 2RS 2RZ ZZNR 2.06 46.3 1.12 6390 3590 350 24.0 22.0 0.30 19000 12000 37
47 14 1.0 620422 2RS 2RZ ZZNR 2.46 52.7 1.12 9400 5050 38.0 25.5 24.0 0.60 18000 11000 70
52 15 1.1 630422 2RS 2RZ ZZNR 246 57.9 112 12800 6650 42.0 26.5 25.0 1.00 15000 11000 106
Cr=BABEHEE Co=EANTHHE ¢ LEAELIS WA T T BRBICBHLADE A, 15900 7900 4.5 280 265 1.00 14000 10000 144

Cr=Basic dynamic rated load Cor=Basic static rated load *\We can also produce bearings not in the list. Please contact us.
EREASLEDERTEIF. JIS B 1512(IC#EUTHDOEB Ao

% Snap ring groove dimensions and snap ring dimensions are not conformed to JISB 1512.

ALY — U (2RS) DEMEFFHELDET .
3 ¥ Different companies have differences on the quantity of contact seal (2RS).




NT7VT

BEARINGS

IREEAR

Standard Specification

L 2
FEEWSD YN
Inner and Outer Rings (equivalent)
R — SUJ2 (18%)
DEEP GROOVE BALL BEARINGS a Ball (equivalent)
. ﬂf R 5 8 SPCC(184)
Cage (equw’valent)
I's
— Al— —— R S SPCC (18)
w ] R Shields (equivalent)
@{Eﬁ @{E@ Y o= W —hULTL
rs — R T Seals Nitrile Rabber
i e = | UFILRIT—X
I « ] | éu s Lubricant Lithium Greases
e s — 1 s EEZ® JIS O#
1 Accuracy Class JIS O Class
— r g =F F CN
— Clearance CN Clearance
m @, 1 @QE@ WMMEE Z Z|110C(E2E)
) 7@ Heat-Resistant Temperature SRS 10 OOC ( %5% 1@)
y—zllél\ﬁ; ?%ﬁﬂé/l%)bﬁ; 3H§ﬁggz—)bﬁa tgjzlf’nﬂgi 2RZ | 110TC(EME)
FEiE(mm) A E LEsETE Tt
Main Boaring Narmb Dimensions with t : BAEIEHE BR{IRERHEA (mm) BE(E =T EE S (min- 1) BR )
Sl e earing Number imensions wi e snap ring Basic Load e s B ) Al 7J—Z_:F£3z§ rpm . i g
Rating Reference Level D Lo Ele el ) ]
S T S ” S > Grease Lubricant rpom
V=V B —IUR; | FEEAY—ILR L ERfGE Weight(g)
Shields Contact Rubber Seal | Non-Contact Rubber Seal | With snap ring cr(N) Cor(N) ZZ-5RZ Reference
37 7 0.3 680522 2RS 2RZ ZZNR 1.30 39.8 0.85 (max) (max) (min) (max)
25 5 03 690522 2RS 2RZ ZZNR 170 248 0.85 3666 2640 35.0 27.0 27.0 0.30 18000 10000 21
o5 | 47 | 12 0.6 600522 2RS 2RZ ZZNR 206 52.7 112 8650 4190 40.0 285 28.5 0.30 16000 10000 42
55 | 15 1.0 620522 2RS 2RZ ZZNR 546 579 110 11900 6550 430 30.0 30.0 0.60 15000 9500 79
62 | 17 11 630522 2RS 2RZ ZZNR 308 6577 170 14800 7850 470 32.0 32.0 1.00 13000 9000 128
75 = 0.3 680622 2RS 2RZ ZZNR 130 248 0.85 23400 11600 55.5 36.0 36.0 1.00 11000 8000 232
47 9 0.3 690622 2RS 2RZ ZZNR 1.70 49.8 0.85 4020 3120 40.0 32.0 32.0 0.30 15000 9000 24
30 | 55 | 13 10 600622 2RS 2Rz ZZNR 208 60.7 1.12 7200 5050 45.0 34.0 32.0 0.30 14000 8500 52
&2 | 18 0 620622 2RS 2RZ ZZNR 308 677 170 13800 8300 50.0 36.5 35.0 1.00 13000 8000 116
=5 19 T 630622 2RS 2RZ ZZNR 308 286 170 20300 11300 57.0 385 35.0 1.00 11000 7500 199
47 = 0.3 680722 2RS 2RZ ZZNR 130 298 0.85 29600 16000 65.5 425 36.5 1.00 9500 6700 345
55 | 10 06 690722 2RS 2RZ ZZNR 1.70 57.8 0.85 4310 3610 450 37.0 37.0 0.30 14000 /500 27
35 | 62 | 14 10 600722 2RS 2RZ ZZNR 208 67.7 1.70 10370 7180 51.0 39.0 39.0 0.60 12000 /500 75
=5 T 620722 2RS 2RZ ZZNR 308 286 170 16000 10300 57.0 415 40.0 1.00 11000 6700 151
55 - 0.3 680822 2RS 2RZ ZZNR 130 548 0.85 33500 19100 72.0 470 430 150 8500 6000 464
62 | 12 0.6 690822 2RS 2Rz ZZNR 1.70 64.8 0.85 4420 3895 50.0 420 420 0.30 12000 6700 31
40 | 68 | 15 10 600822 2RS 2RZ ZZNR 249 74.6 1.70 11270 8450 58.0 46.0 44.0 0.60 11000 6300 11z
80 | 18 1 620822 2RS 2RZ ZZNR 308 86.6 170 17800 11600 63.0 475 450 1.00 10000 6000 190
o0 |33 TE 630822 2RS 2RZ ZZNR 308 965 546 32500 19000 735 50.5 465 1.00 8500 5600 366
=5 - 0.3 680922 2RS 2RZ ZZNR 130 60.8 0.85 40500 24000 82.0 53.0 480 1,50 7500 5300 636
68 | 12 06 690927 2RS 2RZ ZZNR 1.70 70.8 0.85 4620 4330 56.0 475 470 0.30 11000 6000 38
45 | 75 | 186 10 600922 2RS 2Rz ZZNR 049 81.6 1.70 13500 10270 64.0 50.0 49.0 0.60 9500 5600 126
a5 | 19 = 620922 2RS 2RZ ZZNR 308 916 170 21000 15200 70.0 53.5 50.0 1.00 9000 5300 241
100 | 25 15 630922 2RS 2RZ ZZNR 3.28 106.5 046 32500 20400 785 555 515 1.00 /500 5300 420
5 > o6 681022 2RS 2RZ ZZNR 130 678 0.85 53000 32000 92.0 615 53.0 150 6700 4800 829
72 | 12 0.6 691022 2RS 2RZ ZZNR 1.70 74.8 0.85 5500 5270 63.0 525 52.0 0.60 9500 5300 50
50 | 80 | 16 10 601022 2RS 2RZ ZZNR 049 86.6 1.70 13890 10990 68.0 55.0 54.0 0.60 9000 5300 135
a0 | 20 11 621022 2RS 2RZ ZZNR 308 965 546 21800 16600 75.0 58.5 55.0 1.00 8500 4800 261
110 | 27 2.0 631022 2RS 2RZ ZZNR 3.28 1166 | 246 35100 23300 835 60.0 56.5 1.00 7100 4800 458
Cr=BABEHEE Co=EANTHHE ¢ LEAELIS WA T T BRBICBHLADE A, 62000 88500 101.0 68.0 9.0 2.00 6000 4300 1060

Cr=Basic dynamic rated load Cor=Basic static rated load

*\We can also produce bearings not in the list. Please contact us.
EREASLEDERTEIF. JIS B 1512(IC#EUTHDOEB Ao

% Snap ring groove dimensions and snap ring dimensions are not conformed to JISB 1512.

AR —)UIZ (2RS) DEMEIFEHRIEDET .

% ¥ Different companies have differences on the quantity of contact seal (2RS).




ATFVIVANTIY

STAINLESS BEARINGS

R=FaT7 IMEREHE

MINIATURE/SMALL BALL BEARINGS

EE & (mm) EXTREE | IEETEmmSEE | FEEER(min)

WL
Standard Specification
A SUS440C (1H%)
rs Inner and Outer Rings (equivalent)
1 SN [ \R R = b SUS440C (#8%)
I S— — Ball (equivalent)
R 5 & SUS304 (1H)
Is R Cage (equivalent)
I T Y=LK SUS304 (1)
© © Shields (equivalent)
[m] © 3 - - I
o 4+ - v W st NB) s VN
© s s Seals Nitrile Rabber
] i B M UFOLRIU—X
( \ \ Lubricant Lithium greases
m m — % JIS Off
1 Accuracy Class JIS O Class
g T X MC3
e — Clearance MC3 Clearance
it #48 B Z Z | 120TC(s&1E)
Heat-Resistant Temperature 2RS 100C (8E(B)
<t | BXEiErE | GEfRTE(mm)SEE | SFEEES (min-1)
Mi§gf(mm) = & Basic Load Installation,Dimension(mm) FU—AM# rom EE(g)
ain Dimensions ; i in-
(mm) i Ll Rating Reference Level Allow%lﬂ:a“!:f&ﬂ?ggﬁffgém'n N s
Weight(g)
=i — VR Reference
Contact Seals
6 |25 0.10 | SSMR6322 — 208 74 54| 37| — |0.10| 61000 — 0.27
7 3 | 0.10 | SS68322 = 390 130 64| 40| — |0.10| 53000 = 0.45
3 8 4 | 0.15 | SS6932z 2RS 560 179 73] 43| — |0.15| 54000 | 36000 0.83
9 4 | 0.15 | SSMR93zz 2RS 570 187 79 43| — |0.15| 46000 | 30000 1.18
9 5 | 0.15 | SS6032z 2RS 570 187 791 43| — |0.15| 51000 | 34000 1.45
10| 4 | 0.15 | SS6232z 2RS 630 218 80| 43| — |0.15| 45000 | 30000 1.66
7 |25 0.10 | SSMR7422 — 310 115 6.3 48| — |0.10| 50000 — 0.29
8 3 | 0.15 | SSMR84z2z 2RS 395 139 741 50| — |0.10| 46000 | 30000 0.56
9 4 | 0.15 | SS684z2z 2RS 480 170 81 52| — |0.10| 43000 | 28000 1.01
’ 10| 4 | 0.20 | SSMR104zz 2RS 710 270 88| b9 | — 020 42000 | 28000 1.42
111 4 | 0.20 | SS69427 2RS 960 350 99| 66| — |0.20] 43000 | 28000 1.75
12| 4 | 0.20 | SS6042z 2RS 960 345 99| 66| — |0.20| 48000 | 32000 2.29
13| 5 | 0.20 | SS6242z 2RS 1300 485 |11.3| 60| — |0.20] 40000 | 26000 3.04
16| 5 | 0.30 | SS6342z 2RS 1730 670 138 75| — |0.30| 36000 | 24000 521

y =) -
e Dinerans soa e Segofond | ot Inerson ) | )| "
Weight(g)
s — )Rz Reference
Contact Seals
8 |25| 0.10 | SSMR852z — 310 120 741 58| — |0.10| 43000 — 0.34
9 3 | 0.15 | SSMR9522 2RS 430 168 82| 6.0, — |0.15] 40000 | 26000 0.58
10| 4 | 0.15 | SSMR10522 2RS 430 168 84| 6.0, — |0.20| 42000 28000 1.29
111 4 |0.15 | SSMR1152Z 2RS 715 276 9.8 63| — |0.15] 40000 26000 1.49
5 | 11| 5 ]0.15 | ss6852z 2RS 770 320 99| 62| — |0.15] 43000 40000 1.96
13| 4 | 0.20 | SS69522 2RS 1070 420 (11.2| 66| — |0.20| 43000 40000 2.50
14| 5 | 0.20 | SS6052Z 2RS 1330 505 |122| 69| — |0.20| 40000 38000 3.48
16| 5 | 0.30 | SS62522 2RS 1730 670 |138| 75| — |0.30| 36000 | 32000 4.86
19| 6 | 0.30 | SS6352Z 2RS 2810 | 1060 |165| 85| — |0.30| 32000 | 30000 8.34
10| 3 | 0.15 | SSMR106Z2Z 2RS 495 218 9.3, 70, — |0.15] 37000 24000 0.68
12| 4 | 0.20 | SSMR1262z 2RS 715 292 109 72| — |0.20| 35000 23000 1.74
13| 5 | 0.20 | SS6862Z 2RS 1080 440 (11.7| 74| — |0.20| 40000 38000 2.69
6 | 15| 5 | 0.30 | SS6962Z 2RS 1730 570 |13.3| 79| — |0.30| 40000 38000 3.72
17| 6 | 0.30 | SS6062Z 2RS 2260 835 |14.8| 82| — |0.30| 38000 | 34000 6.08 1
19| 6 | 0.30 | SS6262Z 2RS 2340 885 |165| 85| — |0.30| 32000 | 30000 7.94
22| 7 | 0.30 | $S6362z 2RS 3290 | 1360 |19.0|/105| — |0.30| 30000 28000 | 14.00
111 3| 0.15 | SSMR11722 2RS 455 201 |105| 80| — |0.10] 35000 23000 0.72
13| 4 | 0.20 | SSMR13722 2RS 540 276 |11.6| 9.0, — |0.15| 32000 21000 2.02
14| 5 | 0.15 | SS6872Z 2RS 1170 510 |127| 85| — |0.15| 35000 23000 2.97
/ 17| 5 | 030 | SS69722 2RS 1610 710 148|102 — |0.30| 36000 28000 512
19| 6 | 0.30 | SS6072Z 2RS 2800 | 1060 |165| 9.1 — |0.30| 36000 | 32000 7.51
22| 7 | 0.30 | ss6272z 2RS 3290 | 1360 |19.0|/105| — |0.30| 30000 28000 | 12.90
12 135| 0.15 | SSMR12822 2RS 545 274 |11.3| 9.0, — |0.15] 30000 20000 0.97
14| 4 | 0.20 | SSMR1482z 2RS 820 385 |128| 92| — |0.20| 30000 20000 2.16
16| 5 | 0.20 | SS6882z 2RS 1610 710 | 142|102 — |0.20| 36000 28000 4.02
8 | 19| 6 | 0.30 | SS69822 2RS 2240 910 |165|10.0, — |0.30| 36000 | 28000 7.18
22| 7 | 0.30 | ss608zz 2RS 3300 | 1370 |19.0|105| — |0.30| 34000 | 28000 | 12.20
24| 8 | 0.30 | $s6282z 2RS 3330 | 1410 (205|120 — |0.30| 28000 24000 | 17.40
28 | 9 | 0.30 | Ss638zz 2RS 4550 | 1970 |228|12.8] — [0.30| 28000 22000 | 28.60
17| 5 | 0.20 | SS6892Z 2RS 1330 660 | 152115 — |0.20| 36000 24000 443
20| 6 | 0.30 | SS6992z 2RS 1720 840 |172(120| — |0.30| 34000 24000 8.33
? 24 | 7 | 0.30 | $S6092z 2RS 3330 | 1410 (205|120 — |0.30| 32000 24000 | 14.70
26| 8 | 0.30 | $S6292z 2RS 4160 | 1780 |228|12.8| — |0.30| 28000 | 22000 | 19.30

Cr=EAETEREE Cor=BAETEEE
Cr=Basic dynamic rated load Cor=Basic static rated load
¥ _EERRIBDSNDEIEAIRE T T . BSRBICBELEDELEEL,

#\We can also produce bearings not in the list. Please contact us.

SRS — U (2RS) DEMEEFEHELEDET

% Different companies have differences on the quantity of contact seal (2RS).

Cr=EAFEREE Cor=EAfHTRETE

Cr=Basic dynamic rated load Cor=Basic static rated load

¥ FEERIBLNEREREETT . BRBICBHLEDELEEL,
#We can also produce bearings not in the list. Please contact us.

S — )V (2RS) DEMEEF B HELTDFT .
% Different companies have differences on the quantity of contact seal (2RS).



ATFVIVANTI Y

STAINLESS BEARINGS

R=Fa7/MEEME (77011 &)

MINIATURE/SMALL BALL BEARINGS (WITH FLANGED OUTER RING)

WIS
5 Standard Specification
A SUS440C (18)
Inner and Outer Rings (equivalent)
— K — SUS440C (#824)
N Y S Bal (equivalent)
r ¥ 28 SUS304 (18%)
rs Cage (equivalent) sresEERE (min-1)
T R Y — LK SUS304(18%) ET A (mm) B & BACHEE | mrmwdammsse | TEEGNND o o
Shields (equivalent) . " n i Basic Load . f f . J_;.('Féj'% _rpm "
- _ N Main Dimensions (mm) Bearing Number . Installation Dimension(mm) Aiipwabiw Maximum BE
- s ¥y - bt NB) [V N Rating Speed(min-1) .
oo a) - —- 5 Seals Nitrile Rabber TETE DR Weight(g)
e osm 3 | il ) — = 7 =iz RG]
'Ebricﬁt H dtﬁ?nlgriszj A Shields Contact Rubber Seal
g@g gg@g — % B = ) JIS O 8| 92|/25/06|0.10| SSMF8522 — 310| 120| 74 | 58| — | 01043000 — 0.41
Accuracy Class JIS O Class
| ] ERGAE MC3 9102 3 |06|0.15|SSMF952Z|  2RS 430 | 168| 82 | 80| — | 0.15 ]| 40000| 26000| 0.66
1 | Clearance MC3 Clearance
‘ ME#EE Z Z|120C(EEE) 10/116| 4 |08|0.15|SSMF1052Z|  2RS 430 | 168| 84 | 80| — | 020 42000/ 28000| 1.46
Heat-Resistant Temperature o
Ok 2RS | 100T(==ME) 5/11/126| 4 |0.8|0.15|SSMF1152Z|  2RS 715| 276| 98| 63| — | 0154000026000 | 1.67 |
[ RoHS 10 ] 11125| 5 |1.0/0.15|SSF6852z | 2RS 770 | 320| 99 | 62| — | 015 | 43000 40000 | 218
13/150| 4 |1.0|0.20|sSF6952Z | 2RS 1070 | 420| 112 | 66| — | 0.20| 43000/ 40000 | 2.84
- U ——— 14/160| 5 |1.0|0.20|SSF6052Z |  2RS 1330 | 505| 122 | 69| — | 0.20 | 40000 | 38000 | 3.85
B3 (mm) B OE EAEEEE | mmwesammesE | FEEER @)
H &/
Maln Dimenaiona (mm) Bearing Number Bas;c;ihgad Installation Dimension(mm) | Atgeat. o 100112 3 |06|0.15|SSMF1062Z|  2RS 495 | 218| 93| 70| — | 0.15| 37000/ 24000| 0.77
— - Speed(min 1) 12/136| 4 |08|020|SSMF1262z|  2RS 716 | 292| 109 | 72| — | 020 | 3500023000 | 194
c Y—IURR; | B —)URZ | Cr Cor D da da
(min)| Shields | ContactRuberSeal | (N) | (N) | (max) | (max) | (min) | (min) 6/13/15.0| 5 |1.1|0.20 SSF686ZZ| 2RS 1080 | 440| 11.7 | 74| — | 0.20 | 40000 | 38000 | 3.04
6| 72/25|06|0.10 SSMF63ZZ — 208 | 74| 54| 37 | — |010|61000 — 0.33 15/170| 5 |1.2|030|sSF6962Z| 2RS 1730 | 570| 133 | 79| — | 0.30 | 40000 | 38000 | 4.26
7| 81| 3 |0.8|0.10| SSF6832Z — 390 | 180 | 64 | 40 | — | 010 |53000| — 053 17/190| 6 |1.2|0.30|SSF6062Z| 2RS 2260 | 835| 148 | 82| — | 0.30 | 38000 34000 | 661
8| 95| 4 |09|0.15|SSF6932Z| 2RS 560 | 179 | 73 | 43 | — | 015 | 54000| 36000 | 0.97 14/160| 5 |1.1]|0.15|sSF6872Z| 2RS 1170 | 510| 127 | 85| — | 0.15| 35000 | 23000 | 3.37
3
9/106| 4 |08|0.15/SSMF932Z| 2RS 570 | 187 | 79 | 43 | — | 015 | 46000 30000 | 1.34 7 117/19.0| 5 |1.2|0.30| SSF6972Z| 2RS 1610 | 710| 148 | 102 | — | 0.30 | 36000 | 28000 | 565
9105 5 |1.0/0.15|SSF6032Z| 2RS 570 | 187 | 79 | 43 | — | 015 | 51000 34000 | 1.63 19/220| 6 |15|0.30|SSF6072Z| 2RS 2800 |1060| 165 | 9.1 | — | 0.30 | 36000 | 32000 | 8.66
10/115| 4 |1.0|0.15|SSF6232Z| 2RS 630 | 218| 80 | 43 | — | 0.15 | 45000 | 30000 | 1.86 12/136/35|08|0.15| SSMF12822Z| 2RS 545 | 274| 113 | 90| — | 0.15| 30000 | 20000 | 1.15
7| 82|/ 25|06|0.10| SSMF74ZZ — 310 | 115| 63| 48 | — | 010 |50000 — 0.35 14/156| 4 |08|0.20|SSMF1482z| 2RS 820 | 385| 128 | 92 | — | 0.20 | 30000 | 20000 | 2.39
8| 92| 3 |06|0.15/SSMF84zzZ| 2RS 395 | 189 | 74 | 50 | — | 0.10 | 46000 | 30000 | 0.63 8/16/180| 5 |1.1|0.20| SSF688zz| 2Rs 1610 | 710| 142 | 102 | — | 0.20 | 36000 | 28000 | 4.47
90103 4 |1.0/0.15|SSF6842Z| 2RS 480 | 170| 81 | 52 | — | 0.10 | 43000 | 28000 | 1.14 19/220| 6 |15|0.30|SSF6982Z | 2RS 2240 | 910| 165 | 100 | — | 0.30 | 36000 | 28000 | 8.30
4110/11.6| 4 |0.8|020|SSMF1042Z| 2RS 710 | 270 | 88 | 59 | — | 020 | 42000 | 28000 | 1.59 22/250| 7 |1.5|0.30|SSF6082Z  2RS 3300 |1370| 19.0 | 105 | — | 0.30 | 34000 | 28000 | 13.50
111125| 4 |1.0|0.20|sSF6942Z|  2RS 960 | 350 | 99 | 56 | — | 0.20 | 43000 | 28000 | 1.96 17/190| 5 |1.1|0.20|sSF6892Z | 2RS 1330 | 660| 152 | 115 | — | 0.20 | 36000 | 24000 | 4.91
12/1135| 4 |1.0|0.20|SSF6042Z| 2RS 960 | 345 | 99 | 56 | — | 0.20 | 48000 | 32000 | 2.53 9 20/230| 6 |1.5|0.30|SSF6992z | 2RS 1720 | 840| 172 | 120 | — | 0.30 | 34000 | 24000 | 951
13/150| 5 |1.0|0.20|SSF6242Z |  2RS 1300 | 485 | 11.3 | 80 | — | 0.20 | 40000 | 26000 | 3.53 24/270| 7 |15|0.30|SSF6092Z  2RS 3330 |1410| 205 | 120 | — | 0.30 | 32000 | 24000 | 16.00

Cr=EAFEREE Cor=EfHTERETE

Cr=Basic dynamic rated load Cor=Basic static rated load

¥ FEERIBLSNEOREREET T . BRBICBEVLEDELEEL,
#\We can also produce bearings not in the list. Please contact us.

xS —)URZ (2RS) DEMEEF B HELEDFT .
% Different companies have differences on the quantity of contact seal (2RS).

Cr=EAXETEREE Cor=BAFHTREE

Cr=Basic dynamic rated load Cor=Basic static rated load

¥ _FEERIBLSNORIEREET T . BRBICBELEDELEEL,
#\We can also produce bearings not in the list. Please contact us.

x> —)URZ (2RS) DEMEFBHELDET .
% Different companies have differences on the quantity of contact seal (2RS).




ATFVIVAANTYY

STAINLESS BEARINGS

s B \ -

DEEP GROOVE BALL BEARINGS . A ~
WIRELR
B B Standard Specification
I— 5 sreSHET in-
m oo SUS440C (184) EEHE(Mm) B = e | EE )
Inner and Outer Rings (equivalent) Main Dimensions - Basic Load Installation Dimension(mm) i i
rs/ ~ fe w ik = b SUS440C(#E=) (mm) Sl Bl Rating Reference Level A"°W?§r'§a“s"§{'3“b”r?3§ﬁf$;’r§m'”‘) &£
B Ball (equivalent) Weight(g)
m ® ¥ & SUS304 (152) ¥—IVRF s — Uiz ; Reference
Cage (equivalent) Shields Contact Seals
L N ;Jme'—ds)l/ R SUSSOigﬁiEV;:L&U 32| 7 | 0.3 | SS680422 2RS 2784 | 1792 130.0/22.0|22.0/0.30| 22000 | 13000 17
© © | ZhUILD L 37| 9 | 0.3 | SS6904z2z 2RS 5080 | 2960 |35.0/24.0|22.0/0.30| 19000 | 12000 37
O P
I I [ 9% T —— s -8 Seals Nitrlle Rabber 20|42 12| 0.6 | $S60042Z 2RS 7520| 4000 |38.0/25.5|24.0/0.60 18000 | 11000 70
H B UFOLRIU—2R
1 1 Lubricant Lithium greases 471141 1.0 $S620422 2RS 10240 | 5280 [42.0/26.5|25.0/1.00| 16000 11000 106
4 % E %l JIS Off 52 15| 1.1 | $863042Z 2RS 12720 6320 |45.5|28.0|26.5/1.00| 14000 | 10000 144
Accuracy Class JIS O Class
m ¥ = F CN 37| 7 | 0.3 | $SS68052z 2RS 2944 | 2104 135.0/27.0/27.0/0.30| 18000 | 10000 21
B Clearance CN Clearance
N ) A 7 7 | 1000 =2E) 42| 9 | 0.3 | SS69052z 2RS 5600 | 3600 [40.0/285|27.0/0.30| 168000 | 10000 42
2—)URFE B —)U Heat-Resistant Temperature oRs | 100C (B=E) 25147 12| 0.6 | SS6005Z22 2RS 8080 | 4680 [43.0/30.0/29.0/0.60| 15000 9500 79
2z 2Rs - 52 15| 1.0 | $5620522Z 2RS 11200| 6320|47.0/32.0/30.0/1.00| 13000 | 9000 | 128
g2 | 17| 1.1 S$S630522 2RS 18880 | 9680 |55.5(36.0/31.5|1.00| 12000 8100 232
FU— BRI (mm) B2 (E S EEES (min-1) 42| 7 | 0.3 | SS68062z 2RS 4000| 3150|40.0/32.0|32.0] 0.3 | 15000 9000 26
N ' 1a]. R ARYVE(MM) = FTEY g
EBEWIA(mm) B OE : m T SU—ZER oM | ER(g) 47| 9 | 03 | ss690622 2RS 7240 5010|45.0/34.0|320] 0.3 | 14000 | 8500 49
Main Dimensions Bl I TRER Basic _Load Installation Dimension(mm) Allowable MaximumSpeed (min-1) e
(mm) Rating Reference Level Graasa LlUbricant rom 2 30|55| 13| 1.0 | SS6006Z2Z 2RS 11900 | 7460 |50.0|36.5|35.0| 1.0 | 13000 8000 90
Weight(g)
J—JLRFE S — LR : Referance B2 | 16| 1.0 | SS62062Z 2RS 19460 11310|57.0/385|35.0| 1.0 | 11000 7500 205
Shields Contact Seals 72119 1.1 S$S6306Z22 2RS 27000 | 15200 |65.5|425|36.5| 1.0 9500 6700 340
19| 5 | 0.3 | SS6800z2z 2RS 1456 736 |17.0]12.0|/12.0/0.30] 37000 | 24000 5 47| 7 | 0.3 | $S6807Z2z 2RS 4270| 3600 |45.0/37.0|37.0] 0.3 | 14000 7500 30
22| 6 | 0.3 | $S69002z 2RS 1992 904 |20.0|12.5]|12.0/0.30| 33000 | 22000 9 55| 10| 0.6 | SS690722 2RS 10390 | 7180|51.0/39.0/39.0| 0.6 | 12000 7500 86
1026 | 8 | 0.3 | $S6000z2z 2RS 3640 | 1576 |24.0/13.0|12.0|0.30| 30000 | 22000 18 3562|114 1.0 | $S6007Z2z 2RS 16210| 10420 |57.0|41.5/40.0| 1.0 | 11000 6700 100
30| 9 | 0.6 | $SS62002z 2RS 4080 | 1912 |[26.0/16.0|14.0|/0.60| 25000 18000 32 72117 1.1 $S62072z 2RS 25670 | 15300 655445415 1.0 9500 6300 284
35111 | 0.6 | $S6300Z2z 2RS 6480 | 2760 |31.0|16.5]14.0|0.60| 23000 17000 52 80 21| 1.5 | $S63072Z 2RS 33500 | 19200 |72.0/47.0(43.0| 1.5 8500 6000 464
211 5| 0.3 | SS68012z 2RS 1528 832 | 19.0/14.0|14.0/ 0.30| 32000 | 20000 6 52| 7 | 0.3 | SS68082z2z 2RS 4410| 3890 |50.0/42.0|42.0] 0.3 | 12000 6700 30
24| 6 | 0.3 | SS69012z 2RS 2160 | 1056 [22.0|14.5]14.0|0.30| 30000 | 20000 10 62| 12| 0.6 | SS690822 2RS 13020 | 9200 |58.0|46.0/44.0| 0.6 | 11000 6300 112
12128 8 | 0.3 | SS60012z 2RS 4080 | 1912 [26.0/15.5|14.0/0.30| 30000 | 20000 23 40|68 | 15| 1.0 | SS600822 2RS 1703011700 |63.0|47545.0| 1.0 | 10000 6000 190
32| 10| 0.6 | SS62012z 2RS 5440 | 2440 |28.0|17.0]16.0|0.60| 22000 17000 37 80|18 1.1 $562082z 2RS 29520| 18140 |73.5/50.5|46.5| 1.0 8500 5600 366
37112 1.0 | SS63012z 2RS 7840 | 3400 [32.0/18.0/17.0| 1.00| 20000 16000 60 90|23 | 1.5 | SS63082z 2RS 40500 | 24000 |82.0|53.0(48.0| 15 7500 5300 636
24| 5 | 0.3 | SS68022z 2RS 1656 | 1000 |22.0117.0/17.0/ 0.30| 28000 17000 7 58| 7 | 0.3 | SS6809z2z 2RS 4590 | 4330 |56.0/47.5|47.0] 0.3 | 11000 6000 40
28| 7 | 0.3 | $S6902z2z 2RS 3440 | 1800 [26.0|17.0]17.0|0.30| 26000 17000 15 68| 12| 0.6 | SS690922 2RS 13490 | 10130 |64.0|50.0/49.0| 0.6 9500 5600 126
15132 9 | 0.3 | $S6002z2z 2RS 4480 | 2272 |30.0/19.0|17.0/0.30| 24000 16000 32 45175 116| 1.0 | SS600922 2RS 21080 | 14780 | 70.0/53.5|50.0| 1.0 9000 5600 240
35|11 | 0.6 | $S62022z 2RS 6120 | 2960 [31.0|20.5]19.0| 0.60| 24000 15000 45 85119 1.1 $S6209z2z 2RS 31500 | 20400 |788|555|51.5| 1.0 7500 5300 420
42 | 13| 1.0 | $S63022z 2RS 9120 | 4320 |37.0|22.5]20.0| 1.00| 17000 13000 82 100|125 | 1.5 | $S63092z 2RS 53000 | 32000 |92.0|61.5(43.0| 1.5 6700 4800 829
26| 5 | 0.3 | SS68032z 2RS 1704 | 1088 |24.0/19.0/19.0/0.30| 26000 15000 7 65| 7 | 0.6 | SS68102Z 2RS 6610| 6080 |63.0/525|52.0| 0.6 9500 5300 57
30| 7 | 0.3 | $SS69032z 2RS 3680 | 2040 [28.0/19.5]/19.0/0.30| 24000 15000 17 721 12| 0.6 | SS691022 2RS 13900 | 10990 |68.0|55.0(54.0| 0.6 9000 5300 135
17135]10| 0.3 | SS6003zz 2RS 4800 | 2600 [33.0/21.5|19.0/0.30| 22000 14000 39 50/80| 16| 1.0 | $S6010Z2z 2RS 22000 | 16260 | 75.0/58.5|55.0| 1.0 8500 5000 260
40| 12| 0.6 | $S62032z 2RS 7640 | 3840 |36.0/23.5/21.0/0.60| 22000 14000 65 90 |20 | 1.1 $S62102z 2RS 35000 | 23200 |83.5|60.0|56.5| 1.0 7100 4800 459
47 114 1.0 | $S63032z 2RS 10880 | 5240 |42.0/255|22.0/1.00| 18000 11000 115 11027 | 20 | S$SS63102Z 2RS 62000 | 38500 |1010|68.0|59.0| 2.0 6000 4300 1060
Cr=BAEFERHEE Cor=EAHERTE g —)URZ (2RS) DEMEBFZHRELEDE T, Cr=EAEEKREE Cor=EARHERTE gAY — U (2RS) DEMEFSHEEDET,
Cr=Basic dynamic rated load Cor=Basic static rated load % Different companies have differences on the quantity of contact seal (2RS). Cr=Basic dynamic rated load Cor=Basic static rated load % Different companies have differences on the quantity of contact seal (2RS).
% _FEERIBLSNEREREETT . BRBICBELEDELEEL, x FERRIELSNNDEISAIREC T . BR[BICBBLIEDELEE L,

% We can also produce bearings not in the list. Please contact us. ¥ We can also produce bearings not in the list. Please contact us.




EIIVINTII

CERAMIC BEARINGS

t7IvI/E=
CERAMIC BEARINGS

WiREEL R
B Standard Specification
. . Una=7(CE) (L7 (% (CES) INAZFABIARCEM) 1A FUK(HYE)
A 5 Zr02 A 5 &® SisNa A 5 B Zr02 A 5 &® SUS440C (f8%)
1 \) Inner and Outer Rings Inner and Outer Rings Inner and Outer Rings Inner and Outer Rings (equivalent)
\ﬁl R = Zr02 " = SisNa K — b SisNa K — b SiaN4
rs Ball Ball Ball Ball
® ¥ &= PTFE * & = PTFE ® ¥ &= PTFE * & = SUS304 (1#%)
Cage Cage Cage Cage (equivalent)
Qo 1T ¢ & &% CN T F F CN R CN =R SUS304 (1)
Clearance Clearance Clearance Shields (equivalent)
| WREE 180C MWHEE 180C MWHEE 180C 9 & % C3
Heat-Resistant Temperature Heat-Resistant Temperature Heat-Resistant Temperature Clearance C3 Clearance
1 \ M R A UFOLRIU—R
\»] m Lubricant Lithum Greases
S it R B 150C
Heat-Resistant Temperature

O SV DMEFIE. A EDERHMERE. BENECSRIZE .

— FE5E(mm) B OE BSYTIVEE (BEE) A (SEE) E2(g)
(N) (min-1) &%

Main Dimensions Bearing Number Allowable Radial Load Allowable Maximum Speed Weight(g)Reference

- ZrO2 |SUSs440C
Sl SiaN4 | SiaN4

015| 685CE | CES | CEM | HYB 5 6 5 13 | 1000 | 1000 | 1000 | 1000 | 09 05 08 1.0

02 | 695CE | CES | CEM | HYB 8 9 8 19 | 1000 | 1000 | 1000 | 1000 | 1.9 1.0 1.8 2.3

03 | 625CE | CES | CEM | HYB 12 15 12 30 | 1000 | 1000 | 1000 | 1000 | 38 2.1 35 45

3
4
5145 |02 | 605CE | CES | CEM | HYB 9 12 9 23 | 1000 | 1000 | 1000 | 1000 | 2.7 1.5 2.5 32
5
6

03 | 635CE | CES | CEM | HYB 16 21 16 41 1000 | 1000 | 1000 | 1000 | 6.6 36 6.0 7.7

1335|015 686CE | CES | CEM | HYB 8 9 8 19 | 1000 | 1000 | 1000 | 1000 | 15 08 14 1.7

151 6 | 02| 696CE | CES | CEM | HYB 12 15 12 30 | 1000 | 1000 | 1000 | 1000 | 30 1.6 2.7 34
6 |17 6 | 03| 606CE | CES | CEM | HYB 16 20 16 40 | 1000 | 1000 | 1000 | 1000 | 4.7 25 4.3 55
19| 6 | 03 | 626CE | CES | CEM | HYB 16 21 16 41 1000 | 1000 | 1000 | 1000 | 6.3 34 5.7 7.3
22| 7| 03| 636CE | CES | CEM | HYB 23 29 23 58 | 1000 | 1000 | 1000 | 1000 | 11.0 58 98 | 126

14135 |015| 687CE | CES | CEM | HYB 8 10 8 21 1000 | 1000 | 1000 | 1000 | 1.7 09 1.6 20

1715 | 03| 697CE | CES | CEM | HYB 11 14 11 28 | 1000 | 1000 | 1000 | 1000 | 40 2.2 36 46
7 (19| 6 | 03| 607CE | CES | CEM | HYB 16 21 16 41 1000 | 1000 | 1000 | 1000 | 59 3.2 54 6.4
22| 7 | 03| 627CE | CES | CEM | HYB 23 29 23 58 | 1000 | 1000 | 1000 | 1000 | 98 53 89 | 114
26| 9 | 03| 637CE | CES | CEM | HYB 28 35 28 71 1000 | 1000 | 1000 | 1000 | 19.0 | 100 | 170 | 21.9
KBS UT IVEE. FFEQGHIESEECHORIMECIIHDEE A ¥ EEEUSNDHEHFEDEBERETT . BREICHBEVGHELZE,

¥ Allowable Radial Load, Allowable Maximum Speed information above are references, % We can also produce bearings not in the list. Please contact us.
not guaranteed.

#IFHBEVE BERTEREDICLTL S,

¥ The fitness style is basically clearance fitness style.

XESZVIRERICHVMETTOT, BIRVITERLTLIEE L,

*Ceramics is very weak to impact , please be careful about the handing.

CES CEM CE

@ ZSZvI DTS SO ERIERE. BB 2SS RISV,

FE~Fi%(mm) B E HFATV7IVEE (BEE) HEEESM(SEE Efég)
Main Dimensions S e AIIowabIe(Il:tI;dial Load AIIowabIe(rl\;I];Tir.:'\)um Speed Weight(;)Reference
SIONA S | S | 2702 |SION4| G st

16| 4 | 02| 688CE | CES | CEM | HYB 9 11 9 22 | 1000 | 1000 | 1000 | 1000 | 25 14 23 29
1916 | 03| 698CE | CES | CEM | HYB 16 20 16 39 | 1000 | 1000 | 1000 | 1000 | b&6 30 50 684

8 |22|7 | 03| 608CE | CES | CEM | HYB 23 29 23 58 | 1000 | 1000 | 1000 | 1000 | 93 50 84| 108
24| 8 | 03| 628CE | CES | CEM | HYB 23 29 23 59 | 1000 | 1000 | 1000 | 1000 | 130 72 | 120 | 1560
28| 9 | 03| 638CE | CES | CEM | HYB 32 40 32 80 | 1000 | 1000 | 1000 | 1000 | 220 | 120 | 200 | 258
17| 4 | 02 | 689CE | CES | CEM | HYB 9 12 9 23 | 1000 | 1000 | 1000 | 1000 | 27 15 25 32 N
20| 6 | 03 | 699CE | CES | CEM | HYB 12 15 12 30 | 1000 | 1000 | 1000 | 1000 | 65 35 59 78

° 24| 7 | 03 | 609CE | CES | CEM | HYB 23 29 23 59 | 1000 | 1000 | 1000 | 1000 | 11.0 6.0 99 | 127
26| 8 | 03| 629CE | CES | CEM | HYB 32 40 32 80 | 1000 | 1000 | 1000 | 1000 | 15.0 81 1] 140 | 178
19| 5 | 03 | 6800CE | CES | CEM | HYB 10 12 10 24 | 850 | 850 | 850 | 850 | 40 22 36 48
22| 6 | 03 | 6900CE | CES | CEM | HYB 14 17 14 34 | 850 | 850 | 850 | 850 | 70 39 8.3 8.1

10|/26| 8 | 0.3 | 6000CE | CES | CEM | HYB 32 40 32 81 | 850 | 850 | 850 | 850 | 140 77 | 130 | 168
30| 9 | 06 | 6200CE | CES | CEM | HYB 35 44 35 89 | 850 | 850 | 850 | 850 | 250 | 140 | 230 | 297
35|11 | 06 | 6300CE | CES | CEM | HYB 56 71 56 | 141 | 850 | 850 | 850 | 850 | 400 | 220 | 360 | 465

21|15 | 03 | 6801CE | CES | CEM | HYB 10 13 10 25 | 750 | 750 | 750 | 750 | 50 28 45 58
24| 6 | 03 | 6901CE | CES | CEM | HYB 16 20 16 39 | 750 | 750 | 750 | 7580 | 80 44 7.2 9.3
12128| 8 | 03 | 6001CE | CES | CEM | HYB 35 44 35 89 | 750 | 750 | 750 | 760 | 170 94 | 1560 | 1890

32| 10| 06 | 6201CE | CES | CEM | HYB 48 60 48 | 121 750 | 750 | 750 | 750 | 280 | 160 | 250 | 320

37|12| 10 | 6301CE | CES | CEM | HYB 68 85 68 | 171 750 | 750 | 760 | 750 | 460 | 250 | 410 | 528

245 | 03 | 6802CE | CES | CEM | HYB 11 14 11 27 | 600 | 600 | 600 | 600 | 50 2.8 45 6.0

28| 7 | 03 | 6902CE | CES | CEM | HYB 28 35 28 71 | 600 | 600 | 600 | 600|120 66| 11.0| 140

15(32| 9 | 03 | 6002CE | CES | CEM | HYB 39 49 39 98 | 600 | 600 | 600 | 600 | 240 | 130 | 220 | 280

35|11 | 06 | 6202CE | CES | CEM | HYB 55 68 55 | 137 | 600 | 600 | 600 | 600 | 350 | 190 | 320 | 410

42113 | 10 | 6302CE | CES | CEM | HYB 80 | 100 80 | 200 | 600 | 600 | 600 | 600 | 64.0 | 35.0 | 580 | 750

XFBRSV7 A& FBROEGHIISEE CHDRIHETIEHDEE Ao ¥ FEELINDEAEDEBAEEC T . BRERICHBEVEDELIEEL,

s Allowable Radial Load, Allowable Maximum Speed information above are references, % We can also produce bearings not in the list. Please contact us.
not guaranteed.

X[FHEWVIE EERTEXEDICLTLEE L,

¥ The fitness style is basically clearance fitness style.

X ESZVIIFEEICHEVMETT DT, BIRVISEREL TS,

s Ceramics is very weak to impact , please be careful about the handing.




EIIVINTII

CERAMIC BEARINGS

£5IY TS =’

CERAMIC BEARINGS CES CEM CE
WEELR
B Standard Specification
rs ‘ YIa=7(CE) Z{ts 1% (CES) INIAZTHERTAR(CEM)  /\f FUyR(HYB) O LS SUIDIIAE B EDERILEE, BN ECBRUE .
A 5 Zr0z2 A 5 & SisNa KW 4 & Zr0z A 5 & SUS440C (=) N _ _ _
’ﬁ\ Inner and Outer Rings Inner and Outer Rings Inner and Outer Rings Inner and Outer Rings (equivalent) FE~F5% (mm) B OE FBESVU7IIEE(BE(E) SR OERE (SE(E) Eiég)
\ /] . . . . . . . (N) (min-1) >
s v Zr02 R b SiaN4 iR v SiaNa R b SiaNa D ; ;
fs Ball Ball Ball Ball Main Dimensions S s Allowable Radial Load Allowable Maximum Speed Weight(g)Reference
® 5 % PTFE * 5 % PTFE ® 5 % PTFE * 5 % SUS304(182)
Cage Cage Cage Cage (equivalent)
Qo T ¥ OEF CN RG-S CN g T F CN =R SUS304 (18x)
Clearance Clearance Clearance Shields (eauivalent) 42| 7| 03 | 6806CE | CES | CEM | HYB | 31 39 | 31 79| 300 | 300 | 300 | 300 | 180| 100 | 160 | 205
| WREE 180C MW#HEE 180C M#HEE 180C 9 & F C3
Heat-Resistant Temperature Heat-Resistant Temperature Heat-Resistant Temperature Clearance C3 Clearance 471 9 | 03 | 6906CE | CES CEM HYB 51 64 51 127 | 300 300 300 300 400| 220 | 36.0 440
1 )\ [ RoHS 10 | M R A UFDOLRIU—R
G Loy G 30 55| 13| 10 | 6006CE | CES | CEM | HYB | 93 | 116 | 93 | 233 | 300 | 300 | 300 | 300 | 89.0| 480 | 80.0 | 1020
I G it @ = 150C 62| 16| 10 | 6206CE | CES | CEM | HYB | 137 | 171 | 137 | 341 | 300 | 300 | 300 | 300 | 1500| 830 | 13560 | 1730
Heat-Resistant Temperature
721191 1.1 | 6306CE | CES | CEM HYB 197 246 197 492 | 300 300 | 300 300 [270.0| 1400 | 2430 | 3120
O STy HDM NS A SO ISMET. SN ECSBIE, 47| 7 | 03 | 6807CE | CES CEM HYB 33 42 33 83 | 200 200 200 200 210 110 ] 190 | 240

_ FEA( ) B OE HBSUTEE (B EE) S EET (B E(E) E=2(g) 55| 10| 06 | 6907CE | CES | CEM | HYB 67 84 67 167 | 200 | 200 | 200 | 200 | 58.0| 310 | 520 | 668
Na(mm & Cl 2> 5 =

(\) (min-1) &% 35|62 |14| 10 | 6007CE | CES | CEM | HYB | 111 | 139 | 111 | 278 | 200 | 200 | 200 | 200 | 1200| 630 | 1080 | 1390
Allowable Radial Load Allowable Maximum Speed Weight(g)Reference

Main Dimensions Bearing Number

72117 | 1.1 | 6207CE | CES | CEM | HYB 179 | 223 | 179 | 446 | 200 | 200 | 200 | 200 {220.0|120.0 | 1980 | 2540

80|21| 15 | 6307CE | CES | CEM | HYB | 232 | 291 | 232 | 581 | 200 | 200 | 200 | 200 | 360.0| 1900 | 3240 | 4160

26| 5 | 03 | 6803CE | CES | CEM HYB 12 15 12 29 500 500 | 500 500 50 2.8 45 6.2 52| 7 | 03 | 6808CE | CES | CEM HYB 35 43 35 86 | 200 200 200 200 20.0| 130 | 180 | 230
30| 7 | 03 | 6903CE | CES | CEM HYB 31 38 31 76 500 500 | 500 500 13.0 7.2 12.0 154 62| 12| 06 | 6908CE | CES | CEM HYB 97 121 97 242 | 200 200 200 200 90.0| 500 | 81.0 | 1040

17135|10| 03 | 6003CE | CES | CEM HYB 42 53 42 106 500 500 | 500 500 | 320 180 26.0 3358 40|68 | 15| 10 | 6008CE | CES | CEM HYB 118 147 118 294 | 200 200 200 200 |150.0| 80.0 | 1350 | 1720
40 (12| 06 | 6203CE | CES | CEM HYB 67 84 67 167 500 500 | 500 500 | 520 | 290 | 470 60.6 80 (18| 1.1 | 6208CE | CES | CEM HYB 215 269 215 537 | 200 200 | 200 200 | 2800| 1500 | 2520 | 3200
47 1141 10 | 6303CE | CES | CEM HYB 74 92 74 184 500 500 | 500 500 | 870 480 78.0 | 100.0 90|23 | 15 | 6308CE | CES | CEM HYB 287 3569 287 718 | 200 200 200 200 | 4900 2700 | 4410 | 5690
32| 7 | 03 | 6804CE | CES | CEM HYB 19 24 19 47 450 | 450 | 450 450 13.0 7.2 12.0 158 58| 7 | 03 | 6809CE | CES | CEM HYB 42 53 42 106 | 160 150 150 150 290| 160 | 260 | 330
371 9 | 03 | 6904CE | CES | CEM HYB 45 56 45 112 450 | 450 | 450 450 | 280 150 25.0 320 68| 12| 06 | 6909CE | CES | CEM HYB 71 88 71 177 | 160 150 150 150 970| 530 | 870 | 1120

20 |42 | 12| 06 | 6004CE | CES | CEM HYB 66 82 66 164 450 | 450 | 450 450 | 520 | 290 | 470 61.0 45175116 | 10 | 6009CE | CES | CEM HYB 146 182 146 364 | 150 150 150 150 | 1900 1000 | 1710 | 2200
47 14| 10 | 6204CE | CES | CEM HYB 89 111 89 | 222 450 | 450 | 450 450 | 820 | 450 74.0 95.0 8519 1.1 | 6209CE | CES | CEM HYB 232 291 232 581 150 160 150 150 | 3200 1750 | 2880 | 3680
52 | 15| 1.1 | 6304CE | CES | CEM HYB 111 139 11 278 450 | 450 | 450 450 |1100| 610 99.0 | 1280 100(25| 15 | 6309CE | CES | CEM HYB 369 461 369 922 | 160 150 150 150 | 6400 | 3450 | 5760 | 7400
37| 7 | 03 | 6805CE | CES | CEM HYB 31 38 31 76 350 350 | 360 350 16.0 88 14.0 18.0 65| 7 | 03 | 6810CE | CES | CEM HYB 44 55 44 109 | 150 150 150 150 380| 21.0| 340 | 438
421 9 | 03 | 6905CE | CES | CEM HYB 46 58 46 116 350 350 | 360 350 | 32.0| 180 29.0 37.2 72|12 | 06 | 6910CE | CES | CEM HYB 102 128 102 256 | 150 150 150 150 | 1000| 60.0 | 90.0 | 11556

25|47 |12 | 06 | 6005CE | CES | CEM HYB 78 98 78 196 350 350 | 350 350 | 610 340 55.0 710 50|80 |16| 10 | 6010CE | CES | CEM HYB 151 189 1561 378 | 150 150 150 150 | 2000 1100 | 1800 | 2300
52 | 15| 10 | 6205CE | CES | CEM HYB 98 123 98 | 245 3560 350 | 350 350 | 99.0| 550 89.0 | 115.0 90|20 1.1 | 6210CE | CES | CEM HYB 246 307 246 614 | 160 150 150 150 | 3500 | 1900 | 3160 | 4010
62 17| 1.1 | 6305CE | CES | CEM HYB 158 197 1568 | 394 360 360 | 360 350 |180.0| 99.0 |162.0 | 2080 110127 | 20 | 6310CE | CES | CEM HYB 433 541 433 | 1082 | 150 160 150 150 | 8200 | 4400 | 7380 | 9480

MBS V7 IEE. FBLEHIISEETHORIHETIFHOFEE Ao ¥ SIS DI EDEBORETT . BREICBBLEDELIEE L, XFBRSV7 A& FBROEGHIISEE CHDRIHETIEHDEE Ao ¥ FEELINDEAEDEBAEEC T . BRERICHBEVEDELIEEL,

¥ Allowable Radial Load, Allowable Maximum Speed information above are references, % We can also produce bearings not in the list. Please contact us. ¥ Allowable Radial Load, Allowable Maximum Speed information above are references, % We can also produce bearings not in the list. Please contact us.

not guaranteed. not guaranteed.

#IFHBEVE BERTEREDICLTL S, X[FHEWVIE EERTEXEDICLTLEE L,

¥ The fitness style is basically clearance fitness style. ¥ The fitness style is basically clearance fitness style.

XEIZVIREEICHEWMETTOT. BIRVISEFREL TS, X ESZVIIFEEICHEVMETT DT, BIRVISEREL TS,

*Ceramics is very weak to impact , please be careful about the handing. s Ceramics is very weak to impact , please be careful about the handing.




ANT7Y91=yhk

BEARING UNITS

eo—#1=vh{(UCPH)

PILLOW UNITS (UCP)

FEZE(mm)

Main Dimensions (mm)

IA=yhEIE

WL
Standard Specification
B =2 SUJ2 (1)
Bearing (equivalent)
=2 % FC200 (184)
Housing (equivalent)
i B m UFILRIU—R
Lubricant Lithium Greases
fit &4 8 B 110C(s&E)
Heat-Resistant Temperature

WO | wzmes | mz | EE

RILE J m
HAqZ B BE | (ka)

N.},Jnr:ge,— B_olt Housing | Bearing W(?:;] ‘
T T [ [ e B

17 UCP203 |30.2| 127 | 36 | 95 13 19 183 | 80 [31.0|127| M10 | P203 |UC203| 0.60
20 UCP204 |33.3| 127 | 38 | 96 13 19 14 | 685 [31.0|127| M10 | P204 |UC204| 0.66
25 UCP205 |365| 140 | 38 | 105 | 13 19 15 | 71 [ 3411143 | M10 | P205 |UC205| 0.80
30 UCP206 (429|165 | 48 | 121 | 17 | 21 17 | 83 [38.1|159| M14 | P206 |UC206| 1.20
35 UCP207 (476|167 | 48 | 127 | 17 | 21 18 | 93 (429|175 | M14 | P207 |UC207| 1.70
40 UCP208 492|184 | 54 | 137 | 17 | 21 18 | 98 [492|19.0| M14 | P208 |UC208| 2.10
45 UCP209 (540|190 | 54 | 146 | 17 | 21 20 | 106 |492|19.0| M14 | P209 |UC209| 240
50 UCP210 |[572|206| 60 | 159 | 20 | 25 | 21 | 114 |51.6|19.0| M16 | P210 |UC210| 2.90

¥ FEERIBDSNBEIENIEEC T . BRERICHBBLEDELIEEL),
% We can also produce bearings not in the list. Please contact us.

to—-Ea1=vh(UCPA¥)

PILLOW UNITS (UCPA)

s

(o

1 myhEE EE+E(mm)

WL
Standard Specification
L1 =2 SUJ2 (1)
Bearing (equivalent)
=2 % FC200 (184)
Housing (equivalent)
i B m UFILRIU—R
Lubricant Lithium Greases
fit 248 B 110C(&E)
Heat-Resistant Temperature

SRS | 52

58

Main Dimensions (mm) BIE BE | (ka)

NLlJJmn:;cer Housing | Bearing W(?:;] '

17 UCPA203 | 30.2| 76 | 38 | b2 M10x1.5 8 62 | 12 | 31.0|12.7 | PA203|UC203| 0.60
20 UCPA204 | 30.2| 76 | 38 | b2 M10x1.5 8 62 | 13 | 31.0|12.7 | PA204|UC204 | 0.60
25 UCPA205 | 36.5| 84 | 38 | 56 M10x1.5 12 | 72 | 15 | 34.1|14.3 | PA205|UC205| 0.80
30 UCPA206 | 429| 94 | 48 66 M14x2.0 12 84 18 | 38.1|159 | PA206|UC206| 1.25
35 UCPA207 | 476| 110| 48 80 M14x2.0 10 95 20 429|175 | PA207|UC207| 1.70
40 UCPA208 | 492| 116| B4 | 84 M14x2.0 14 | 100 | 20 |49.2]19.0 | PA208|UC208| 2.00
45 UCPA209 | 54.2| 120| 54 | 90 M14x2.0 14 1108 | 25 |49.2|19.0 | PA209|UC209| 2.20
50 UCPA210 | 57.2| 130| 60 | 94 M16x2.0 14 11168 | 25 |51.6|19.0 | PA210|UC210| 2.80

¥ FEERIBELNBELENEEC T . BRERICHBRBLEDELIEEL,
% We can also produce bearings not in the list. Please contact us.




ANT7Y91=yhk

BEARING UNITS

L7583 =yh(UCFLH#) A75oa3=yb{UCF)

RHOMBUS FLANGED UNITS (UCFL) SQUARE FLANGED UNITS (UCF)
B
.784»
o §
L N
N Wi
i WIS T a2 WiZEiHE
\\ — \ C)\ L < A2 O Standard Specification J L <Q A 8 Standard Specification
L ) SuJ2(#8=Z) L1 = SUJ2 (1)
\V \ / J Q ) Bearing = (equivalent) | Bearing = (equivalent)
T W 2 5 FC200 (184) W OF 5 FC200 (154)
Housing (equivalent) {} C) I Housm—lg = (equivalent)
| ] B UF I LRIU—2 B UF I LRIU—2
Lubricant Lithium Greases Lubricant Lithium Greases
J A1+ fit &4 8 B 110C(s&E) fit 248 B 110C(&E)
H LA Heat-Resistant Temperature J A1+ Heat-Resistant Temperature 5
L —A—
A [ RoHS 10 —n0— | RoHS 10

N.},Jnr:ge,— Bolt | Housing | Bearing W(?:;]t NLlJJr::Eer Bolt | Housing | Bearing V\ﬁa(ig?t

Size | Number | Number Foioaes J “ Size | Number | Number Refergence

17 UCFL203 | 113 | 60 |255| 90 12 11 15 |33.3|31.0127| M10 | FL203 | UC203| 0.49 17 UCF203 86 | 25,5 | 64 12 11 15 | 333 |31.0| 127 | M10 | F203 |UC203| 0.62
20 UCFL204 | 113 | 60 |255| 90 12 11 15 |33.3|31.0|12.7| M10 | FL204 | UC204 | 0.47 20 UCF204 86 | 265 | 64 12 11 15 | 333 |31.0| 127 | M10 | F204 |UC204| 0.60
25 UCFL205 | 130 | 68 | 27 | 99 16 13 16 |35.8|34.114.3| M14 | FL205 |UC205| 0.63 25 UCF205 95 27 70 12 13 16 | 358 |34.1 | 143 | MI10 | F205 |UC205| 0.86
30 UCFL206 | 148 | 80 | 31 1171 16 13 18 |40.2|38.1 159 | M14 | FL206 |UC206| 0.85 30 UCF206 108 | 31 83 12 13 18 | 402 | 38.1 | 169 | M10 | F206 |UC206| 1.10
35 UCFL207 | 160 | 90 | 34 | 130 | 16 14 19 (4441429175 | M14 | FL207 |UC207| 1.20 35 UCF207 117 | 34 92 14 1155 19 | 4441429 | 175 | M12 | F207 |UC207| 1.60
40 UCFL208 | 173 | 100 | 36 | 144 | 16 15 | 21 |B51.2]49.2|19.0| M14 | FL208 |UC208| 1.60 40 UCF208 130 | 36 102 16 | 165 | 21 512|492 | 190 | M14 | F208 |UC208| 1.90
45 UCFL209 | 188 | 108 | 38 | 148 | 19 16 | 22 |522]49.2|19.0| M14 | FL209 |UC209| 1.90 45 UCF209 137 | 38 105 16 | 175 | 22 | B22|492 | 190 | M14 | FR209 |UC209| 240
50 UCFL210 | 197 | 115 | 40 | 157 | 19 16 | 22 |546|51.6|19.0| M16 |FL2T10|UC210| 2.30 50 UCF210 143 | 40 111 16 | 180 | 22 | 546|516 | 190 | M14 | F210 |UC210| 2.60

¥ FEERIBLISIERUETREC T . BRBCHBBLEDELEE L, ¥ FECRIBLISIERUERREC T . BRBCHBBLEDELEE L,

% We can also produce bearings not in the list. Please contact us. % We can also produce bearings not in the list. Please contact us.




AT VLA ANTY /7:1._“/|~

STAINLESS BEARING UNITS

En—-#i1=vh(SUCPHE) = — Eo—-#a1=vyr(SUCPA¥)

PILLOW UNITS (SUCP) | PILLOW UNITS (SUCPA)

" " WiRE LR " WiRE LR
A47O0—-IT|LI AT B Standard Specification A0—MI\/LI AT Standard Specification
L2 = SUS440C (#E=) 2 = SUS440C (1)
Bearing (equivalent) Bearing (equivalent)
W 2 M SCS13(#Ex) = A SCS13(1E%)
Housing (equivalent) Housing (equivalent)
& € Q M B H1 R ERAT U~ i W B A H1 R RRAIU—X
N ‘ ;\T; Lubricant H1 Certificated Grease For Food Lubricant H1 Certificated Grease For Food
] H N WMAEE | 120C(2Z0) WHMEE | 120C(2ZE)
'j”*,—ﬁ: ‘ T ‘ ‘ Heat-Resistant Temperature Heat-Resistant Temperature
) + (ot 10] (Fovs to]
J
L —A— A

CHIN— DAI\—

CHIN— DAIN—

#C-D AN—IFRIEBA ¥C-D AIN—(FRREA

B3 CHJ/\—SSUC % % %-C
83 DAJ/\—SSUC % % %-D

BT CH/\—SSUC ¢ % %-C
BT DA/N—SSUC ¢ % %-D

M¥CAHAN—DILRBFFRED=NIILILE
HIER, « O—ITRES A TNEHREE

MCHN—DTLIFRED=NILT LS
XIER A >O—NIHETA TMLREE

WE | EE5%(mm) R wmm | wm | = 230 EETIA(Mm) R \wzere | mm | =m
Shaft Main Dimensions (mm) HAZ BUFE BE | (ke) _ Main Dimensions(mm) YAz BIF BE | ke
Dl N:anger B_olt Housing | Bearing V\zil:;]t B_olt Housing | Bearing
(mm) \ Size |Number| Number 2 Number| Number
Reference Reference
17 SUCP203 302 | - 1271 388 | 95 | 13| 19| 14|65 |31.0| - [127| MI0 |SP203 |SSUC203| 0.69 17 SUCPA203 |302| - 76 | 38 | 52 |MOX15] 13 | 105] 62 |31.0| - [127| MI0O |SPA203|SSUC203| 0.54
SUCP2034 0= | 302|543 | 127 | 388 | 95 | 13 | 19 | 14 | 65 |31.0|456| 127 | M10 |SP203 |SSUC203| 061 SUCPA20340- | 302 | 543 | 76 | 38 | 52 |MIOXI5| 13 | 105| 62 |31.0|456| 127 | M10 |SPA203|SSUC203| 0.48
50 SUCP204 333 | - 1271 388 | 95 | 13| 19| 14 | 65 |31.0| - |[127| M10 |SP204 |SSUC204| 0.67 o0 SUCPA204 |302| - 76 | 38 | 52 |MIOX15] 13 | 106] 62 |31.0| - |127| M10 |SPA204|SSUC204| 0.52
SUCP2044vA— | 333|543 | 127 | 38 | 95 13 19 14 | 65 | 31.0|456|12.7| M10 |SP204 |SSUC204| 0.59 SUCPA2044/0O—- | 302 |54.3 | 76 38 | 52 |MIOXI5| 13 | 106| 62 | 310|466 | 127 | M10 |SPA204|SSUC204| 0.46
o5 SUCP205 365 - 140 | 388 | 105 ] 13 | 19| 15 | 71 | 841 - [143| M10 |SP205 |SSUC205| 0.83 o5 SUCPA205 |365| - 84 | 38 | 56 |MIOX15] 13 | 125] 72 | 341 | - |143| MI10 [SPA205|S5UC205| 0.73
SUCP205€1 00— | 365|603 | 140 | 388 | 105 | 13 | 19 | 156 | 71 |34.1 478|143 | M10 |SP205 |SSUC205| 0.69 SUCPA2051 00— | 365|603 | 84 | 38 | 56 |MIOXI5| 13 | 125| 72 | 34.1|478| 143 | M10 |SPA205|SSUC205| 0.64
30 SUCP206 429 | - 165 | 48 | 121 | 17 | 21 17 | 84 |381| - |159| M14 |SP206 |SSUC206| 1.32 30 SUCPA206 |429| - 94 | 50 | 66 | MI42| 18 | 125] 84 | 381 | - |159| M14 |SPA206|SSUC206| 1.09
SUCP2061 00— | 429|704 | 165 | 48 | 121 | 17 | 21 17 | 84 | 381|528/ 159 | M14 |SP206 |SSUC206| 1.16 SUCPA2064 /0= | 429|704 | 94 | 50 | 66 |M42| 18 | 125| 84 |38.1|528| 159 | M14 |SPA206|SSUC206| 0.96
35 SUCP207 476 - 167 | 48 | 127 | 17 | 21 18 | 93 | 429 - 175 | M14 | SP207 |SSUC207| 1.55 35 SUCPA207 |476| - 110 55 | 80 | M4x2| 20 | 135| 95 [429| - 175 | M14 |SPA207|SSUC207| 1.53
SUCP2074v0a— | 476|804 | 167 | 48 | 127 | 17 | 21 18 | 93 429|574 |175| M14 | SP207 |SSUC207| 1.36 SUCPA2074/0— | 476 (804 | 110 | B5 | 80 | M2 | 20 | 135| 95 | 429|574 175 | M14 |SPA207|SSUC207| 1.35
40 SUCP208 482 | - 184 | 54 | 137 | 17 | 23 18 | 100 | 49.2 S 19.0 | M14 | SP208 |SSUC208| 1.91 20 SUCPA208 | 492 | - 116 | 58 | 84 | Mi4%2| 20 | 135|100 | 492 | - 19.0 | M14 |SPA208|SSUC208| 1.77
SUCP208f4 00— | 492|882 | 184 | 564 | 137 | 17 | 23 | 18 | 100 | 492|668 | 190 | M14 |SP208 |SSUC208| 1.68 SUCPA2084O— | 492|882 | 116 | B8 | 84 |M42| 20 | 135| 100 | 492|668 | 19.0 | M14 |SPA208|SSUC208| 1.56
45 SUCP209 540 | - 190 | B4 | 146 | 17 | 23 | 20 | 106 | 492 | - | 190 | M14 |SP209 |SSUC209| 2.21 45 SUCPA209 |542| - |120| 60 | 90 | M4 | 25 | 1835|108 [492| - |19.0| M14 |SPA209|SSUC209| 2.04
SUCP2091 /00— | 540|952 | 190 | 54 | 146 | 17 | 23 | 20 | 106 | 492 |67.8|19.0| M14 |SP209 |SSUC209| 1.94 SUCPA2091/0— | 542|952 | 120 | 60 | 90 | M4 | 25 | 135|108 | 492|678 |19.0 | M14 |SPA209|SSUC209| 1.80
50 SUCP210 572| - |206| 60 | 159 | 20 | 25 | 21 | 113 |516| - |190]| MI6 |SP210 |SSUC210| 2.82 50 SUCPA210 |572| - | 130 | 64 | 94 |Me2| 25 | 145|116 |51.6| - |190| M16 |SPA210|SSUC210| 2.38
SUCP210f/vAa— | 572 |100.1| 206 | 60 | 159 | 20 | 25 21 | 113 | 516|756 |190| M16 |SP210 |SSUC210| 2.48 SUCPA2104//0— | 572 [100.1] 130 | 64 | 94 |Mex2| 25 | 145|116 |51.6| 756|190 | M16 |SPA210|SSUC210| 2.09
¥ ESERBUNDEGETRETY . SRECHBLEDELZE, X ESERBNNDEGETRETY . STECHBLEDELZEL,

% We can also produce bearings not in the list. Please contact us. % We can also produce bearings not in the list. Please contact us.




ATFVLAARNTY 1=y k

STAINLESS BEARING UNITS
)

UL75Y¥K1=v b (SUCFLE) ' 8752 981=v (SUCFI) ——

RHOMBUS FLANGED UNITS (SUCFL) SQUARE FLANGED UNITS (SUCF)
" " B WiRE LR " " WiRE LR
AO0-MIB/LIAD —S— Sj‘-candard Specification A20-MIT/LIAT g:candard Specification
! ] = SUS440C (1) B ] = SUS440C (152)
N 5 Bearing (equivalent) N Bearing (equivalent)
W 2 M SCS13(#Ex) B = A SCS13(#E%)
Housing (equivalent) Housing (equivalent)
I _ I L ( A2 O ies = H1SBEIRREATU—2R (3 s = H1SEIBRATU—2R
&\ \ \/ Q ) Lubricant H1 Certificated Grease For Food < l-ao- O Lubricant H1 Certificated Grease For Food
L it 28 120C (8%fE) e ) EmEE 120C(8£1E)
Heat-Resistant Temperature Heat-Resistant Temperature
| 1 [ RoHS 10 GIED
Al
J P A—
H ——AQ0— AAY

1V0-NIHESLT

N |

7%
211 @))
Wil

CHIN—
I U -
| %G 1) —(ZRLRIEA ¢

B :SSUC ¢ 3% %-C

]

CHIN—

¥C AI\—FRIREBA

BIF:SSUC ¢ % 3%-C

M¥CAHAN—DILRBFFRED=NIILILE ! XCHN—DILBFFEO=FIILTLE

H MR A O—MIRHES A TNTFEE L MIER, A 2 O—IITHES A TNEREE
WE | EEHE(mm) H_IIJ'IJ:‘: S | = | =B EETE(Mm) H_;*_’\‘}'IJ:E e | BE | =2
Shaft Main Dimensions (mm) :j»rZ‘ BUFE BE | (ke) Main Dimensions (mm) ';J'*f;(' BIF BE | ke
Dia Unit . . Weight . . Weight
Number B_olt Housing | Bearing Kg) B_olt Housing | Bearing Kg)
(mm) \ Size |Number| Number N Size |Number| Number
Reference Reference
17 SUCFL203 113 - 60 27 | 90 12 1 333] 11 15 | 310 - 12.7 | M10 |SFL203|S5UC203| 0.53 17 SUCF203 - - 86 27 | 64 12 1333 12 15 |310] - 12.7 | M10 | SF203 |SSUC203] 0.71
SUCFL2031,0- | 113 | 543 | 60 27 | 90 12 - 11 15 | 310|378 127 | MI10 |SFL203|SSUC203| 0.47 SUCF2031 vO— - 543 | 86 27 | 64 12 - 12 15 | 31.0|378]| 127 | M10 | SF203 [SSUC203| 0.62
50 SUCFL204 113 - 60 27 | 90 12 | 333 11 15 | 310 - 12.7 | M10 |SFL204|SSUC204| 0.50 20 SUCF204 - - 86 27 | 64 12 | 333 12 15 | 310 - 12.7 | M10 | SF204 |SSUC204| 0.68
SUCFL2041,0— | 113 | 543 | 60 27 | 90 12 - 11 15 | 310|378 127 | M10 |SFL204|SSUC204| 0.44 SUCF2041 vO— - 54.3 | 86 27 | 64 12 - 12 15 | 310|378 | 127 | MI0 | SF204 |SSUC204| 0.60
o5 SUCFL205 130 - 68 28 | 99 16 1358 13 16 | 34,1 - 14.3 | M14 |SFL205|SSUC205| 0.70 o5 SUCF205 - - 95 27 | 70 12 1358 14 16 | 34.1 - 14.3 | M10 | SF205 |SSUC205| 0.88
SUCFL205€1/0— | 130 | 60.3 | 68 28 | 99 16 - 13 16 | 34,1 399|143 | M14 |SFL205|SSUC205| 0.61 SUCF2051 vO— - 603 95 28 | 70 12 - 14 16 | 34.1]399|143| M10 | SFR05 [SSUC205| 0.77
30 SUCFL206 148 - 78 31 | 117 | 16 |402] 13 18 | 38.1 - 15.9 | M14 |SFL206 |SSUC206| 1.02 30 SUCF206 - - 108 | 31 83 12 |1402] 14 | 18 | 381 - 159 | M10 | SF206 |SSUC206| 1.21
SUCFL206f0O— | 148 | 704 | 78 31 | 117 ] 16 - 13 18 |38.1 444|159 | M14 |SFL206|SSUC206| 0.90 SUCF2061 vO— - | 704|108 | 31 83 12 - 14 | 18 | 381|444 ]159 | MI10 | SF206 |SSUC206| 1.07
35 SUCFL207 161 - 88 34 | 130 | 16 | 444 15 19 | 429 - 175 | M14 |SFL207|SSUC207| 1.36 35 SUCF207 - - 117 ] 34 | 92 14 1444 16 19 429 - 175 | M12 | SF207 |SSUC207| 1.62
SUCFL20740— | 161 | 804 | 88 34 | 130 | 16 - 15 19 429|477 (175 | M14 |SFL207|SSUC207| 1.19 SUCF2074 vO— - 804|117 | 34 | 9@ 14 - 16 19 14291477175 | M12 | SF207 |SSUC207| 1.43
40 SUCFL208 175 - 96 36 | 144 | 16 |512| 15 | 21 |492 - 19.0 | M14 |SFL208|SSUC208| 1.68 40 SUCF208 - - 130 36 | 102 | 16 |512] 16 | 21 492 | - 19.0 | M14 | SF208 |SSUC208| 2.09
SUCFL208f//O— | 175 | 882 | 96 36 | 144 | 16 - 16 | 21 492|544 1190 | M14 |SFL208|SSUC208| 1.48 SUCF2081 vO— - 882|130 | 36 | 102 | 16 - 16 | 21 492|544 |190 | M14 | SF208 |SSUC208| 1.84
45 SUCFL209 188 - 104 | 38 | 148 | 19 |b522| 16 | 22 | 492 - 19.0 | M16 |SFL209|SSUC209| 2.00 45 SUCF209 - - 137 38 | 105 | 16 |B22| 18 | 22 492 | - 19.0 | M14 | SF209 |SSUC209| 2.50
SUCFL209f,»0— | 188 | 952 | 104 | 38 | 148 | 19 - 16 | 22 | 492|559 |19.0| M16 |SFL209|SSUC209| 1.76 SUCF2091 vO— - 952|137 | 38 | 105 | 16 - 18 | 22 492|559 |190 | M14 | SFR09 |SSUC209| 2.20
50 SUCFL210 197 - 111 40 | 157 | 19 |546| 16 | 22 | 516 - 19.0 | M16 |SFL210|5SUC210| 2.30 50 SUCF210 - - 143 | 40 | 111 16 |546| 18 | 22 | 516 - 19.0 | M14 | SF210 |SSUC210| 2.64
SUCFL2104»0- | 197 |100.1| 111 | 40 | 157 | 19 - 16 | 22 | 516|593 |19.0| M16 |SFL210|S5UC210| 2.03 SUCF2101 vO— - [100.T| 143 | 40 | 111 16 - 18 | 22 | 516|598 | 190 | M14 | SF210 |SSUC210| 2.33
# _FERRIBDSNDEIEAIRE T T . BSRBICBELEDELEEL, ¥ _FERRIBEDSNDEIEAIRE T T . BRBICBELEDELEEL,

% We can also produce bearings not in the list. Please contact us. % We can also produce bearings not in the list. Please contact us.




EE’B’\TU ”/7“ A= MNEin5—517)

LIGHT BEARING UNITS

to-Ea1i=yhk{(UPK)

PILLOW UNITS (UP)

AN

,,,,,,,,,

.

r C

ROHF—45147

ECCENTRIC COLOR TYPE

MRS

Standard Specification

L] 2
Bearing

W= M
Housing
e =
Lubricant
fit &5 B

Heat-Resistant Temperature

SuJ2(#8=)

(equivalent)

ZDC2 (tA%)

(equivalent)

UFDOLRIU—R

Lithium Greases

110C(zE1E)

<3 X . =
e EE 3% (mm) Rn | HEE | mE | EE
Main Dimensions (mm) .| BUE BUFE (k)
) 2 4 )
Uit Bolt Housing | Bearing HLETS
I\
Reference
10 UP000 18 67 16 53 7 6 356 175 | 40 M6 POOO | UOOO | 0.07
12 UPO0O1 19 71 16 56 7 6 38 175 | 40 M6 POO1 Uoo1 0.08
15 UP002 22 80 16 63 7 7 43 185 | 45 M6 PO0O2 | UOO2 | 0.11
17 UP003 24 85 18 67 7 7 47 205 | 5.0 M6 POO3 | UOO3 | 0.15
20 UP004 28 100 20 80 10 9 55 245 | 6.0 M8 PO04 | UODO4 | 0.23
25 UPO005 32 112 20 90 10 10 62 255 | 6.0 M8 POO5 | UOO5 | 0.28
30 UPO006 36 132 26 106 13 11 70 26.5 | 65 M10 | POO6 | UOOB | 0.38

RHOMBUS FLANGED UNITS (UFL)

BONT—51T

ECCENTRIC COLOR TYPE

Unit
Number

A=y

8

N

A2

=

Al

— A —

EE+E(mm)

Main Dimensions (mm)

L7791 =y b {(UFLK)

WMRER

Standard Specification

i 2
Bearing

W = A
Housing
H B H
Lubricant
it & = E

Heat-Resistant Temperature

EXf(3
RILL
14X

Bolt
Size

SUJ2(#8=)

(equivalent)

ZDC2 (#5%)

(equivalent)

UFDOLRIVU—R

Lithium Greases

110C(=EE)

B3RS | S =)
BIE RUFE (k)

. Weight
Bearing Ke)

Number
Reference

Housing
Number

10 UFL000 60 | 36 |11.5| 45 7 55| 55| 19 |175] 40 M6 | FLOOO | U000 | 0.06
12 UFLO0O1 63 | 38 |11.5| 48 7 55| 55| 19 |175] 40 M6 | FLOO1 | U001 | 0.07
15 UFL002 | 67 | 42 13 | 63 7 65 | 65 |205|185| 45 M6 | FLOO2 | U002 | 0.09
17 UFL003 | 71 46 14 | 56 7 7 7 2251205 50 M6 | FLOO3 | U003 | 0.12
20 UFL004 | 90 | 55 16 | 71 10 8 8 |26.5|245] 6.0 M8 | FLOO4 | U004 | 0.21
25 UFLO05 95 | 60 16 | 75 10 8 8 |275|255] 6.0 M8 | FLOO5 | UOO5 | 0.24
30 UFLO06 | 111 | 70 18 | 85 13 8 9 |29.0|265| 65 | M10 |FLOO6G | UOO6B | 0.35




LIGHT BEARING UNITS

EO—K1=v h(KPH) - VL7581 =y MM KFLE)

PILLOW UNITS (KP) RHOMBUS FLANGED UNITS (KFL)

N
N
WL WiREERR
N Standard Specification Standard Specification
L2 2 sudJa (#8=) & = SSNEIGEE))
Bearing (equivalent) J H Bearing (equivalent)
[ H2 W g ZDC2 (164) / T ZDC2(18)
H Housing (equivalent) Housing (equivalent)
H1 \ W B UF LRI U—2R W R UFo A2
i Lubricant Lithium Greases M Lubricant Lithium Greases
it & iR B 110C (&1 it &8 B 110C(z&E)
Heat-Resistant Temperature Heat-Resistant Temperature
J
L S GIED | RoHS 10
L

IEHRUELT IEHRLUELT

SET SCREW TYPE SET SCREW TYPE

— EE+E(mm) B W | ==
d=yhBIE 3 2 = =
g Main Dimensions (mm) ;j-h?; BUEE B ()

- EFEE(mm) R WS | ==
= wRBIE M SZAE Z ==
Main Dimensions (mm) .ﬂ:‘ﬂ'; BUFR BUE (<))

Unit . . Weight
Number Bolt Housing | Bearing Kg)

Size | Number | Number
Reference

Unit . . Weight
Number Bolt Housing | Bearing Kg)
Size | Number | Number
Reference

10 KP0O0O 18 67 16 53 7 6 35 14 4 M6 | POOO | KOOO | 0.06 10 KFLOO0O 60 | 36 |11.5| 45 7 55 | 565 | 165 14 4 M6 | FLOOO | KOOO | 0.05
12 KPO0O1 19 71 16 56 7 6 38 | 145 4 M6 | POO1 | KOO1 | 0.08 12 KFLOO1 63 | 38 |11.5| 48 7 55 | 55| 16 |145] 4 M6 | FLOO1 | KOOT | 0.07
15 KP002 22 80 16 63 7 7 43 | 165 | 45 M6 | POO2 | KOO2 | O0.11 15 KFL002 67 | 42 13 | 63 7 65 | 65 |185|165| 45 M6 | FLOO2 | KOO2 | 0.09
17 KP003 24 85 18 67 7 7 47 | 175 5 M6 | POO3 | KOO3 | 0.14 17 KFLOO3 71 46 14 | 56 7 7 7 | 195|175 b M6 | FLOO3 | KOO3 | 0.11
20 KP004 28 100 | 20 80 10 9 55 21 6 M8 | POO4 | KOO4 | 0.21 20 KFLO04 90 | 55 16 | 71 10 8 8 23 | 21 6 M8 | FLOO4 | KOO4 | 0.19
25 KP005 32 112 | 20 90 10 10 62 | 225 6 M8 | POO5 | KOO5 | 0.26 25 KFLOO5 95 | 60 16 | 75 10 8 8 |245|225| 6 M8 | FLOO5 | KOO5 | 0.22
30 KP006 36 132 | 26 106 13 11 70 | 245 | 6.5 M10 | POO6 | KOO6B | 0.36 30 KFLOO6 | 111 | 70 18 | 85 13 8 9 27 |245| 6.5 | M10 | FLOO6 | KOO6 | 0.33




Eao—#i1=vybh(SUPH)

PILLOW UNITS (SUP)

AN

,,,,,,,,,

_d_

r C

ROHF—45147

ECCENTRIC COLOR TYPE

A=y

Unit
Number

FEZE(mm)

Main Dimensions (mm)

W
Standard Specification
# 2 SUS440C (18%)
Bearing (equivalent)
W= A SCS13(#H%)
Housing (equivalent)
e = H15RsERmAITU—X
Lubricant H1 Certificated Grease For Food
it &R B 120C(&&1B)
Heat-Resistant Temperature

(>
IV
YA4X

e | BR | EE
BE BE | ks)

. Weight
Bearing Ke)

Bolt Housing

Size | Number | Number
Reference

10 SUPO000 18 67 16 53 7 6 35 | 175 M6 | SPOOO| SUOOO| 0.09
12 SUPO0O1 19 71 16 56 7 6 38 | 175 M6 |SPOOT|SUOOT | 0.10
15 SUP002 22 80 16 63 7 7 43 | 185 | 45 M6 | SPO02|SU002| 0.13
17 SUP003 24 85 18 67 7 7 47 | 205 5 M6 | SPOO3|SUOO3| 0.16
20 SUP004 28 100 | 20 80 10 9 55 | 245 M8 | SP0O04 | SU004 | 0.27
25 SUP005 32 112 | 20 90 10 10 62 | 255 6 M8 |SPO05|SUO0S| 0.35
30 SUP006 36 132 | 26 | 106 13 11 70 | 265 | 6.5 M10 | SPOO6B | SUOOB | 0.53

RHOMBUS FLANGED UNITS (SUFL)

N
%

W

)
&

N\

—

BONT—51T

ECCENTRIC COLOR TYPE

A=y

Unit
Number

A1l

— A —

EE+E(mm)

Main Dimensions (mm)

VL7591 =y M (SUFLE)

W
Standard Specification
# 2 SUS440C (%)
Bearing (equivalent)
W = A SCS13(#H%)
Housing (equivalent)
M B M H15RsERmAITU—X
Lubricant H1 Certificated Grease For Food
it iR B 120T(&1B)
Heat-Resistant Temperature

R wEg | uE | =R
Bz BUEE RUFE (Kg)

. . Weight
Bolt Housing | Bearing Ke)

Size | Number | Number
Reference

10 SUFLO00 | 60 | 36 |11.5] 45 7 55 | 55| 19 |175] 4 M6 | SFLOOO| SUOOO | 0.08
12 SUFLO01 | 63 | 38 |11.5| 48 7 55 | 55| 19 |175] 4 M6 | SFLOOT | SUOOT | 0.10
15 SUFL002 | 67 | 42 13 | 63 7 65 | 65 |205|185| 45 M6 | SFLOO2| SU002 | 0.11
17 SUFL003 | 71 46 14 | 56 7 7 7 |225]205| b5 M6 | SFLOO3| SU003 | 0.14
20 SUFL004 | 90 | 55 16 | 71 10 8 8 |26.5|245| 6 M8 | SFLOO4| SU004 | 0.25
25 SUFLO0O5 | 95 | 60 16 | 75 10 8 8 |275|255| 6 M8 | SFLOO5| SU005 | 0.28
30 SUFL006 | 112 | 70 18 | 85 13 9 9 |290|265| 65 | M10 |SFLOOG| SUCOG | 0.40




BEWAT LR XFYLTLZY b wwsvsen

LIGHT STAINLESS BEARING UNITS

EO—#1=vh (SKP) B OL755K 1=y M (SKFL#)

PILLOW UNITS (SKP) RHOMBUS FLANGED UNITS {(SKFL)
N —B
N
(N L)
WIS 15 2 WIS 15
N Standard Specification Ty Standard Specification
L3 = SUS440C (1) L3 = SUS440C (HH=)
Bearing (equivalent) J H T Bearing (equivalent)
B o2 5 SCS13(E) J B o2 5 SCS13(1H%)
Housing (equivalent) — Housing (equivalent)
H1 e = H1 6 RmAIU—X eI = H1sZsreRmsU—2
i Lubricant H1 Certificated Grease For Food /D Lubricant H1 Certificated Grease For Food
it &R B 120C(&&1B) it iR B 120C(&BE)
Heat-Resistant Temperature Heat-Resistant Temperature
J
L S GIED [ RoHS 10
L

IEHRUELT IEHRLUELT

SET SCREW TYPE SET SCREW TYPE

I B TE(Mm) R | wm | mm | ==

Main Dimensions (mm) AR BIE i (ke)

Main Dimensions (mm) .ﬂ:‘i’; BiE B (ke)

Unit . . Weight
Number Bolt Housing | Bearing Kg)

Size | Number | Number
Reference

Unit . . Weight
Number Bolt Housing | Bearing Kg)

Size | Number | Number
Reference

10 SKP000O 18 67 16 53 7 6 35 14 4 M6 | SPOOO | SKOOO | 0.08 10 SKFLO00 | 60 | 36 |11.5] 45 7 55 | 565 | 165 14 4 M6 | SFLOOO| SKOOO | 0.07
12 SKP0O1 19 71 16 56 7 6 38 | 145 4 M6 | SPOOT | SKOOT| 0.10 12 SKFLOO1 | 63 | 38 |11.5| 48 7 55 | 55| 16 |145] 4 M6 | SFLOOT| SKOOT | 0.10
15 SKP002 22 80 16 63 7 7 43 | 165 | 45 M6 | SPO02 | SKO02| 0.13 15 SKFL002 | 67 | 42 13 | 63 7 65 | 65 |185|165| 45 M6 | SFLOO2| SK002 | 0.11
17 SKP003 24 85 18 67 7 7 47 | 175 5 M6 | SPO0O3|SKO03| 0.15 17 SKFL0O03 | 71 46 14 | 56 7 7 7 | 195|175 b M6 |SFLOO3| SKO03 | 0.13
20 SKP004 28 100 | 20 80 10 9 55 21 6 M8 | SP004 | SKO04 | 0.25 20 SKFL004 | 90 | 55 16 | 71 10 8 8 23 | 21 6 M8 | SFLO04| SK004 | 0.23
25 SKP005 32 112 | 20 90 10 10 62 | 225 6 M8 | SPO05 | SKOO5 | 0.33 25 SKFL0O05 | 95 | 60 16 | 75 10 8 8 |245|225| 6 M8 | SFLOO5| SKO05 | 0.26
30 SKP006 36 132 | 26 106 13 11 70 | 245 | 6.5 M10 | SPO0O6B | SKOOB | 0.51 30 SKFLO06 | 112 | 70 18 | 85 13 9 9 27 |245| 6.5 | M10 |SFLOOGB| SKOO6 | 0.38




1Y —bas AT YVANT) /712y MRAN—

INSERT BEARINGS STAINLESS BEARING UNITS COVER

2
~ . |
xw WiEELL =l ~
% Standard Specification ‘ WiE£ELR
TR N\ @ = U C f|sudedaEm) / } Standard Specification
‘ T’ Bearing (equivalent) ‘ BN — | AFTVLASUS304 (HHH)
r—=r— SSUCH: | SUS440C (#HY) ‘ | Cover Stainless (equivalent)
4 ] b (equivalent) A10 AS A7 AS 1 T A4 |V it D) Vi VN
M B H U C ¥ U}vjA;(_\iﬁ‘U—X \ ‘ Seals Nitrile Rabber
Lubricant Lithium Greases \ i
SSUCH: | H1 5B @ AT U—2 ||/ PR [ RoHS 10/
— H1 Certificatne?j Grease For Food \ j %W'Cjﬂ \—
WME#EE U C | 110CEZE) =N BESSUCH#x-C
Heat-Resistant Temperature
~7S1—DLS—- SSUCH | 120T (5%f®)
S  EIHED) EE1E(mm) PRI %%
. . . . g
o > - Main Dimensions (mm) Bearing Number i
/\7l) 971—‘1 hm (UC’B) Weight
BEARING UNITS(UC) )

Reference

I EBTE(MM) BEXEREEE == 20 SSUC204-C 54.3 19.2 29 36 54 14.3 SSUC204 op
in Dimensi ! ng | (ke)
Main Dimensions (mm) Basic Load Rating | 8 25 | SSUC205-C 603 | 242 | 35 41 60 | 154 | SSUC205 27
Number Weight
i f(Kg) 30 SSUC206-C 70.4 29.2 39 45 70 16.9 SSUC206 36
ererence
17 uCc203 171 47 | 31 |17 | 10]127]183] 5 |MBX0.75| 42 | 12800 | 6600 | 0.18 2 GOl e 48 46 53 =0 -7 Sl B=0r 44
20 Uc204 | 20 | 47| 31| 17 | 1.0|12.7|183| 5 |MBX0.75| 42 | 12800 | 6600 | 0.16 40 Ssuc208-C 882 39.3 S0 56 88 229 SSuUC208 o4
o5 UC205 o5 | 52 |34.1] 17 | 15|143|198| 5 |MBX0.75| 42 | 14000 | 7800 | 0.19 45 EelCR00 95.2 i 55 61 95 22.9 i 66
30 UC206 30 | B2 |38.1] 19 | 15|159|222| 5 |MBX0.75| 52 | 19500 | 11200 | 0.31 50 ssucz10-c 1001 49.3 63 69 100 258 SSUc210 8l
35 uc207 35 | 72 |429| 20 | 20| 175|254| 65 | M8x1 | 56 | 25700 | 15200 | 0.46 26
40 Uc208 | 40 | 80 |492| 21 | 20| 19 |302| 8 M8x1 | 6.2 | 29600 | 18200 | 0.63 —al
45 UCc209 45 | 85 |492| 22 | 20| 19 |302| 8 M8x1 | 6.3 | 31800 | 20800 | 0.68 5 WiEEETHR
50 uc210 50 | 90 |51.6| 24 | 20| 19 [326] 10 |[M10x1.25| 65 | 35100 | 23200 | 0.78 § Standard Specification
_ . 8|1 . . : H X — | ZFULRSUS304 (1H)
X201 9FEDEERNS () TAITIEDhE T, d5 = d3 Cover Stainless (equivalent)
AT VLA ANPY 1=y A (SSUCH:) | RoHS 10
STAINLESS BEARING UNITS (SSUC) =
LA \ Z¥rDAIN—
’ EB % (mm) BARIEHE =8 ) ~ BIR:SSUCH 54D
BE Main Dimensions (mm) Basic Load Rating (kg)
Number W(?:;]t FEE~Fi% (mm) BRI 58
Reference Main Dimensions (mm) Bearing Number (&)
Weight
17 SSUC203 | 17 | 47 | 31 | 17 | 15|12.7|185| 5 |MBX0.75| 40 | 12700 | 6600 | 0.17 ®
Reference
20 SSUC204 | 20 | 47 | 31 | 17 | 15|12.7|185| 5 |MBX0.75| 40 | 12700 | 6600 | 0.15
o5 SSUC205 | 25 | 52 |34.1| 17 | 15[143|198| 5 |MBX0.75| 40 | 14000 | 7900 | 0.19 20 SSuUC204-b 54.3 54 14.3 08 Ssuce04 23
30 SSUC206 | 30 | 62 |381| 19 | 15|159|222| 5 |MBx0.75| 52 | 19800 | 11300 | 0.30 25 SSUC205-D 60.3 60 154 08 SSUC205 S0
30 SSUC206-D 704 70 16.9 0.8 SSUC206 39
35 SSUC207 | 35 | 72 | 429| 20 | 15|175|254| 7 M8x 1 5.5 | 25600 | 15200 | 0.44 S
40 SSUC208 | 40 | 80 | 492| 21 | 16| 19 |302| 8 M8X 1 6.2 | 29400 | 18000 | 0.59 €2 SeUCE0nD 804 80 187 08 SEie20r S0
. . op. .
45 SSUC209 | 45 | 85 | 492| 22 | 16| 19 |302| 8 M8X 1 6.4 | 31600 | 20600 | 0.65 40 Ssuc208-b 88.2 88 o 08 SSUC208 64
. . 22 .
50 SSUC210 | 50 | 90 |516| 24 | 16| 19 |326| 10 [M10x1.25| 65 | 35000 | 23200 | 0.73 45 oDC200D 95.2 95 9 08 SSUC209 82
CrEABTHHE Co—BANTEEE LR O METECT  SEBECHELADETE . 50 Ssuc210-D 100.1 100 258 1.0 Ssuca10 105

Cr=Basic dynamic rated load Cor=Basic static rated load *%We can also produce bearings not in the list. Please contact us.




19 —basx (1)

INSERT BEARINGS (LIGHT)

ds J ds S2

\-—BZ TC—» 2_120x<—* TC"
WRELR ﬁﬁ MR

‘ Standard Specification Standard Specification
sl W02 U f|SudodEm) B Z K | sudeday)

N2 T Bearing (equivalent) Bearing (equivalent)

— r—
~ 81 S U # | SUS440C(#=) S K # | SUS440C(#E=)
di ™ BT d D (equivalent) d | D (equivalent)
HeHAm U | UFOLRII—X i B M K | UFDLRIU—R
Lubricant Lithium Greases Lubricant Lithium Greases

S U ¥ |HIZRERRAIU—X S K | HI1ZERmAITU—X
H1 Certificated Grease For Food H1 Certificated Grease For Food

MEEE U | 110C(5EE) MEEE K R | 110C(z&B)
Heat-Resistant Temperature Heat-Resistant Temperature
B1 S U f|120C(E®) St S+ S K | 120C(s&M®)
GIED ® GIED
BERATI /1y M EOH5—217) (U) BEEATV 1y (kHRLE17) (KHE)
LIGHT BEARING UNITS (ECCENTRIC COLOR TYPE) (U) LIGHT BEARING UNITS (Set Screw Type) (K)

FEE(mm) BAREISEE ==
Main Dimensions (mm) Basic Load Rating (kg)
Weight
(Kg)
Reference

FEWE(Mm) BEAEREE ==
Main Dimensions (mm) Basic Load Rating (kg)
Weight
(Kg)
Reference

BIE

BIZ

Number

Number

10 Uooo 10| 26 |175] 11 8 07 1] 4 17 | 85| M4x0.7 | 3.3 | 4600 1960 | 0.03 10 K000 10 26 14 8 0.7 4 10 3 M3X0.35 4600 1960 0.02
12 Uoo1 12 | 28 |175]| 11 8 07 1] 4 19 | 85| M4x0.7 | 3.3 | 5580 2840 | 0.03 12 K001 12 28 | 145| 8 0.7 4 10.5 3 M3X0.35 5090 2400 0.03
15 U002 15 | 32 | 185 12 9 07 ]| 45| 22 | 85 | M4xX0.7 | 3.3 | 5580 2840 | 0.04 15 K002 15 32 | 165| 9 0.7 45 12 35 M4x0.5 5580 2840 0.04
17 Uoo3 17 | 35 |[20.5|135| 10 | 0.8 5 25 | 95 | M4x0.7 | 3.3 | 5970 3280 | 0.06 17 K003 17 35 | 175 10 0.8 B 125 | 35 M4x0.5 5970 3280 0.05
20 Uoo4 | 20 | 42 |245]165] 12 | 1.3 6 30 | 11 MBX0.8 | 4.2 | 9350 5040 | 0.10 20 K004 20 42 21 12 1.3 6 15 4 MBX0.5 9350 5040 0.08
25 uoos | 25 | 47 (255|175 12 | 1.3 | B0 | 36 | 12 | MBX08 | 42 | 10100 | 5600 | 0.12 25 K005 25 47 | 225 12 1.3 6 165 | 45 MBX0.5 10100 5600 0.10
30 U006 | 30 | 55 |265(185] 13 | 15 | B85 | 42 | 12 | MBX08 | 42 | 13200 | 8000 | 0.17 30 K006 30 55 | 245 | 13 1.5 6.5 18 5.0 MBX0.5 13200 8000 0.15
BEMAT VLA APV 71y bR RDHF—4517) (SU) BEWXAT VLA ATV 12y M (EHRLE17) (SKE)
STAINLESS LIGHT BEARING UNITS (ECCENTRIC COLOR TYPE) (SU) STAINLESS LIGHT BEARING UNITS (Set Screw Type) (SK)
FE L3 (mm) EAEEHE =8 EE % (mm) EAEEHE 58
uE Main Dimensions (mm) Basic Load Ratins (ke) Main Dimensions(mm) Basic Load Rating (ke)
Number Weight Weight
(Ke) ()
Reference Reference
10 SU000 | 10 | 26 |17.5]| 11 8 07| 4 17 | 85 | M4x0.7 | 3.3 | 4600 1960 | 0.03 10 SK000 10 26 14 8 0.7 4 10 3 M3X0.5 4600 1960 0.02
12 SU001 | 12 | 28 |175| 11 8 07| 4 19 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.03 12 SKO0O01 12 28 | 145| 8 0.7 4 10.5 3 M3X0.5 5090 2400 0.03
15 SU002 | 15 | 32 |185] 12 9 07| 45| 22 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.04 15 SK002 15 32 | 165| 9 0.7 45 12 35 M4x0.7 5580 2840 0.04
17 SU003 | 17 | 35 |205|135] 10 | 0.8 3 25 | 95 | M4x0.7 | 3.3 | 5970 3280 | 0.06 17 SKO003 17 35 | 175 10 0.8 5 125 | 3.5 M4x0.7 5970 3280 0.05
20 SU004 | 20 | 42 |245|185| 12 | 1.3 6 30 | 11 MB5X0.8 | 4.2 | 93560 5040 | 0.10 20 SK004 20 42 21 12 1.3 6 15 4 M5x0.8 9350 5040 0.08
25 SU005 | 25 | 47 |255|175] 12 | 1.3 6 36 | 12 | M5X0.8 | 42 | 10100 | 5600 | 0.12 25 SKO005 25 47 | 225 12 1.3 6 165 | 45 M5x0.8 10100 5600 0.10
30 SU006 | 30 | b5 |265|185| 13 | 15 | B85 | 42 | 12 | MBX0.8 | 42 | 13200 | 8000 | 0.17 30 SK006 30 55 | 245 13 1.5 6.5 18 50 M5x0.8 13200 8000 0.15
Cr=EAEEREE Cor=BAFHEREE Cr=EXEEREE Cor=BXHESREE

Cr=Basic dynamic rated load Cor=Basic static rated load Cr=Basic dynamic rated load Cor=Basic static rated load




AVINIIRNTY 1=y

COMPACT BEARING UNITS

IESHRUHENTI T

BALL BEARINGS SET SCREW TYPE

WS iHiE ' ~
Standard Specification Bi .*%Zﬁﬁiﬁ
i & T ZF— ) | SUJLGEY) H r Standard Specification
7 Bearing Steel (equivalent) 2-M i A 4 % SUS420J2 (F82)
7z 2AFIUR SUS440C (F8) : Inner and Outer Rings (equivalent)
AEQ}S Stainless (equivalent) m R — b SuUs420J2 (15=)
N9YVY  RF— )b | SPCCURY)M=mLakRE T el . (eauvaient
fa) ol ol w Housing Steel (equivalent) Alkaline Blackening i \'\ ®x ¥ 2 SUSSO4($E$|)
Sl SIS 2FULZ SUS304 (1824) | -r Cage (equivalent)
T i s, s "
Stainless (eq%ﬂva\ent) d| g—— | I D SJhieIds}b k& SUSBO‘(EE}TE?IB)N)
R oA 2Tl TR A | M B H1 BEFR&BAIU—2
Lubricant Steel Lithium Greases 5 } Lubricant H1 Certificated Grease For Food
—— ATFVUVA UFILRIU—X 1y BEEWR JIS Ok
Stainless Lithium Greases B Accuracy Class JIS O Class
Me#EBEE ZXF—JU | 110C(EEB) i T EF CN
B Heat-Resistant Temperatue - Steel Clearance CN Clearance
ATFVUVA 120TC(&E®) w
Stainless m
AF=NEaLT "RoHS 10)
STEEL TYPE
Egﬂ'if(mm) == EET_I'if(mm) EZKE*ﬁﬁi o
RUZE RS Main Dimensions (mm) (ke) Main Dimensions (mm) (8)
. . . Weight
Unit Use Bearing Weight
Number () Cor (3%) ()]
Reference ~EE kN Reference
8 CU-608 608727 32 1.2 8.2 34 42 24.4 45 0.02 SUR69002zz 22 13 6 3.0 | M3x05| 0.30 2.70 1.27 | 9100 13
10 CU-6000 6000727 36 1.2 9.2 38 46 28.4 45 0.03 SUR60002z2z 10 26 15 8 3.0 |M3x05| 0.30 4.55 1.96 | 7800 24
10 CU-6200 620027 40 1.2 10.2 42 50 32.4 45 0.04 SUR620022z 30 17 9 35 | M4x0.7| 0.60 510 2.39 | 6800 41
12 CU-6201 620127 45 1.4 114 48 58 34.8 55 0.06 SUR69012Z 24 13 6 3.0 |M3x05| 0.30 2.89 1.46 | 5200 15
+0.
15 CU-6002 6002727 45 1.4 114 48 58 34.8 55 0.06 SUR600122z 12 Og] 5 28 15 8 3.0 | M3x05| 0.30 5.10 2.39 | 7800 27
SUR62012z 32 19 10 35 | M4x0.7| 0.60 6.80 3.05 | 7500 47
SUR6902z2z 28 14 7 3.0 | M3x05| 0.30 4.30 225 | 6500 22
SUR6002ZZ 15 32 16.5 9 3.0 | M3x05| 0.30 5.60 2.84 | 4500 40
AFIVARELT SUR620272 35 20 11 35 |M4x07| 060 | 765 | 375 | 8000 | 59
STAINLESS TYPE SUR69042Z 37 18 9 | 35 |M4x07| 030 | 640 | 370 | 9100 | 51
+0.018
EZEE(mm) =5 SUR60042z2z 20 0 42 21 12 45 | M5x0.8| 0.60 9.40 5.05 | 7500 87
fEmE= Main Dimensions (mm) (kg) SUR62042Z 47 23 14 45 |M5x08| 1.00 |12.80 | 6.65 | 5800 | 132
Use Bearing Weight
(Kg) Cr=EABERETE Cor=BEAHTHEETE
o A Cr=Basic dynamic rated load Cor=Basic static rated load
¥ EEEDIEHRUFERT U I DARFEEIE. JIS B1558DMEICELTNETD,
8 SSCU-608 85608727 32 1.0 8.0 34 42 24.0 45 0.02
10 SSCU-6000 | SS6000727 36 1.0 9.0 38 46 28.0 45 0.03
10 SSCU-6200 | SS62007Z 40 1.0 10.0 42 50 32.0 4.5 0.04
12 SSCU-6201 | SS62017Z 45 1.4 114 48 58 34.8 IS 0.06
15 SSCU-6002 | SS6002727 45 1.4 114 48 58 34.8 55 0.06

Cr=EAETERETE Cor=BAEHTHEEE
Cr=Basic dynamic rated load Cor=Basic static rated load




TIVLAANTI Y

OILLESS BEARINGS

= 715530 % - E A ER RIEA S5

HIGH-STRENGTH p— B e 91 2 =5
BRASS OILLESS BEARINGS Standard Specification Outer Length B -E . Weigght
# B | CAC304318%) N N Bearing N Bearing ©
Material (equivalent) Tolerance Tolerance ML Tolerance Tolerance Ml
N BN = Reference
Inner Tolerance 10 JDB-182410 12 12 JDB-303812 29
L 5 B E 12 JDB-182412 15 15 JDB-303815 37
Outer Tolerance . 15 JDB-182415 | 18 20 JDB-303820 | 50
it #% B E | 300CEEE)
HeatRedistant Temperature 0034 008 16 JDB-182416 | 19 25 JDB-303825 | 62
- " 18| o016 | 24 | 40008 20 JDB-182420 | 25 38 30 JDB-303830 | 74
® MERIBFH = ' ' 25 JDB-182425 | 31 35 JDB-303835 | 86
® Recommend Shaft Tolerance 30 JDB-182430 | 36 40 JDB-303840 | 99
— @ d D — A (R &) 35 JDB-182435 | 42 50 JDB-303850 | 126
e G_e;ﬂirim'f(eg;yﬁ"?ﬁ)) 40 JDB-182440 | 48 +0.041 +0.025 | 60 JDB-303860 | 153
e GeneraliLiant Loa?) 10 JDB-202810 | 18 | | °° | 10.020 +0.009 12 JDB-304012 | 39
a2 B E B 12 JDB-202812 22 15 JDB-304015 50
High Precision 15 JDB-202815 | 28 20 JDB-304020 | 62
5 WiHEEEE /\'7‘7“7_7“//—‘2% ‘H7 18 JDB-202816 | 30 o5 JDB-304025 | 83
Recommend Housing Tolerance JDB-202819 | 35 40 30 JDB-304030 | 100
o8 20 JDB-202820 | 38 35 JDB-304035 | 114
25 JDB-202825 | 48 40 JDB-304040 | 129
30 JDB-202830 | 57 50 JDB-304050 | 168
= = 35 JDB-202835 | 67 680 JDB-304060 | 201
RC 28253 %f %f 40 | JDB-202840 | 76 20 | JDB-354420 | 69
Outer Length B & g g
Bearing | Weieht Bearing | Weleht o0 | 10.041 +0.021 50 JDB-202850 | 95 o5 JDB-354425 | 85
Tolle\ra:ﬁce Tolle\ra:ﬁce Nurnber @ Tolle\ra:ﬁce BE Nurnber ® +0.020 +0.008 10 JDB-203010 | 24 0,050 0005 30 JDB-354430 | 102
Reference Reference 12 JDB-203012 29 35 +Ol025 44 +O‘OOQ 35 JDB-354435 | 119
8 JDB-061008 3 10 JDB-142010 | 10 15 JDB-203015 | 36 ' : 40 JDB-354440 | 137
g | 0022 |+0015 10 JDB-061010 3 12 JDB-142012 | 12 16 JDB-203016 | 39 50 JDB-354450 | 171
+0.010 +0.006 12 JDB-061012 3 0,034 008 15 JDB-142015 | 15 20 20 JDB-203020 | 49 60 JDB-354460 | 205
15 JDB-061015 4 141 0016 129 | 46008 16 JDB-142016 | 16 25 JDB-203025 | 63 20 JDB-405020 | 86
8 JDB-081208 3 ' ' 20 JDB-142020 | 21 30 JDB-203030 | 75 o5 JDB-405025 | 103
g |T0028 | |+0018 10 JDB-081210 4 o5 JDB-142025 | 26 35 JDB-203035 | 89 30 JDB-405030 | 133
+0.013 +0.007 12 JDB-081212 5 30 JDB-142030 | 31 40 JDB-203040 | 100 0050 0005 35 JDB-405035 | 153
15 JDB-081215 6 10 JDB-152110 | 10 50 JDB-203050 | 125 | | 40 |  'i5c | 50 | L0000 40 JDB-405040 | 174
8 JDB-101408 4 12 JDB-152112 | 13 12 JDB-253312 | 285 ' ' 50 JDB-405050 | 213
L0008 L0018 10 JDB-101410 4 15 JDB-152115 | 15 15 JDB-253315 | 31 60 JDB-405060 | 261
10| 0013 | 4| +0.007 12 JDB-101412 6 0,034 L0021 16 JDB-152116 | 17 16 JDB-253316 | 34 70 JDB-405070 | 300
' : 15 JDB-101415 7 15| 0016 12" | +0.008 20 JDB-152120 | 21 20 JDB-253320 | 42 80 JDB-405080 | 338
20 JDB-101420 | 10 ' ' o5 JDB-152125 | 26 - o5 JDB-253325 | 53 30 JDB-506030 | 156
8 JDB-121808 7 30 JDB-152130 | 31 30 JDB-253330 | 65 35 JDB-506035 | 180
10 JDB-121810 8 35 JDB-152135 | 37 35 JDB-253335 | 75 L0050 L0005 40 JDB-506040 | 204
12 JDB-121812 | 10 40 JDB-152140 | 42 40 JDB-253340 | 87 | | 50 | "I | 60 | L0 00g 50 JDB-506050 | 262
0034 0021 15 JDB-121815 | 13 10 JDB-162210 | 11 50 JDB-253350 | 109 80 JDB-506060 | 310
12| 001 | '8 40008 16 JDB-121816 | 14 12 JDB-162212 | 13 o5 | 10.041 +0.025 60 JDB-253360 | 127 70 JDB-506070 | 358
' : 19 JDB-121819 | 16 15 JDB-162215 | 16 +0.020 +0.009 12 JDB-253512 | 34 80 JDB-506080 | 412
20 JDB-121820 | 17 16 JDB-162216 | 17 15 JDB-253515 | 42
o5 JDB-121825 | 21 |G | T0034 | | +0.021 19 JDB-162219 | 21 16 JDB-253516 | 45
30 JDB-121830 | 26 +0.016 +0.008 20 JDB-162220 | 22 20 JDB-253520 | 56
10 JDB-131910 9 o5 JDB-162225 | 27 - o5 JDB-253525 | 70
12 JDB-131912 | 11 30 JDB-162230 | 32 30 JDB-253530 | 85
15 | T0.034 | | +0.02] 15 JDB-131915 | 14 35 JDB-162235 | 38 35 JDB-253535 | 99
+0.016 +0.008 20 JDB-131920 | 18 40 JDB-162240 | 43 40 JDB-253540 | 115
25 JDB-131925 | 24 50 JDB-253550 | 142
30 JDB-131930 | 28 60 JDB-253560 | 163

# FEERIBLISIERUETREC T . BRBCHBBLEDELEE L,

% We can also produce bearings not in the list. Please contact us.

¥ FEERIBENBELENIEE T T . BRERICHBRBLEDELIEEL),
% We can also produce bearings not in the list. Please contact us.




RiE#

TECHNICAL SPECIFICATIONS

417 (Units)/um
B ONREE ENrEl SHROSYTIVEN NEEOEN | SHROTFITIEN
L — o _ - N e . — _ £25= 3l R=dial Runout Of Quter Ring Wide Runout Axial Runout Of Quter
DR OFEDAICOVNTOHABTENUHFSBELUICEEBEEE. JISB1514EADH#MZORBE) [CHESNTL Nomna Of OuterBing | Fing O Assentled Beaing
=7 T\ - St N \ Y N S » . Outside ea ea
2. MR DBEFRICIE. EHBBEEDJIISORDIEIN BENEIED(CHRED T, Bk, Sk, 4RO 2MDS DT T H AXK Diameter
e = g f(—s Off | 6%k | 5k | 44k 5k 4R 5k 4%
TlE2HRIFENTNE T CNOEDORBEIL. ISOBRBICEAMLTVNDABHD T, Normal |Class 6 | Class 5| Class 4| Class 5 Class 4 Class 5 Class 4
P MVEN S K | BK | BX | HK| =BK =7 =7 =7
pRECISION OF GROOVE BALL BEARINGS [OYCIgRIEIl Max | Max | Max | Max Max Max Max Max
. . . L . . . K. 15 8 5 3 8 4 8 5
The tolerances for the main dimensions and speed precision of rolling bearings are specified by JISB1514 15/ 8 | 5 3 g a 8 5
(Rolling-bearing Precision Standard). 15| 9 |6 | 4 8 4 8 5
As the Precision level gets higher than JISO grade, there are the Grade 6, Grade 5, Grade 4 and Grade 2. 20 | 10| 7 5 8 4 8 5
The Grade 2 is omitted in the list. The precision here is based on ISO Standard. 2511318 15 8 4 10 =
35| 18| 10 6 9 5 11 6
#2.5mMmIFTDHERDCZFEND. ¥2.5mm isincluded in this group.
= - -y _ = - =~,3J Shes =~ 3 S MErsS NS N [——T =~ )3 )|~ =1ES Sheg
RO R E R U SELEUICHRIEDSEEE R UHS(E ISVIHROFEE TS VIRDHFBERUFRIELVICTS IICHDh DR EEREEDHFEIE
TOLERANCE AND TOLERANCE LIMITS FOR INNER RINGS AND WIDTHS OF OUTER RINGS TOLERANCES LIMITS OF OQUTSIDE TOLERANCES AND TOLERANCE LIMITS FOR FLANGE WIDTH
B4 (Units) /um DIAMETER FLANGE P AND TOLERANCE OF SPEED ACCURACY RELATED TO FLANGE P
AL H Bfi7(Units) /um Bt (Units)/um
FEATSREDOTES il o FENRETRR Wl’vﬂ”'r'ﬁm@g)jﬁ BOT5YI5NE IS5 UUSEDTIEE pous S . 7%;;{%‘@!:%% 75‘/?“%‘%03
- i ‘ eviation - ' ) ariation Nominal Flange Deviation Of A Single U 22D FJVEMNE ZEOEN | 7FEITIVEN
TR E Deviation Of Mean Bore Diameter In A Single Plane Bore Diameter Variation Of Bore Diameter In A Single Plane Mean Bore Diameter Ouiter DiEmEite Outer Ring Flange Width 542 Deviation Of A Single Variation Of Faling OfOuter | Axial Runout Of The
AR 4dmp 4ds Vdp Vdmp D1 (mm) 4D1s NSIUMRRN Outer Ring Flange Width | Outer Ring Flange Width | Suface To The Flange | “Fiange Back Face
Nominal 4R Ok 6k 5k 44k =8z T N Y Sutsaide 4C1ls VC1s SD1 Seal
‘Bore Class 4 Normal Class 6 Class 5 Class 4 - lameter
Diameter O#k 61k 54k 4% Ofk | 6%k | 5%k | 4K Over  Incl High  Low Off | G%k | OHR | 4%k | O#R | G%R | SR | 44k | S8 | 4R 5% | 4%
d(mm) BR3RY Nomal | Class | Class | Class DIV Normal| Class | Class | Class | Normal | Class | Class | Class | Class | Class | Class | Class
Normal Class 6 Class 5 Class 4 Diameteter Series 6 175 |2 . 19 ig%g ff‘g 6 5 4 6 5 4 5 4 5 4
0-1-2:3-4| 9 [0-1][234] 9 [0-1]234] 9 [01234] 9 01234 8 30 ia80  =o zizx LU T BX BA BA
= = = = = P P e ver Inc i ow ax ax ax
(=789 + ~ | £ F | £ | £ F | £ F =7 =7 =7 BX |BX BXK BRA|RK 5 A—SWC.
(el High Low | High Low | High Low | High Low | High Low Max Max Max Max Max | Max | Max | Max BE—FH T FECE#HZDdIC | gLsEzod(c
%25 6 AU 5 25| 15| 8 4 115 | 11 7 3
25 10| 0o -8 o 7 0 5 0 4 o 4 |1wo|8|6|9 |7 |5 |5 |4 |4|3|6|5]|3]2 e Y2 ABsDHFBEICE D, g%gl‘i\fg@ : '
10 18| 0o 8| 0 7 0o 5 o 4|0 4 |iw0|ls|6|9 |7 |5 |85|4|4|3|86|5]|3]2 6 18 |Use Tht gbs Tolerence For | e | 6 |25| 15| 8 | 4 (15 11| 7 | 3
18 30| 0 10| 0 8 | 0 6 o 5|0 6 |13/10|8|10|8 |6 |6 |5 |5/| 4| 8|6|3]25 |s 30 |DOf The Same Bearing OFf | Toerance For00f | 5 | o5 | 15| 8 | 4 |15 111 7 | 3
30 50| 0 12| 0 -0 | 0 -8 o 6|0 6 |15l12|9|13/10|8|8|6 |6|5 9|8|4]|3s The Same Class Qe Sarme Beans, T '
50 80 0 -15 0o -12 0O -9 o -7 o] -7 19 [ 19 | 11 15 | 15 9 9 7 7 5 11 9 5 |35 - - - -
#2.5mMmIETDTERDICZEND. *2.5mm isincluded in this group.
S RERIED T EZE PRERIENE REDOSI7 VRN | REROREN | REOPFI7IEN SERIED 5= SHERIENE] = oy — -
ﬁw?gl Deviation Of A Single Variation OF Radial Runout Of Inner Ring | Wide Runout | Axiel Runout Ofiner | Deviation Of A Single Variation OF ATA hiiml@ﬁﬁ%&oﬁﬁ{ﬁ(immgﬂ%)
Norinal Inner Ring Width Inner Ring Width Of Assembled Bearing Of Inner Ring  |Ring Of Assenbled Bearing Outer Ring Width Outer Ring Width TOLERANCES AND TOLERANCE LIMITS FOR THRUST BALL BEARINGS(RACEWAY DIAK OF SHAFT) o
B 4Bs VBs Kia sd Sia ACs VCs (1 (Units)/um
CCUECMN Of-65% | Si-afR |OfR | 6% | 58 |44k | OfR | 6% |5k |44 | 5% |4 | 5% | 4k | OM-68 | SH-4® | O | 6 sy PERTIREOTEE FENNETE HAEEN B PRIEERY)\0Y > THEROMEOF AT
d(mm) Normal- Class 54 | Nomal | Class | Class | Class | Nomal | Class | Class | Class | Class | Class | Class | Class Normal- | Class 54 | Normal | Class 6 AR Deviation Of Mean Bore Diameter |  Variation Of Bore Diameter Thickness Variation Of Raceway Disk Of Shaft Or
Class 6 6 B 4 6 B 4 5| 4 5| 4 Class 6 Nominal In A Single Plane In A Single Plane Central Raceway Disk And Housing Raceway Disk
omina ;
CaM t T | b T |BX BX BA BA BA BABABXBKBX BX | BA | £ T |t F | BAX | BX ‘Bore 23T elp =l
(O gell Hish Low | High Low | Max| Max | Max | Max | Max | Max | Max | Max | Max | Max | Max Max | High Low | High Low Max Max Diameter ety Bt Bt 418 O#Rk-64%-54% 44% o8 64 548 4R
0 -120 | 0 40 |15 )15 5 125110} 6 | 4 25 7 | 3 7 3 0 -120 | O -40 15 15 d(mm) hNormal, Class 4 Normal, Class 4 Normal Class 6 Class 5 Class 4
0O -120 | 0 80 |20|20| 5 |25| 10| 7 | 4 |25]| 7 | 3 7 3 0 -120 | 0 -80 20 20 Class 6-5 Class 6-5
O -120| 0 -120 | 20|20 | 5 |25|13| 8 | 4 | 3|8 | 4| 8 4 | 0 -120 | 0 -120 20 20 =3z UT R r T =X =X =X =X =X =X
0 -120 | O -120 | 201 20| &5 | 3 | 15 )10 ) 5 | 4 | 8 | 4 8 4 0 -120 | O -120 20 20 over incl High Low High Low Max Max Max Max Max Max
0 -150 0O -150 | 25 | 25 6 4 20 | 10 5 4 8 5 8 5 0 -150 0 -150 25 25 18 0 B 0 = 5 5 10 5 3 >
18 30 0o -10 0 -8 8 6 10 5 3 2
30 50 o -12 0o -10 9 8 10 6 3 2
- ey 50 80 0 -15 0 -12 11 9 10 7 4 3
yi‘ﬁ@ﬁﬁ%&uﬁﬁ‘ﬁ 80 120 0 -20 0 -15 15 11 15 8 4 3
TOLERANCES AND TOLERANCE LIMITS FOR OUTER RINGS
B4 (Units)/um — . p— o~n . - _ —_
P HED TEANETE TERTENED ASAMEHZOHFBENRUFSE(\DI Y JHEER) ASANEWMZFOEE
FEANHINEOTEE Six= Variation Of Outside Diameter In A Single Plane <Al TOLERANCES AND TOLERANCE LIMITS FOR THE HEIGHT OF THE THRUST BALL BEARINGS
. Bevwatlton |OTAI\/IStf_an lOqu‘suje Deviation Of VDp Variation OF THRUSU BALL BEARINGS(HOUSING RACEWAY DISK) o
U?U‘igﬁ lameter ZD ingle Flane Outside Diameter OiR 61R B4R a8 Mean Outside Diameter B (Units)/um B (Units)/um
p mp i b b : - - p— . - .
T 4Ds Normal ___ Class6 | Class5 | Class4 VDme el CEATONEOTEE TEANETE FOEAE THEER
Outside a4tk BB |oims|  BIREESE  | ues BORREASE | BOROEHSE iR Beviaﬂton \OfAMSe'am ‘Oqulside VariatilonAOg_Ou‘ts‘\gle Diameter N%m'”a' tBore Plane Seat Form
g?mete)r 0% B4R 548 a4% | Class 4 Open Type |85%&'|  Open Type |35 | Open Type | Open Type | O%R | G#% | 5k | 4% Nomin iameter ZDmEg e Plane n C%ep ane dI?rrj;?’n?r e
mm [ErEl] Nomal | Class | Class | Class Outsaide
Normal | Class 6 | Class 5 | Class 4 Diameteter series ‘ 6 5 4 Biamete OfR-6#k-5#% a5k OiR-6ik-51R 45K £ F
01-234[ 9 [01[234[234] 9 [01[234/01234] 9 [01234] 9 [01234 D(mm) Normal- Normal- High  Low
= = = = = = =r =r = Class 65 Class 4 Class 65 | Class4
v @A £ T F |k F|E F|E T =7 BX =7 BX |BKX BXK BX EX = 0 75
High Low | High Low | High Low | High Low | High Low Max Max Max Max Max | Max | Max | Max =BZ UT +t T +F F BX BX 30 50 0 oo
%25 6 |0 8|0 7|0 5|0 4|0 «4|1w0]s8[s6]iw|leo|7]5]9a]|s5]ala]s]|e|s]|3]2 Over Incl [EalERRel] High Low Max Max 50 80 0 125
6 18|/0o 8|0 7|0 5|0 4|0 4|10|/8 |6 |10|9|7|5| 9|5 |4|4|3|6|5 ]3| 2 0 18 0o -1 o 7 8 5 80 120 0 150
18 30 0O -9 0 -8 0 -6 0 -5 0 -5 12 9 7 12 10 | 8 6 10 6 5 5 4 7 6 3 25 18 30 0 -13 0 -8 10 6
30 B0 o -1110 -9 o -7 o -6 0O 6|14 |11 8 16 11 9 7 13 7 5 6 5 8 7 4 3 30 50 0 -16 0 -9 12 7
50 80 O -183] 0 -11 o -9 o -7 o -7 |16 |13 |10 20 14 |11 8 16 9 7 7 5 10| 8 5 35 50 80 o -19 0o -11 14 8
80 120| O -15] 0 -13 0O -10|] 0O -8 O 819|119 |11 26 16116 |10 | 20 | 10 8 8 6 11|10 5 4 80 120 0 -22 0 -13 17 10




i

TECHNICAL SPECIFICATIONS

e e e A ws
mkRI OLBMZRARURAT VU AR URERHAOEE—R S MENTE(BE(E)
CHEMICAL COMPOSITION OF HIGH-CARBON CHROMIUM BEARING STEEL AND STAINLESS STEEL MATERIAL LIST(REFERANCE)
" £ = A (6] - INA=F | BerAE | RILUAR | BREODLESE|ZFULAHEE|  TUSF | AFVUASE
H = Chemical Composition (%) B LA = 2 IR A SR 5 T 52 7IL= T b
Standard S\Vaglele]] A Topic ZrO2 SiaN4 SiC suJ2 SUS440C Al203 SUS304
C Si Mn P S Cr Mo
JIS sSuJ2 0.95~1.10 0.15~0,35 =0.5 =0.025 =0.025 1.30~1.60 =0.08 %‘Z%Sh g/cm3 6.0 3.2 3.2 78 7.9 3.92 8.0
GB GCri15 0.95~1.05 0,15~0.35 0.25~0.45 =0.025 =0.025 1.40~1.65 =0.08 vy Y
%Ewgﬁﬁﬁ o Castioen?10°/C 105 32 43 1 17 8.2 16
JIs sus440c 0.95~1.10 <1.00 <1.00 <0.040 <0.030 16.00~18.00 <0.75 ﬁ;é‘méﬁ;;ans‘on oetricen
GB 95Cr18 0.95~1.00 =0.80 =0.80 =0.040 =0.030 17.00~19.00 — Vertical Blastic Coefficient  °P@ 210 320 380 208 200 360 193
JIS S20C 0.18~0.23 0.15~0,35 0.30~0,60 =0.030 =0.030 =0.20 e ﬁli%ness HV 1300 1700 2350~2450 800 700 1800 170
GB 20 0.17~0.24 0,17~0.57 0,35~0.65 =0.035 =0.035 =0.25 — RS
il /misz 400 800 1100 120 150 400 150
Heat-resistant Temperature
74k JERLE FEmL JERE SERIE S FERIE TR
e =3 1) # Magnetism Nonmagnetic Nonmagnetic Nonmagnetic Ferromagnetic Ferromagnetic Nonmagnetic Mildly Ferromagnetic
%EEEH]E‘CD? J?)IIWI:B?:.* = =
S T EEFE I EMmEE M EERE 1
CLEARANCE L 51k EIZN ini=E3 i e S _ felini=1Ed _
B4 (Units)/um Characteristics High Corrosion Esistance |~ Wear Resistance Tgrma\ Wear We’; Resistance
Low Cost Corrosion-resistance |High Corrosion Resistance High Corrosion Resistance
1204y
AR
Nominal ce CN c3 ca c5
Diameter
d(mm)
RIN BK ®RIN BRX &IV RK =N RBK =N RBK
Min  Max Min  Max Min  Max Min  Max Min  Max FMEFSHFIF YR (BE(E)
0 7 2 13 8 23 — — — — COMBINATION CHARACTRISTIC LIST(REFERANCE)
0] 7 2 13 8 23 — — — —
0] 9 3 18 11 25 18 33 25 45
0 10 5 20 13 o8 20 36 o8 48 PSR {R¥52% ﬁﬁ‘j;&lﬁfg [i[Ea=8kd M= [EIER%RE
1 11 5 20 13 28 23 41 30 53 Inner And Outer Ring Cage Heat-Resistant Corrosion Resistance | Load Resistance Rotary Performance
1 1 6 20 15 33 28 46 40 84 Temperature
1 1 6 23 18 36 30 5] a5 73 Y=y Y=y PTFE 180T o N N
1 15 8 28 23 43 38 6] 55 90 ZrG2 ZrGe
1 15 10 30 25 51 46 71 65 105 JNa=r J)ha=r PEEK 560G o N A
HKMTIRET EEON 2102 2102
e JWaA=7 JaA=7 @, 400 o A A
Zr02 Zr02
BENERREREMZOS Y7 IV T EFE SSFaAFIEERZOS YT VAT EF BLTIR BLTIR PTFE 180C o o o
CLEARANGE Bfi7(Units)/um CLEARANCE B (Units)/um ggﬁg{\gi %{gg\g% PEEK 260C o) e) e)
i NI AR
PFUBEEPYE MC1 Mc2 MC3 MC4 | MC5 MC8 Ekr (% Etr1% L 800C o o o
No[r)“?;r;r?(lat%?re CM Si3N4 SiaN4
ik ik e ik . i = J)a=7 £ = % 5
d(mm) B BA | B0 BA| B\ BX | B BA B0 BA | B BX NI BT = PTFE 1800 o a o
= N - - Min Max | Min Max | Min Max | Min Max | Min Max | Min Max . -~
ZHBZ LIF =2 =78 JIa=7 Ebr15% PEEK 260C e) A 0
Over Incl Min Max 0 5 3 8 5 10 8 13 13 20 20 28 Zr02 SiaN4
ST r—— .
10¢20) 18 4 1 WE | RN TEEEMCITHD ZIa=7 SR =L 400C o a ®
18 30 5 12 2. 2 ZF a7 R (F SMRDOMmMEE — —
30 50 9 17 SUMEEHME(. HENOMMLLETHZAIRAN | OmmEiE LT 1% RIET 1% PTFE 180T o N A
50 80 12 22 SiC SiC
WES’Jigf ES F‘ﬁ(tsb_‘g( ES PEEK 260C o A A
. LT A& e 15% o B
I 1y — VRIE R gl e A 11000 - .
RUBBER SEAL PART NUMBER COMPARISON TABLE AT VDA ATV RAEhEH ° 5 o
SUS440C SUS440C SUSs04 150C “ © ©
A—h1— BTLY— ) I L)) REGRIDLMER | BRITILMER sPec 120C x o o
Manufacturer Contact Rubber Seals | Contactless Rubber Seals 7= PIL=F PTEE 180G o A A
KMT 2RS SRZ Al203 Al203 i}
- FIL=F ZIL=F « ~
NSK DD-DDU VV Al2Os Al203 PEEK 260C O = 4
NTN LLU LLB FZIL=F TIV=F mL 400C o) N A
NACHI 2NSE 2NKE sugﬁoc Sf*‘gm
| i o e
KOYO 2RS 2RU SUSA400 B3N SUS304 150T N () ()

B —)UZ (2RS) DEMEFZHELDFT,
Different companies have differences on the guantity of contact (2RS).




i

TECHNICAL SPECIFICATIONS

SIEMESE (BEE)

MATERIAL LIST(REFERANCE)

LSy IR (SEE)

CORROSION RESISTANCE OF CERAMIC(REFERANCE)

1 TvER%R |KUI-FI| KU Ruz0O ST = YLa=7 | Eera4= | mbrq=
f = G709 |7ty | Fes—| Euy | TYUTEE ! f e o 213- | i | o =
opic S T POM s PAGG iquid chemica r02 i3Na i
MHEHGRE C 1aRs -
Heat-resistant Temperature 180 260 110 100 100 Hydrochloric acid © - -
BE glom® | oqg 1.32 1.42 091 1.14 feEk o A o
Density Nitric acid
5 EREEE kef/om? | 140~350| 1000 620 280 850 i o o) o)
tensile strength Sulfuric acid
HUHER % - . b A o)
Flexural Strength Rate 200~400 20 40 200~700 60 Phosphoric acid - “ ~
Bh(F5&8E kgf/cm? . B N
Bendm;Strength 180 1730 910 420~560 970 Hydrofluoric acid x - o
BESRIFE  x105/C 5 5 9 " 9 KEHEFRUD L A A o
Thermal Expansion Coefficient Sodium hydroxide
MRk % KEEAUD L
Water Obsorption ) 001 05 oee 003 06 Potassium hydroxide - - -
REEFRUD L A A A
Sodium carbonate
THERFNUD L A A A
Sodium nitrate
Bk o o o
Seawater i}
) ERDRE REICIDFHFELDET,
B
GREASE
X—f1— ] #5558 i EHEMSE 40C| 5.5 | mREET Sk
Manufacturer Brand Thickener Base oil Bas\\/?gggg?tc;t\on Consistency | Use temperature Characteristic
— INEEEEDREEIU—X
T IFT SR-L UFIL BRI KR 26.0(mmz2/s) 250 -50~150 <KMT/\‘D‘7U§7F%2%7U—X>
JIFT SBF ILUT BRI KZH 47.6(mm2/s) 260 -40~200 BiRARANIT U2
QT T SB-M IBLF | aERkEsn | 47.6(mme/s) 220 -40~200 BRATU—A TSNTTYIHEG
T IVFTSL-F-1 UFIL BRRIEKERH 17(mm2/s) 325 -60~130 ERE THIU—X
FR[E)HEE [
Kyodo Yushi = N
QILFVTSLF-2 UFOL | BRs(bKZH 17 (mmz2/s) 280 -60~130 EEETRIU—A
RIWFVTET-100K | voLr7 | T-Fu%kams | 128(mm/s) 280 -40~200 | BEAREHII-X
TILFUT PS-1 (2) UFH /A ARRbkER 15.9(mm2/s) 320(275) -50~130 EEETAIU—X
TIFYFLRLNO3 | UF9L | IAFILRARH - 235 -50~160 BEBESFHIU—Z
. . o TEARRETU—R
TR 7)VINZ=7 S2 UFDIL b/ 131 (mmz2/s) 283 -25~120 KMTRP S5 T = N EE A1) — 2
at>~/T 7 ]
Showa Shell
i . P 5 TEARREIU—X
selv TIIN=7 S3 UFDL s 131 (mm?/s) 242 B0~180 | GMTRFUD A= U2
S o NSF-H1&RETU—2
TOTAL NEVASTON XS80 | JI4524. | & 80(mm?/s) 280 BE5~180 | (MTRF IR APUVIAZyNEEII—2)
Eabitd 5131 L200 PTEE Sy 200(mm?/s) 280 60~250 | BEAIU—X
Daikin -
THK AFE-CA L7 N 99(mma/s) 280 -40~180 ERES— T —2

R7UHI 1=y DFEE
NFPUVHT 1w NEEG. JISB 1558 (Eh0sha-1 Y —hels) R UOJISB 1559 (Eh D Ens-4 >~ H —Nsis5E)

RIBICEUTVETD,
PRECISION OF BEARING UNITS

Bearing units precision follows a standard of JISB1558(Rolling bearings-insert bearings) and JISB1559(Rolling bearings-insert

bearings)

NEDFFAERUFFEE

TOLERANCE AND ALLOWANCE LIMIT FOR INNER RING

BT (Units)/um
N R T R T A b o R ARORLED . = o i
FFUSEAE FEATOINEOTEE | FENNETRE Ep =i et MERIED S RROS Y7 ILOEN
Nominal Bore Deviation Of Mean Variation Of Bore Deviation Of Deviation Of Radial Runout
Diameter Bore Diameter In Diameter In Eccentricity Of Eccentric A Single Inner Of Inner Ring Of
A Single Plane A Single Plane Face Of Inner Ring Ring Width Assembled Bearing
d(mm) Admp Vdsp AHs 4Bs Kia
ZBZ UTF + F BA + T s T BRA
Over Incl High Low Max High Low High Low Max
10 18 +156 0 10 +100 -100 0 -120 15
18 31.75 +18 0 12 +100 -100 0 -120 18
31.75 50.8 +21 o] 14 +100 -100 0 -120 20
50.8 80 +24 o] 16 +100 -100 0 -1560 25
80 120 +28 o] 19 +100 -100 0 -200 30
120 180 +33 0 22 +100 -100 0 -250 35
Shes NSr2e
NmDFEENUFTHIE
TOLERANCE AND ALLOWANCE LIMIT FOR OUTER RING
{7 (Units) /um
FUBENE TSRO TSR HBOS YT VRN

Nominal Outside
Diameter

D(mm)

80 120
120 150
150 180
180 250
250 315

Deviation Of Mean
Outside Diameter

Radial Runout Of
Outside Ring Of
Assembled Bearing

ADm Kea
£ F BX
High Low Max
o] -9 15
0 -1 20
o] -13 25
o] -156 35
o] -18 40
o] -25 45
o] -30 50
o] -35 60

2 DEIAMZ EEERDTEIE

TOLERANCE OF HOUSINGS

BA{i7 (Units)/um
RIRENSZEED BRREZ EE D FEAFIAR DT EE
FUER Deviation Of Mean Bore Diameter In A Single Plane
N T & Of Spherical Bearing Seating
ominal Diameter
Spherical Bearing 4Dam
Seating A = A = AS =
REFISZA H7 REHISR J7 NEH ISR K7
Da(mm) Tolerance Range Class Tolerance Range Class Tolerance Range Class
+ F + T + T
High Low High Low High Low
+21 o] +12 -9 +6 -15
+25 o] +14 -11 +7 -18
+30 o] +18 -12 +9 21
80 120 +35 o] +22 -13 +10 -25
120 180 +40 o] +26 -14 +12 -28
180 250 +46 0 +30 -16 +13 -33
250 3156 +52 0 +36 -16 +16 -36
#Z)KMTCTIZJ7%ZEH. Note)KMT basically use J7.




i

HREH{iE

VIBRATION VALUE

TECHNICAL SPECIFICATIONS

IS FE DS IRENINERE (FUNIV)E [UB/T7047-2006]
MECHANICAL PROPERTY OF INSERT BEARING BOX VIBRATION ACCELERATION VALUE o
B{i7 (Units)/dB
R FHEELKER GRAY CAST IRON PRODUCT PR EERFI0 EER5I2 EERSI3
(mm) (6869 BOF5I) (62%51) (B3%51)
] g i 5 SR Edad Bore Diameter
St S Tensile Strength|  Hardness (rm) z |z1|z2|z3|za |zP3|zPa| z | z1 | z2 | z3 | z4 |zP3|zPa| z | z1 | z2 | z3 | za |zP3 | zPa4
N/mm? HB 3 35|34 | 32|28 | 24|44 40| 36| 35| 32|30| 26|46 42|37 |36|33|31|27]|47 |43
Jis FC200 200BLE 223 T 4 35| 34|32 e8| 244440 36 3532|3026 464237363331 |27]47]43
cB HT200 20011£ 223uF 5 37| 3|34 3026|4642 38 3734|3228 484439 |37|35]33|29]49]45
6 37| 3|34 3026|4642 3837343228 484439 |37|35]33|29]49]45
7 3938|3531 27474340 3836|3429 504541393735 |30]51]|46
FEREE YA HANR ZINC ALLOY DIE-CAST PRODUCT 8 3938|3531 27474340 3836|3429 504541 |39]37]35|30]51 |46
o —— - 9 414036 | 3228|4844 42040373530 5146|4341 39|37]32]|53] 48
B B S | aicstength|  Hardness 10 | 43|42 | 38|33 |28 | 49| 44| 44 | 42| 39| 35 | 30| 51 | 46 | 46 | 44 | 40 | 37 | 32 | 63 | 48
Standard Syl N/mmz HB 12 | 44 | 43| 39| 34 | 29| 50 | 45 | 45| 43 | 39| 35 | 30 | 51 | 46 | 47 | 45 | 40 | 37 | 32 | 63 | 48
s . 085 o 15 |45 | 4440 35| 30|51 46| 46| 4441|3631 52| 47|48 46| 42|38 33|54 ] 49
B 7ZnAL4 285 82 17 |46 | 4440 3530|5146 4745413631 5247|4947 42|38 33|54 ] 49
20 |47 4541|3631 | 524748 46| 42| 3833|5449 50|48 |43]39] 34 ]55] 50
22 | 47454136 |31 |52 |47 |48 | 46| 42| 38|33 54| 49| 50| 48| 43|39 34|55 ] 50
2F VLRSS, STANLESS STEEL CAST STEEL PRODUCT o5 |48 | 46| 42|38 3454|5049 474340 36|56 525149444137 ]57]53
- 28 |49 |47 43|39 35|55 | 5150|4844 4137|5753 6525045 42| 38]|58] 54
0o 2 = Yield"g?emgm Tenziﬁgifngth Eb‘ﬂ“‘;‘:ﬂon Haﬁfiss 30 |49 |47 | 43|39 | 35|66 |51 | 60| 48| 44| 41 | 37 | 67| 53 | 52 | 50 | 45 | 42 | 38 | 58 | 54
Standard Symbol . Iy o B 32 |50 48] 44|40 36|56 |52 51 49| 45| 42| 38| 58| 54|53 51|46 43| 39|59 ] 55
s oo — b onLt R 35 | 514945413757 |53 |52 50| 46| 4339|5955 |54 ]|52|47]44]| 40 60] 56
. oo i - AAObLL oLt 8T 40 | 53|51 |46 | 42| 38|58 54| 64| 5247444060 56|56 5449454161 |57
45 | 55| 53|48 45| 42|61 | 58| 56|54 49|46 43 62| 59|58 56|51 |47 446360
50 |57 |54|50|47 4463|6058 55|51 |48 45|64 |61 |60]|57|53]|49]| 4665 ] 62
W ~ U
FALIVDANTVUIY oiiess Berrines IRENEE(PY50Y){E [UB/T10187-20111]
HEFRIHESEIELNZE  RECOMMENDED VIBRATION VELOGITY VALUE 84t (Units)/um/s
424\ ’
Nov s R nsroe [ % ve va va vea vea
Housing Inner —ixF (&R —fh%F (&) StEER ‘
Generallhieavyilaad) General(Light Load) hilehlRiecision e Deter BaLnd Bgﬁd B;nd Balfnd Bglrl1d B:nd Belfnd Bglrl1d Bg:wd BaLnd Bglrlm B;nd BaLnd BaMnd B:nd BaLnd 82/r|1d B:nd B.:-Ii_nd Bglrlm Bg:wd
H7 a8 e’ i 80 | 44 | 44 |60 | 35 | 32 |48 | 26 |22 | 31 |16 | 15| 28 | 10| 10 |100| 60 | 60 | 90 | 45 | 45
80|44 |44 60|35 | 3248|2622 31 16] 1528 10/ 10]100] 60|60 90 45| 45
110 72160 7448|4058 363035 21183211 ] 11115/ 85] 70 |100] 50| 50
{EFEEFE  RanGE OF USE 10| 72160 74| 48|40 58] 36|30 35|21 183211 ] 11115/ 85] 70 |100] 50| 50
NSESEEP | HORSEEV | NSEEPVIE | GEESEEC | BARe | xne e ke | g 130,96 | 80 | 92 | 66154 72 1 48 | 40 444128 24138 1212 1451115 95 120} 55 1 55
Maximum Pressure | Maximum Speed Of Permission | Maximum Pv Of Permission |Range Of Operating Temperature | Lubrication Condition | In The Atmosphere In Water In Seawater | InMedicinal Solution 130 96 | 80 | 92 | 66 | B4 | 72 | 48 | 40 | 44 | 28 | 24 | 38 | 12 12 1145|115] 95 | 120| 55 | 55
29(296)N/mm? BB 0.5m/s A/ 1.66N/mm? -40~+300 Fiepe O X X X 130 96 | 80 | 92 | 66 | 54 | 72| 48 | 40| 44 | 28 | 24 | 38| 12 | 12 |145|115| 95 | 120| 55 | 55
#%150(1530) TR 1.00m/s | AR 3.25N/mm? | -40~+150 ERR o x x x 160]120]100]120] 80| 70 | 90| 60 | 50 | 55 | 35 | 30 | 45 | 14 | 15 [180] 145|120 145] 65 | 70
*BNFEEL S CEVEE CEIT SEOFSETERT 160]120]100]120] 80| 70 | 90| 60 | 50| 55 | 35 | 30 | 45 | 14 | 15 [180]145]120|145] 65 | 70
% STATIC PRESSURE:the static pressure when it slides at a very low speed. 21011501120/ 150]100| 85 | 110 78 80 685 46 35 52 18 18 12151190/ 140|165/ 85 a5
210[150]120]150]100| 85 [110] 78 | 60 | 65 | 46 | 35 | 52 | 25 | 25 |215]190] 140|165/ 115|115
- _ 260]190]150]180]125|100]130]100] 75 | 80 | 60 | 45 | 60 | 25 | 25 |280|285/ 215|215/ 115|115
RAVRIGHIHE  HioH STRENGTH BRASS 260|190| 150| 180|125|100| 130|100| 75 | 80 | 60 | 46 | 60 | 30 | 32 |280|285| 215|215 145| 166
1ESRL53 (%) 260/190|150|180|125|100|130|100| 75 | 80 | B0 | 45 | B0 | 30 | 32 |280|285|215/215| 145|155
- = SR GonenEie) 260|190| 150| 180|125/ 100|130/ 100| 75 | 80 | 60 | 45 | 60 | 35 | 40 |280|285|215|215| 170| 190
—— il RS 300 240[190]200| 150| 130|150 120[100| 90 | 75 | 60 | 70 | 35 | 40 |325|360|290|250| 170|190
jor Component Residual Component
300]240]190]200]150|130]150] 120|100 90 | 75 | 60 | 70 | 35 | 40 | 325|360] 290|250 170] 190
Cu Zn Fe Al Mn Sn Pb Ni Si 300|240/ 190|200/ 150|130] 150| 120|100 90 | 75 | 60 | 70 | 42 | 45 |325|360|290|250|200|215
Jis ot | 800~650 | 220~280 | 20~40 | 50~75 | 25~50 0.2 02 05 0.1 360|300 260|240 180| 160| 180| 160| 130| 110| 90 | 80 | 82 | 50 | 50 |400|430|385|295| 240|240
CUZnEEAR 360]300|260]240]180|160] 180] 150|130]110| 90 | 80 | 82 | 60 | 60 |400|430] 385 295 290 290
cB Feaun3 | 60.0~660 | 220~280 | 20~40 50~75 25~50 02 0.2 10 01 420]320|320|280] 200]200]210] 160| 160] 125 100]100] 95 | 70 | 70 | 450] 480|480 340|335] 335




RFaT7//MEFMZRIEMER

MINIATURE/SMALL BALL BEARING PART NUMBER COMPARISON TABLE

W7 S>3,/ WITH FLANGED OUTER RING

A

A

A7)y M MIBIER

BEARING UNIT PART NUMBER COMPARISON TABLE

BN7YU2J1=w, BEARING UNITS

e IKIMT NMB NTN NSK el IKMT NMB NTN NSK
MR63ZZ | L6302 WA673SSA | MR63ZZ MF63ZZ | LF-6302Z FLWA673SSA | MF63ZZ
68322 L-7302Z W683ZZA 683AZZ F683ZZ | LF-7302Z FLW683ZZA | F683AZZ

4 | 6932z R-8302Z W6932Z 69322 5 | F693ZZ | RF-8307Z | FLW693ZZ | F69322
MR93ZZ | R930ZZY04 | WBC3-9ZZA | MR93ZZ MF93ZZ | RF-930ZZY04 | FLAWBC3-92ZA | MF932Z
60322 R-9302Z W6032Z 60322 F603ZZ | RF-930ZZ | FLW603ZZ | F603ZZ
62322 R-10302Z 62372 62372 F623ZZ | RF-1030ZZ | FL623ZZ F6237Z
MR74ZZ | L-7402Z WAB74ASSA | MR742Z MF74ZZ | LF-7402Z FLWA674ASSA | MF742Z
MR84ZZ | L-8407Z WBC4-82Z | MR84zZ MF84ZZ | LF-840ZZ FLWBC4-8ZZ | MF84zz
68422 194022 WBB4AXS0ZZ | 684AZZ F684ZZ | LF-9402Z FLWBB4AX502Z | F684zZ

4 | MR104ZZ | L1040X27Z | WBC4-102Z | MR104822 4 |_MF1042Z | LF-10402Z | FLAWBC4-107Z | MF10482Z
69422 R-11402Z 69472 69422 F694ZZ | RF-1140ZZ | FL694ZZ F6942Z
60422 R-1240KK1 | 6047Z 60422 F604ZZ | RF-12407Z | FL604ZZ F6042Z
62422 R-1340HH 62422 62422 F624ZZ | RF-13407Z | FL6247Z F6242Z
63422 R-1640HH 63422 634221 — — — —
MR85ZZ | L-8502Z WA6752Z MR85ZZ MF85ZZ | LF-8502Z FLWA675ZZ | MF85ZZ
MR95ZZ | L-9502Z WBC5-92Z | MR5ZZ1 MF95ZZ | LF-9502Z FLWBC5-9ZZ | MF95ZZ1
MR105ZZ | L-10502Z WBC5102Z | MR1052Z MF105ZZ | LF-1050ZZ | FLAWBC5-10ZZ | MF1052Z
MR1152Z | L-115022Y04 | WBC5-11ZZ | MR1152Z MF1152Z — FLWBC5-112Z -

5 | 6852z L-11502Z W6852Z 68522 5 | F685ZZ | LF-1150ZZ | FLWG85ZZ | F6852Z
69522 R-13502Z 69522 69522 F695ZZ | RF-1350ZZ | FL6952Z F6952Z
60522 R-14502Z 60522 60522 F605ZZ | RF-14507Z | FL605ZZ F6052Z
625Z2Z R-1650HH 62527 625771 — - — -
63522 R-19502Z 63522 635221 — — - —
MR106ZZ | L-10602Z WAB76AZZ | MR106ZZ1 MF106ZZ | LF-1060ZZ | FLWAB76AZZ | MF106ZZ1
MR1262Z | L-12602Z WBC6-12ZZ | MR1267Z MF126ZZ | LF-1260ZZ | FLAWBC6-12ZZ | MF1262Z
68622 L-13602Z W6862Z 686AZZ F686ZZ | LF-1360ZZ | FLWG86ZZ | F686AZZ

6 | 69622 R-1560X13KK | 6962Z 696221 6 | F696ZZ | RF-1560ZZ | FL696ZZ F696Z2Z1
60622 R-1760X22Z | 6062Z 6062Z F606ZZ | RF-1760X2ZZ | FL606ZZ F6062Z
62622 R-19602Z 62622 626221 — — — —
63622 - - 63622 — — — —
MR1172Z | L-1170ZZ WA6772Z MR1172Z — — - —
MR137ZZ | L-13702Z WBC7-132Z | MR1372Z — — — —

, | 6872z L-1470KK W687AZZ 687221 | F687zz | LF-14702Z | FLWGBTAZZ | Fe87221
69722 - 69722 697221 F6972Z — FL6972Z F6972Z1
60722 R-19702Z 60722 607221 F607ZZ | RF-19702Z — F607ZZ1
62727 R-2270HH 62722 62722 F627ZZ RF-2270HH — F62727
MR1282Z | L-1280ZZ W678AZZ MR128ZZ1 MF128ZZ | LF-1280ZZ | FLAWB78AZZ | MF128ZZ1
MR1482Z | L-1480ZZ WBCB-14ZZ | MR148ZZ MF148ZZ | LF-1480ZZ | FLWBCS-14ZZ | MF1482Z

g | 68822 L-1680HH W688AZZ 688AZZ1 g | F6882Z | LF-1680HH | FLW6BBAZZ | FossAzz
69822 R-1980KK 69822 69822 F698ZZ | RF-1980ZZ | FL698ZZ F698ZZ
60822 R-2280HH 6082Z 6082Z F608ZZ | RF-2280HH | FL608ZZ F6082Z
62822 - 62822 62822 — — - -
68922 L-17902Z We689ZZ 689221 F689ZZ | LF-1790ZZ | FLWG89ZZ | F689ZZt

g | 6992z L-2090KK 69922 699221 g | F6992Z — - F699ZZ1
60922 60922 60922 60922 F609ZZ — — —
62927 — 629X5027 62977 — - - -

IKMT FYH NTN ASAHI
. . UCP UcpP UcP UCP
EO0—f1=wvb riLLowuNTs
UCPA UCPA UCUP UCPA
OUT7S/IR21=wbh RHOMBUS FLANGED UNITS UCFL UCFL UCFL UCFL
ATJSVIR1=wYM sauARE FLANGED UNITS UCF UCF UCF UCF
A Y —NEl5F  INSERT BEARINGS uc uc uc uc
BATVUVA XFPUVT LW/ STAINLESS BEARING UNITS
IKMT FYH NTN ASAHI
. . SUCP UCSP F-UCPM MUCP
EO0—FI1=vh pPiLLowuNITS
SUCPA UCSPA — MUCPA
OULISVIR,I1=wbd RHOMBUS FLANGED UNITS SUCFL UCSFL F-UCFM MUCFL
ATJSVIR1=YM sauARE FLANGED UNITS SUCF UCSF — MUCF
A Y —PMESF  INSERT BEARINGS ssuc uc-s6 — MUC
WEEERRT YU 1 =Y,/ LIGHT BEARING UNITS
IKMT FYH NTN ASAHI
ROADS—914T uP I I §]=}
ro—mi=vk ECCENTRIC COLOR TYPE
PILLOW UNITS ERUy17 —
SET SCREW TYPE KP up KP
_ s 1E'E\735_9’(7 UFL _ _ UFL
OUTS>/3¥R21=wh | ECCENTRIC COLOR TYPE
RHOMBUS FLANGED UNITS | [FRUY 4T L
SET SCREW TYPE KFL UFL KFL
RDOHS—514T _ _
A Y — NS ECCENTRIC COLOR TYPE v UFER
INSERT BEARINGS RIS K sU L K
SET SCREW TYPE
BEEWRATVUVRA NXFPU4 1= /LIGHT STAINLESS BEARING UNITS
IKMT FYH NTN ASAHI
ROHS—5147 _ _
ro—wi=vh ECCENTRIC COLOR TYPE sup MUP
PILLOW UNITS IERUY1 7 ) _ .
SET SCREW TYPE SKP USP-S6
ROHS—514F _ _
OUTIS/3IR21=wh | ECCENTRIC COLOR TYPE SUFL MUFL
RHOMBUS FLANGED UNITS | [FRUY4A T L _
SET SCREW TYPE SKFL USFL-S6
ROHS—9147 _ _
A Y — sz ECCENTRIC COLOR TYPE su MU+ER
INSERT BEARINGS RIS sK . L L

SET SCREW TYPE




PRTSEHH T ERE

BERTH7VEE[LHHL 1i/um
ey HOLREBRISA B EDE fH(mm) BORBET 52
* EEL BT &5 6 Js7 k5 kG mS5 m& ns né p6 ré 56 i3 ub x6
FED & LEDESD
LA a3 3 i 5 i v 1B B 8 8 | +10 12 18 20 w24 | 426
HE _4__:15 h& is5 k5 m_E_: g i 0 +2 +2 4 +4 +B +10 +14 +18 | +20
6 | gb W | is6 | k6 | mb ne p6 - - s s e i v 8 | +12 | +13 | +18 +20 23 27 +31 | 436
. - : ' ' +1 +1 +4 #4 +8 +8 +12 +15 +19 +23 +28
r -
H7 & ab h& is6 k& m& nG p6 r6 56 t6 ue *6 5 = = a T 7 +10 | 12 | #15 | +16 | +i9 24 +28 +32 ) +37 | +43
er f7 h7 | is7 sk i +1 +1 +B +6 | +10 | <10 +15 +19 +23 +28 | +34
f7 h& 10 14 +51
i 5 o +8 | +12 | 415 | +18 | +20 | +23 +29 | +34 +38 w44 | 40
He eB | f8 ho = = e 2N | | | 7| 2| az2| | s2a| s +33 [258
dg | e3 w5
54 +87
dg el ha 1 4 g *
he g < i 65 | s105 | *11 | ¥18 | 17| s21 | s24 | s28 +35 +ih] +48 +41 | 454
c2 | d9 | e2 h9 = % - i Pl sz | 42| B @ a5 | a5 | sz2 | +2m | 435 w54 | +61 | +77
HID | b9 | c@ | a9 . | _ _ +41 | 448 | 464
a0 a0 +54 +/8
spsroe n , k oe | ¥13 | +18 | 420 | 25 | 428 | 433 | 42 | 450 | 450 | +48 | 460
WENDEFEE BT/ um - = 55 28 | =125 5 2 -8 < 17 +17 +2E +34 43 70 T
BEWTEOE S mm) ROLERTSA +54 | +70
EHA LT b9 | 8 | dB8 | 49 o7 ] ] [ 7 & g5 | g6 | h5 | h6 [ h7 | hB hg +E0 72 +B5 | +106
. - <40 | B0 [ 20 [ 20 [ -4 | -14 | 14 -6 -6 €| 2| 2| o o of o© C 5 o | #15 | +21 | +24 | 430 | 433 | 439 | 45 41 | 483 | 488 | 487
-185 -85 -34 45 24 -28 -39 -1z -18 20 . 8 -4 5| <10 | -14 25 6.5 8.5 £15 2 p h ; - i =
: - 2 . o 85 80 e v 1 11 «20 +20 +32 +52 +7B +04 +121
3 s 140 | 70| 30| s0] -20] 20 20| w0 0| 0| 4] -4 0 0 o o 0 +43 +EG +75 | +1002
170 | -100 28 B0 32 38 50 18 22 28 g | 12 5 g | 12| 8 30 <73 s T | e
-50 | 80 | w0 | w0 | 25| 25| 25| az| az| az| 5| =5 o o 0 o 0 ag 100 . e ; 5
- +5 +51 71 g1 124
& 0 | e | e | 62| 76| w0 | «7| 1| 22| 28| 5| 1| 4| 6| o 5| 22| -3 £75 |+ | £175 +1§ *fg f‘:‘ :‘?g :g *;; 1? = :m :26 ‘];B .
- = *3 - + + +
10 14 =150 -85 -50 -50 -32 -32 =32 =16 =16 =16 -6 - V] 1] 1] o o 100 120 54 78 | 4104 o144
14 18 -193 | -138 -77 -93 -50 -59 75 | -27 -34 43 | 14 | <17 B | -0 [ -18 | -2 43 28 ny 147
- + +
18 24 60 | 1o | es5 | 85| -e0| w0 | wo| 20| 20| 2| 7| 7 o o o o o 120 140 53 | sm2 | w123
24 30 212 -162 -O8 =117 61 -73 -4z -33 =41 -53 -16 -1 -5 =13 =21 -33 s <
—— ! ! io Yot ooy P a2g | *2) | +28 | +33 | 40 +52 +BB +80 | +125 | +180
a0 ag | 17O | 120 i i . : . 43| 43| 415 | 415 s27 | w43 | 485 | 4100 | 4134
232 | -2 | a0 | @0 | w0 | w0 | B0 | 25| 25| 25| & | @ 0 o 0 0 53 33 T
180 | 130 | 119 | -4z 75 a8 | -2 41 50 €4 | 20 | -25 | ;11 | -6 | 25 | -30 52 160 180 ' oy '
e - 242 | -182 +88 | +108 | +148
&0 o -180 | -140 180 200 +106 | »18
264 | 214 | ;00 | 00| 60| 0| e | 30| =w0| @w| 0|6 o o o o o +17 | +iZe
200 | -150 | -146 | -174 90 | -106 | -134 49 60 6 | 23| 2a | 3| 19| -an | s 74 o " +24 | +33 | +37 | 446 | =0 +79 | #1089 | +159
65 80 | 0. | 204 £00 i | =as 23| | 4 | a7 | w17 +31 | +50 | 80 | +120
220 | 170 +113 | +168
225 250
= LS 307 | <257 | 120 | 120 72 72 72 T KT ag | 12 | a1z ] 0 0 o o #84 | +140
240 | 180 | <174 | 207 | <07 | 126 | -159 | B8 | T gn | -27 | .34 | 15 | 22 | -35 | 54 | &7 +126
100 | 120 | 57 | 267 F 20 1 ans | s | was | #27 | 38 | va3 | sz 86 | 28 | +94
260 200 ’ h h i +4 | +20 | +20 +34 +58 | +130
120 140 | SO | oo 280 315 .28
280 | 210 | -145 | -145 B85 -85 85 43 43 | 43| 14 | 14 ] 0 a ] 0 L144
LA 180 | 380 | 310 | 208 | 245 | 125 | 148 | 185 | 68 | 83 | 06 | 22 | 38 | a8 | 25 | <0 | 63 | -100 215 355 o0 | san | <46 | s57 73 | .o | s108
160 180 | 319 | 230 = = Hzs B #2851 4| | 21 | s2 +37 | +82 [is0
<410 | -330 +114
340 | -240 :
s 200 | 455 | -ass 1 i 32 | +45 | 450 | +63 go | +108 nze
380 | 260 | <70 | 70 | <100 | <00 | w0 | w0 | S0 | S0 | 15 | 15 o 0o 0 o 0 £135 20 | 21 | ¢t buicitl i v - g 5 - "
200 225 - e - : . - . +5 5 +23 +23 +40 +BB [ 4172
485 | 375 | 242 | 285 | <148 | 72 | 25| 7a | wes | 122 | 35 | a4 | 20 | 28 | <6 | 72 | <118 450 500 e
=i 21 =2R0
— 290 | 535 | .avs
<480 | -300
250 280
€10 | 430 | 80 | <180 | <m0 | a0 | 0| s | se | w6 | a7 | 17 o o 0 o o
T a15 | 590 | 330 | 271 | 220 | 62z | 4191 | 240 | 88 | <108 | 137 | 40 | <8 | 23 | 32 | 52 | 81 [ 130
670 | -480
600 | -380
315 355
a0 | 500 | 210 | 210 | <125 | <125 | s | e2 | E2 | 62| -8 | -8 o o o 0 o
ga0 | 400 | 299 | 350 | sz | o214 | -2es | o8 | -7 | 181 | 43 | 54 | 28 | -38 | 57 | -89 | -140
e 400 | g20 | .s40
760 | -440
4
oL 50 | 915 | 595 | 230 | 230 | <135 | <135 | 35 | es | s | 8| -20 | -20 o o a o 0
e o ga0 | a0 | 327 | 285 | -1es | 23z | -z | tos | 13 | es | 47 | 60 | 27 | -40 | 83 | a7 | -188
B85 | -635




PRTSEHH T ERE

BERATEEEEIHSHN 8i1/um
» OLERETSR R EOES (mm) ROREHIFA
3 TEEED R LEDESD EHR BUF Js6 | Js7 [ ke | k7 [ M6 [mz [ ne [ N7 [P [ P | R7Z | s7 [ 17 | ur | x7
hE HE JSE KE ME‘ NE PE = 3 13 15 E' :.:' ‘E -z -} =il '5 -5 - H] - |4 y - I B vEU
| | | -6 -10 -8 I =12 =10 =14 | -12 =16 -20 =24 | =28 -3|;r_
HE F6 | G6 | H6 | JS6 | K6 | M6 | N6 | P6 P s| 2| B[ o| 5| 4| 9 B8 11| s 19 | 24
F7 G7 H7 J57 KT M7 M7 PT RT s7 T7 U7 X 3 6 = - ] 8 .0 12 13 16 17 .20 29 a7 g 2] 25
EV F7 HT +2 +5 -3 4] -7 -4 -12 -8 -13 =17 -22 -28
ni Fa HE 8 19 #5 ) 75| S| 0|z | a5 | 16| 9| 21| 2a| 28| .32 " | dar]
=33
Dg EB Fa H&
ha : 1 L 14 1 .55 5 +2 +6 -4 1] -8 5 | -15 =11 -16 21 26 | -51
(nls] EQ Ha ’ -9 -12 =15 -18 =20 =23 ~26 =20 -34 -39 -4 -38
D8 | E8 H8 14 18 56
hg ca (]2 ESQ HS 18 24 ) -33 | 45
B10 C10 Do LBE e +2 +& -4 ol -n -7 | -18 =14 -20 -27 -54 | -67
s % M| as | ar | a1 | 24| 28 | -3 35 41 48 33 40 | 58
24 20 -54 =61 =77
W\DIVIRDTEHFEE 4i/um [ = [ 0 M ) i ag | -5 i
WS EOE S (mm) ROBEBRI A +3 +7 -4 ol -12 A | =21 =17 -25 34 G4 ]
EHA KF Bl1O ceé | Clo Da o8 oo ET EB ES F& F7 Fa G | GT HE H7 Ha Ha H10 28 x125 -13 18 -2} e o 28 =33 a7 47 50 59 45 51
3 « 180 85 | +100 »34 T3 T »24 -2B +39 +12 +16 +20 +8 | +12 w8 | +10 | #14 *25 =40 40 50 70 85
+140 60 | 0| 20| 20| 20| s1a| 4| s o o | s2] w2 o 0 o o 0 a
4 i <188 | <100 | =118 ~18 +£0 | <78 32 +38 +50 +18 +22 28 | 12 | +16 + | 12 | +i8 +30 T 50 85 =30 =42 =55 =76
+ 140 =T +T0 w30 =3 w3 #20 =20 +20 «10 +10 +10 v -4 3] o L] o o a5 15 +4 +8 -5 0 14 -4 26 21 B0 72 -H5 -1086
+208 16 | o138 | o6 | o7 | «08 | 40 | <47 | B $22 | +2B | 35 | +14 | #20 | +8 | +15 | 22 | +38 | =bE i = = £ E & s - -
& 0 80 | 0| 80| 20| 0| 20| m| s2s| | o3| a2 13| =] =) o]l ol o o o 65 80 -5 | -21 | -24 | -30 | -33 | -39 | 45 -51 32 -48 -64 -9
0 14 220 | <138 | +185 | +77 | +93 | +120 | B0 | <53 | +75 | <27 | +34 | 43 | +17 | +24 | <11 | 418 | +27 | +43 | -0 g2 78 84 | -121
"4 18 +150 o5 | o8 | 50| 50| 80 | sm2 | s3] 43| 46| 16| 406 | 48| 8 o 0 o o 0 _3g _5g F8 | -111
18 24 s2a4 | +162 | <180 | sma | 41T | 4vam [ #B1 | +73 | 482 | 433 | 41 | <53 | 420 | 426 [ #13 | 420 | <33 | +52 | +B4 0 100 i i v} +10 . 0| -16 | -10 | -30 -24 -13 93 [ -113 [ -146
24 30 .?:j :‘2 .?;2 +65 «B5 «E5 #A0 aAD T Ty] +20 «20 +20 +7 7 1] o 4] 1] 4] o = 1 +17.5 18 25 58 35 g 45 52 50 21 o6 o1 30 -
= e 170 | 4120 | 2120 | o119 | w14z | o120 [ o7 | g [ oz | et | smo| ea | vz | 3| cre ]| s2m| w20 | o2 | w00 - | _-T& | 100 | 126 | -16B |
«280 | <192 230 =R =By R o] <50 =50 450 +£5 +25 +25 +3 +8 o ] o 1+] L] -8 77 =107
a0 50 - o e
180 | +130 | w120 120 140 e adim | s
= = +310 | <214 | +260 :
+190 | +140 | «140 | 126 | s1ma | 4220 | om0 | o086 | 4124 | edn | o8O | a7e | s29 | 440 | 10 | 420 | a8 | a7a | 4120 140 160 +125 +30 +1 | +12 - 0| 20 | 12 | & =28 -50 a5 | -118
23 a0 «220 | 224 | «270 | <000 | 4100 | +100 +50 +B0 +50 +30 +30 +30 | +10 | +10 o 0 o o L) ) =1 -28 =33 -4 =45 =52 =61 -G8 -30 =125 =158
«200 | «150 | «150
-53 -93 =131
4360 | +257 | +310 160 180 =
a 190 | 220 | <170 | w70 | orra | w207 | szeo | oror | crze | cama | esm | emr | om0 | eaa | ear | o2z | sas | ema | sar | cran b 93 | 133 | 171
7380 | +267 | »320 | <120 | #1020 | #120 | s7E | sv2 | sv2 | 436 | 36 | 436 | 412 | 412 [ 0 o o o B0 | -108
w0 | 120 | L | Liso | wieo 180 200 106 | -151
adb ) & 300 L ol
T | n| 180 | | e - — | 3| B 13| € o| 22| 14|41 a3 83| -1
= S w40 | <310 | +370 | +208 | +245 | 4305 | +125 | <148 | +185 +EE #B3 | +106 | +39 | +B4 | +25 | +40 | #63 | 4100 | 160 ’ 24 -33 =37 -46 -51 =60 =70 =79 =109 =158
280 | 5210 | «210 | o148 | 4148 | 4148 | om5 | <BS | sm8 | w43 | ed3 | 3 | 412 | 424 o 0o o o o 57 | -123
AT0 | +230 | 390 225 250
| L +310 | +230 | 230 : 4 '“3 -169
4625 | +355 | «425 74
o i e o [t 2 285 1 T2 ] af, 22 % 72 1 Bt = e =16 *26 hind 15 G2 d a3 “14 i 98 =Ll
2505 s3T5 =445 a742 4285 4308 il #17 +215 #TH 486 1 sl 61 &g 4420 &j #1115 +188 - - - -
200 228 | 50 | iz60 | <20 | 170 | 4170 | 4170 | 4100 | <100 | <100 | 40 | 50 | sso | 415 | ws| o of o 5 o — o 27| 3 | 41 | 52 | 57 | 66 | -79 &8 7
225 geg. | Y005 | 430G | 4ES -130
420 | <280 | 280 -87
50 | 430 | <510 315 3565
i =0 480 | +300 | <300 | o271 | 4220 | w400 | s162 | o100 | 4240 | emE | 08 | w127 | 4 | se8 | s22 | 482 | «@1 | 4130 | s210 +18 | +285 *z'; +E ':; .—? ES ;g g;_ 'g“; =144
[T o750 | +a60 | +5a0 | +190 | +190 | +180 | #n0 [ +n10 | 2100 | 456 | 56 | <56 | 417 | w7 o o o o o < : -5 & . o a3
280 ks 540 | 330 | .30 355 400 150
«B30 & Sy + 500
B i 600 | +360 | +360 | 200 | +a50 | w440 | crm2 | szia | w285 | s28 | #1089 | 2181 | e5a | 475 | s38 | 457 | e89 | +140 | w230 400 450 -t?&
258 & e SO0 | <520 | +630 | +210 | «2i0 | s2i0 | 4128 | 128 | 4125 +BE +62 | B2 | +18 | 418 o o o o o s30 | s318 +2 | +18 | -10 0 27 -17 -565 -45 -166 ) ) ) X
o880 | +400 | d00 ' : 32 45 | B0 | B3 | 67 | @0 | 98 | 208 [ 00
400 4KD 41010 | +505 | 850 450 500 st
4760 | +aa0 | o440 | w327 | 4358 | e4m0 | e1o@ | 232 | 4200 | 108 | 4130 | #1865 | +50 | «83 | e40 | s83 | <87 | 4155 | -250
+1000 | <635 | +730 | +230 | +230 | +230 | #1385 | 135 | 4135 | sm8 | 458 | 88 | s20 | s20 o 0 o 0 o
460 500 prorry o] iy




XD HUVETNDIEIR uis B 0401-1:2016 £yt

BJISTHRETHNEETO. [FhHIHUVIRRE

—

- HWAEIFR
FERIED FRIESD LEVIED
H6 g5 h5 jsb k5 m5 n5 p5
H7 f6 | g6 | h6 | js6 | k6 | m6 | n6 6 | 6 | 6 | 6 | u6 | x6
H8 e7 f7 h7 js7 K7 m7 s7 u7
8 | e8 | f8 h8
Ho 8 | e8 | f8 h8
H10 | b9 | c9 | d9 | e9 ho
H11 b11 cli d10 h10
BJISTHIBITIEELETO. [FHHULVIKEE
o RAEIFR
ot TEEED FRIED LEVIED
h5 G6 | H6 | JS6 | K6 | M6 N6 | P6
h6 F7 G7 H7 JS7 K7 M7 N7 P7 R7 S7 T7 u7 X7
h7 E8 F8 H8
h8 D9 | E9 | Fo HO
E8 F8 H8
ho D9 | E9 | F9 HO
B11 C10 D10 H10
HEHBLDBOBADEREL. TEBLFBERDAESSADHNSERDHEL,
* BIFEIEDB UL TR DB B DBA B(C kBN /e AR R DHESE i, SR DEE BT Lo TES NS,
X[ BLIDIRRE
FEEED RIS LEWIED
® 5D ® H&/N SWFEU (BEA) o YU GREN)
O HCTEENHRDEHHBL) | @4 A—IMICIFFETHUADDZEDIFHHBL 0 ECLHLAN B DIEhE

o iHfTIT OHUNLES O SETIAICRD. TERDBEELDUDOD TEDHED DD | MIFIEEAPREEIEIHEDITEICED
O LHULADGEIFEIRIBGEXTIFEAZITD

O HE S AP A I ENDHDHEICER

® Clindh CHEENER D H B EICEA

o NffIFPENDANUDEEBZMELT DHEITER

® HEH AP NI —IEHTEN D DHEICER
® [Clindl  C SRR DEENELN BB EICEA

F7
| = LEWIED
I GE)GT
| HE|HT|HS | l
: 56 |Js7 ! ! i
) ll ke k7 |l
| I MelMT i I domp
| | N7 FEATH
| : AED TR
T 51 wmEn L IP7
' v (22HE®M)
pé
'J'ﬁ:?iiﬁlh chfE £ . ne I
EE (EZHiEm) i pey P
I k5| k6 |
/ L1 = ) | L
Il I h5lne | n7 HELsE :
( Eﬁ'ﬂf}ﬁ ] | g ] g ] | | 'Y -J|In||:
. | _ | PREATE
lﬁ?ﬂﬁ, 16 L R WS | AR DTSR

61

mm
HEOT - R—ILNR—IE(CEHUTCHBDFITERF. WRBFEDEBRBICRID FELFLARTEEDEEPHRZEILELUCDIDBEED —
BDEXRIDT. HHNUHTTEFEWNET, e
FREERE —
HNEOT - R—LR—=IF(CEHINTVLIEBDRIAIFE. ECUTORIARECEDIEFRT, e
KMTOERZCEANIFCHRAINTVWDEEICIE. MTFCRIRIEREZCHKESINCVDDDESETCWVWEREX T, e, HED _—
BRICIFRIIEXFFRIAREZ FMNBINTBOFEAN. UTDRIEHFEANERICHFEDCEZHBTTSTELEEWV, —
{REEEEH —
CEBAVWCEVWCERICODE BRIBEZRDAEDRECEIERETCELED SR (BEDPARES) NEDH oeBEE. HHOEHITFT _ —
REBAICKDBRILT. ' OMBETFLAICERICTHAEISBAWV W EEECED ., HHORRICE T, ZOEGBD2EHH UL (F— —
BSDRIR, FREFBEROEBICHUIBTVERER I, d. UMTICHKHEITHHEAICIE. CORMNREBEDSBENSTBTVEEFT, —
1. KRODFEVWALADERICLDES. —_—
2. HF0O7 IR—LR—IEFTRESNCRALNDORNBEHLE RGN RIECTOEREV., BOUICREREBIRVICKDE R, —
3. KK NKEHBUICRE. TDMAHRFTERUANADABER C LD ERVIEE. ——
4. HFHEIFOEZE - TTDOKETEFFRUALD IcBEHICLDES. —
5. BEHCEEDHE. BEICLDMENRUIEE. —
B. HFDITDEDFENOANCHEE, ERMEREICHEDEVRHMENER EORBEIFIREX T BL. MRUEICHENGLTH, HIZEU —
WERDHNDHER LD EIFREEDEFE LK T, —_—
HHBERZER. RBRLEOHUICINSDRERBENONOESHAEPEEIBHETCT—UFEALBEVTLES0, E, ItERCEELT @ ——
REUCUTICERE SNEESROEBZCOETHLTCD, BHE—UD0EFFEDLFEVDBDELET, ——
CHHPRFEUEEROBAICKD. FEFEEMEATELED ofcl EICKDEENES —
MEFRCEER. DEIVEARATRAICKIDIBEXIFEL —_—
CEARBIOBIRWVICEER T EE. BENUIEXR —_—
P EDRIREICDOEHUCIF. BREARTOSWE I NUEAZINEELTEDE T, —
BHNTOCHERADEGA., RIEEREICEALTIE. LEEBAENTORIARTEEMEETIN, FELDBEFZIALET A, —
- BEZRDOEAIBATOREE R EZRZEHCUCOLBVWCENFRRTHEPAEGEGOGEF [ARARDEBEVAMADER] ——
HEL. EmORIAHEHDSRATBE TV EEKT, _—
About Our Product —
We may change the specification of our product in this catalog or homepage without any notification, [—
please understand this and accept our sincere apology. —
Guarantee Policy —
The guarantee policy for products listed on this catalog and homepage is following the terms below. If you purchase or use a KMT —
product, you can use our guarantee policy. There is not a Guarantee Description inside when the products delivered. Please notice the —
guarantee terms following. -
Scope of Guarantee —_—
Upon receiving the provisions of the products from the Seller, the Buyer shall conduct acceptance inspections immediately. e
If a defect which cannot be immediately discovered by the Buyer's acceptance inspections and is attributable to the Seller is found, j—
and the Buyer notifies the Seller to that effect within one(1) year after delivery of the products, the Seller shall, at its option, replace —
some or all of the defective products, or repair the defective products at no charge.The guarantee will not apply to the situations below. B —
1. Using the product in a way out of the Specifications. —
2. Using the product in an environment out of the Specifications. —
3. A damage from Natural disasters & fire or any other external causes. —
4. A situation we are not capable to foresee by the time we deliver the products. P —
5. malfunction caused by remaking the product. —
8. A flaw on the outward, no influence to the function. (Significant flaws can get the guarantee service). ——
Do not use our products on weapons or weapon factories. The damage and loss below that related to our products are out of the f—
guarantee policy. —
‘A damage caused by a subject using our product or a subject using our product by mistake. P —
‘A damage caused by a subject using our product on purpose or by mistake. e
‘A loss caused by the Import Restrictions. —
All the things mentioned above are for the customers in Japan. e
The guarantee policy is same for the customers overseas except the situation below. —
‘Using the product in a way against the law or rules oversea. We will take this situation as[Using the product in a way out of the —
Specifications] which is not included in the guarantee policy. e
62




	ol_総合カタログ表紙_裏表紙
	ol_総合カタログ1P_2P
	ol_総合カタログ3P_4P
	ol_総合カタログ5P_6P
	ol_総合カタログ7P_8P
	ol_総合カタログ9P_10P
	ol_総合カタログ11P_12P
	ol_総合カタログ13P_14P
	ol_総合カタログ15P_16P
	ol_総合カタログ17P_18P
	ol_総合カタログ19P_20P
	ol_総合カタログ21P_22P
	ol_総合カタログ23P_24P
	ol_総合カタログ25P_26P
	ol_総合カタログ27P_28P
	ol_総合カタログ29P_30P
	ol_総合カタログ31P_32P
	ol_総合カタログ33P_34P
	ol_総合カタログ35P_36P
	ol_総合カタログ37P_38P
	ol_総合カタログ39P_40P
	ol_総合カタログ41P_42P
	ol_総合カタログ43P_44P
	ol_総合カタログ45P_46P
	ol_総合カタログ47P_48P
	ol_総合カタログ49P_50P
	ol_総合カタログ51P_52P
	ol_総合カタログ53P_54P
	ol_総合カタログ55P_56P
	ol_総合カタログ57P_58P
	ol_総合カタログ59P_60P
	ol_総合カタログ61P_62P

